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INTRODUCTION. High-school geometry, which will be abbreviated to “geometry” throughout
this book, defined to be a year-long class between a first and second year of high-school algebra, has
become sidelined and isolated. Very little math that precedes geometry is used in the teaching of
geometry and very little that is learned in geometry is used in subsequent math classes. Sometimes
it is seen as an opportunity to introduce students to rigor in mathematics; this self-consciously in-
tellectual loftiness is usually in a stilted, mechanical style that will never be seen again, especially
in mathematical circles. It gives students a false, derogatory impression of mathematics, as a set of
arbitrary rules of etiquette unrelated to both the physical world and the world of ideas, unnecessarily
making it seem mysterious and esoteric. At the other extreme, an “applied” or “conceptual” (ad-
jectives that usually translate as “mediocre” or “false”) approach relies on dubious visual intuition
to produce large, random collections of unjustified memorized rules. This is at best risky, producing
a false, insecure knowledge that is much worse than a frank admission of ignorance. Many geome-
try books embrace the worst of the two extremes just described, vacillating uncertainly but glibly
between them, by making up their own extensive, unnatural, unpredictable, and byzantine set of
axioms that students are motivated to memorize only by the force of arbitrary authority. With this
style of geometry book, postulates are sprung unexpectedly throughout the book like bad science
fiction bolstering a shaky plot.

The segregation of algebra and geometry limits both disciplines and is completely counter to the
nature and evolution of math. The artificial break in algebra for a year, created by the unmotivated
insertion of geometry between “Algebra One” and “Algebra Two,” is very damaging to learning
algebra; it is always better pedagogy to continually reinforce and build on past material. Geometry
is virtually destroyed, as an applicable subject that can be recalled at will, by the dead end it is
steered into.

Nostalgia for the classical Greeks is probably the motive for this increasingly diversionary year
in the standard sequence of math classes. This nostalgia, or at least respect, is appropriate. The
intellectual output of the classical Greeks was extraordinary. Euclid’s “Elements” was virtually
unchallenged for two thousand years, used as the textbook for geometry up to the nineteenth century.

Part of what is impressive about the mathematical creations of the classical Greeks is the lack of
simplifying ideas, most immediately algebra and terminology, that we now have access to. A better
sense of motion, including change and displacement, beginning as early as the fourteenth century,
leads to both vectors and calculus. The Cartesian plane, especially with the additional structure of
vectors and complex numbers, provides a setting where geometry can be explicitly visualized and
calculated.

Except for the purposes of historical re-enactment, it does not make sense to ignore those tools
in our present learning and applications of geometry. The symbiotic relationships between different
areas of math need to be communicated as early as possible. Arguably the dominant theme of modern
mathematics and its applications is the interaction between algebra (precision via calculations) and
geometry (intuition via pictures); intertwining these gives the best of both worlds.

Another increasingly fashionable trend in high-school mathematics education is the removal of
vectors and complex numbers. College students commonly do not see vectors until multi-variable
calculus, and we are not cognizant of any guaranteed appearance of complex numbers; we have seen
prestigious graduate-level statistics texts that severely limit the scope of their proofs (for example,
of the central-limit theorem) by avoiding complex numbers. We will show in this book how these
subjects make geometry and trigonometry much simpler and more intuitive and put geometry back
in the mainstream of what should be a continuous, single gestalt of mathematics.

Yet another fashionable peculiarity in high-school math pedagogy is the entirely different style
of presentation of geometry compared to trigonometry, which is, at least initially, virtually the same
subject. While geometry, as traditionally presented, strives for some sort of mathematical rigor,
trigonometry often degenerates into pages of random, byzantine formulas, neither motivated nor
justified.

In this book, we have placed geometry in the mainstream of math by beginning with vectors and
complex numbers, which are simple algebraic concepts easily accessible to any student competent
in the traditional first year of high-school algebra. These subjects enable proofs in geometry to
be a mixture of algebra, logic, and pictures, as with mathematical proofs at any level. Algebraic



techniques take away much of the mystery of proofs, giving one something to do to get started
either proving or deriving a result. This also places vectors and complex numbers at a more natural
point in a student’s intellectual development; in particular, there is no good reason to delay their
introduction until after single-variable calculus.

Vectors lead, at least psychologically, to calculus, in the sense that they involve a sense of motion;
this is another way in which our approach puts geometry back in the pedagogical mainstream.
In addition to geometry, our book also puts vectors and complex numbers into a more natural
intellectual setting in math pedagogy.

Our goal is not to belittle traditional geometry arguments, except in their exclusiveness. Our
approach is meant to supplement and rearrange, not replace, the traditional Euclidean approach,
with our much more complete arsenal greatly simplifying and clarifying deep and important subjects.
The algebraic techniques with which we are preceding geometry and trigonometry take away much
of the mystery of proofs, always providing a way to start a problem.

We agree with traditional pedagogy in believing that geometry is a good place to introduce
mathematical proofs, because of the constant availability of pictures to guide the mind and exposi-
tion. What we are adding to this proof-writing introduction is the additional guidance of algebraic
techniques, all put together into, not only the (mostly verbal) style of a mathematics proof, but
the style of any persuasive reasoning: science from first principles, legal arguments, philosophy, reli-
gion, personal disagreements, all mental activities that high school students should see in traditional
“English” or “Social Studies” classes. In other words, geometry should be in the mainstream, not
only of mathematics, but of all analytic thought and its verbal representation. A relevant historical
note: it is said that at the entrance to Plato’s Academy was the written message “let no one ignorant
of geometry enter here.”

We have already mentioned the symbiotic relationships between different areas of math. On a
more general level, there is, or should be, a symbiotic relationship between mathematical theory,
applications of math, and teaching math. Even if a student’s primary goal is remembering the
conclusions of geometry, learning the proofs makes it much easier to remember, or derive if one
forgets, those results. Someone who plans to teach geometry will do a much better job the deeper
said person’s understanding is.

Our approach paves the way for much deeper math and applications; the dot product, for
example, leads to extensive twentieth-century research in math, physics, and statistics. We have
chosen postulates that, besides being simple and believable, are an entree into calculus, further
putting geometry into the mainstream of mathematics and its presentation.

See Appendix 0 for the definition of the word “postulate” and other logical terminology needed.

POSTULATES:

(1) The plane of this book may be represented as the Cartesian plane R? = {(x,y) | z,y are real numbers}.

(2) Given real numbers a < b, ¢ < d, the area of the upright rectangle

[a,0] x [c,d] = {(z,y) [a <z <bec<y<d} (b>a,d>c)
is defined to be (b — a)(d — ¢) and the length of the line segment from (a, ¢) to (b, d) is defined to be
V(b —a)? +(d—c)2.

An example of a surface that does not satisfy these postulates is the surface of the earth, an
example of a non-Fuclidean space. Many things are buried in our postulates, including Euclid’s fifth
postulate, the parallel postulate (Proposition 3.2).



See DRAWING INTRO at the end of the Introduction, for an outline of topics covered in this
book.

Prerequisites for this book are the usual topics of a first year of high-school algebra, including
the Cartesian plane. The content of said prerequisites is summarized in Chapter 0. This leads
naturally to complex numbers and (two-dimensional) vectors, in Chapter I. Chapter II defines the
relevant parameters of geometry (length, angle, and area) in a way that sets them up to be dealt
with using vectors and complex numbers. The very simple idea of parallel vectors leads already, in
Chapter III, to short, easy proofs of many interesting geometry results. The so-called dot product of
two vectors, motivated by the Pythagorean theorem, produces an algebraic (and easily calculated)
definition of two vectors’ being orthogonal or perpendicular, in Chapter IV. This leads, in Chapter V,
to more geometric results; in contrast to Chapter III, the Chapter V geometry involves orthogonality
(being perpendicular) rather than being parallel. In Chapter VI, both vectors and complex numbers
are used to introduce the trigonometric functions sine and cosine, and use them to calculate angles.
Trigonometry is related to triangles in Chapter VII, and then used to give short, simple proofs of
many fundamental results in geometry. Chapter VIII gives explicit statements of the invariance of
length, angle, and area under what are called rigid motions: translation, rotation, and reflection.
Angle is also shown to be invariant under magnification. Chapter IX introduces matrices, to prove
the results of Chapter VIII. Chapter X uses our trigonometry results to give short, simple proofs
of the popular congruence (meaning equal after some rigid motions) results for triangles. Chapter
XTI has additional parallelogram geometry, Chapter XII derives some area formulas, while Chapter
XIII is about constructions with straight edge and compass. Chapter XIV is worked examples,
preceded by a distilled short list of theoretical geometry results needed. Appendix 0 gives precise
statements of functions and logic. Appendices I-IV are meant only for students who have had
single-variable calculus; for those without a calculus background, the appendices may be taken as
additional postulates. Appendix IV is independent of the rest of the book, giving a presentation of
trigonometric and inverse trigonometric functions analogous to the presentation of exponentials and
logarithms in calculus.

This book may be used in many different ways, in particular, with different degrees of rigor.

A future teacher of geometry should go through the entire book, including appendices, after
single-variable calculus. A student who has not had calculus should not work through Appendices
I-IV, but use their conclusions, if needed, as additional assumptions (see “Postulates” above), to be
believed without proof. Chapter IX may be skipped if one is willing to take, on faith without proof,
the quite plausible assertions of Chapter VIII described in the previous paragraph; in fact, in the
same spirit, all but the first two and last two paragraphs of Chapter VIII may be skipped, under
these articles of faith. It should be mentioned that Chapter IX also completes the introduction
to the subject of linear algebra begun in Chapter II: Chapter II has vectors while Chapter IX has
matrices. Finally, if the reader is interested only in the results, without the proofs, of geometry, said
reader could read the book, especially Chapter XIV, without the proofs. The author recommends at
least some informal perusal of proofs, if only to make remembering conclusions more than a random
event.

Other pedagogical possibilities are to begin with Chapter XIII (constructions), providing moti-
vation to then cover the book to see why the constructions work; or, one could begin with Chapter
XIV (solving problems), providing motivation to cover the book to understand the tools just used.

Students who haven’t had calculus should be encouraged to browse through the appendices, to
get some of the flavor of calculus.



Other books have applied vectors to geometry, usually in a college upper-division “vector analy-
sis” class. Other books have included the Cartesian plane in teaching geometry; we note in particular
the excellent book by Serge Lang and Gene Murrow, “Geometry,” second edition, 1988, where coor-
dinates are introduced in Chapter 2 and vectors and dot product in Chapter 10, but the bulk of the
book is Euclid’s approach; see the last paragraph at the bottom of the first page of the introduction
in said book.

See also the books by John Saxon, especially “Algebra 1. An Incremental Development,” second
edition, 1990 for a more applied approach to geometry and the best coverage we have seen of high-
school algebra.

Our book is new in its entire reordering of the teaching of vectors, complex numbers, trigonom-
etry, and geometry, including basic geometry definitions in terms of vectors, complex numbers, and
trigonometry. The systematic application of complex numbers to geometry is, so far as we know,
new with this book. The majority of proofs are original.

As with traditional geometry books, this book will introduce students to mathematical proofs,
with this difference. Whereas traditional geometry books introduce students to mathematical proofs
of classical Greece, our book introduces students to both classical and modern mathematical proofs,
with techniques that are both easier and more powerful.
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CHAPTER 0: Some Preliminaries.

We will need a few topics from traditional first-year high-school algebra.
Denote by R the set of all real numbers.
Definitions 0.1. The Cartesian plane, denoted R? (reads “R two”), is the set of all ordered

pairs of real numbers {(a,b) | a,b are real numbers }. The ordered pair (a,b) represents the point a
units to the right of the origin, b units above. See DRAWING 0.1 at the end of this chapter.

The number « is the x coordinate of (a,b), b is the y coordinate. The x-axis is the horizontal
axis (line) {(z,0) |z is real }, the y-axis is the vertical axis (line) {(0,y) |y is real }.

The upper half plane is {(x,y) |y > 0}, the right half plane is {(z,y) |z > 0}; we leave it

to the reader to write definitions for lower half plane and left half plane.

Definition 0.2. The distance between (x1,y1) and (z2,ys2) is

d((z1,91), (22, 92)) = \/(x2 —21)? + (y2 —y1)%
See DRAWING 0.3 at the end of this chapter.

Definition 0.3. If a, b, and ¢ are real numbers then

{(z,y)|ax + by = c}
is a line in R2. The formula ax + by = ¢ is an equation of the line. See DRAWING 0.2 at the end
of this chapter.

Definitions 0.4. The slope of a nonvertical line is

(y2 —y1)

(22 —21)’

for any pair of different points (x1,y1), (x2,y2) on the line. We will define the slope of a vertical
line x = ¢ to be m = co.

Note that we could just as naturally think of the slope of a vertical line as —oo, in the following
way. The vertical line x = ¢ could be thought of as a limit, as n gets arbitrarily large, of the lines
of slope n: £ = (x — ¢); or as the limit of the lines of slope —n: 2 = (z — ¢). See DRAWING 0.3
at the end of this chapter.

m =

Assertion and Definition 0.5. If a line has finite slope m and crosses the y-axis at the point
(0,b), then an equation of the line is

y=mzx+b.
b is called the y intercept of the line.

Lines of infinite slope always have the form z = ¢, for some fixed real number c.

Definitions 0.6. Completing the square means writing the quadratic expression
y=azr®+bx+c (a,b,care numbers)

in the form
y=a(z+pB)°+1.



Thinking backwards from the expansion
(z+0)* =2 + 26z +

A x2+éx = xz—i—éx—«— i 2— i : = x—i—i 2— i :
a a - a 2a 2a - 2a 2a
so that

—ua x—i—i 2—|—c—a b 2—a x+i 2+ dac— b (completed square)
y= 2a 2 ) 2a 4a P d ’

Setting y = 0 produces the quadratic formula giving the following solutions to the quadratic
equation az? + bx + ¢ = 0:

leads to

x:% (—bi \/b2—4ac) (a #0).

Examples 0.7. (a) Find the slope of the line whose equation is 6z + 2y = 5.
b) Find the slope of the line thru (0,5) and (3,2).
c¢) Find the equation of the line thru (0,5) and (3,2).

(
(
(d) Complete the square: y = —2x2 + 6z — 3.
(
(

e) Use completing the square to solve 22 = 10 — 4x.

f) Use the quadratic formula to find where y = 3z — 2 intersects y = 22 + z — 8.
Solutions. (a) y = —3z + 5 — slope is —3.

(b) =5 = -1

(e) 22 +4x =10 = 2? +4z+ (3> =10+ (3)? = (z+2)? =4 — (z+2) = V14 >z = -2+ /14
(f)3z—2=2>+2-8—22-22-6=0—
T = %(Qi\/(—2)2—4(1)(—6)) = %(zi\/%) =1+ 7.
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CHAPTER I: Vectors and Complex Numbers: Two New Ways to View the Plane.

Our goal in this chapter is to describe points in the Cartesian plane R? both as vectors (Definition
1.2) and as complex numbers (Definitions 1.8).

Vectors will provide a sense of motion or displacement; complex numbers put an algebraic
structure (addition, subtraction, multiplication, and division) onto R2.

The definition of a vector requires a pair of points, connected by an arrow.

Definitions 1.1. If I and T are points, denote by IT the arrow or directed line segment that
begins at I and ends at T'. I is the initial point, 7" the terminal point; T is traditionally drawn
with the arrow tip or arrowhead at 7' and a fat dot, in lieu of feathers, at I. See DRAWING 1.1 at
the end of this chapter.

If I = (z1,y1) and T = (22, y2), then the components of IT are (2 — 1) (the x component)
and (y2 —y1) (the y component). See DRAWING 0.3 at the end of Chapter 0 and DRAWING 1.1
at the end of this chapter.

As a set of points in R?,
—
IT = {(z1 +t(rz —z1), 51 +t(y2 —y1) [0 <t <1} (%)

But there is more to a directed line segment than a set of points; there is a sense of motion; you
imagine yourself traveling from the initial point to the terminal point. In (*), we think of the variable
t as being time: at t = 0, we are at the initial point I = (z1,y1), at t = 1, we are at the terminal
point T = (z2,y2), and in general, as t increases, we are moving away from I and towards T. See
DRAWING 1.2 at the end of this chapter.

Definition 1.2. A vector (in two dimensions) is an object represented by a directed line segment,
with the understanding that two directed line segments represent the same vector if they have the
same x components and the same y components. Intuitively, two directed line segments with the
same length and direction represent the same vector.

We will denote
7 =< V1,02 >

to mean the vector represented by any directed line segment with x component v; and y component
vo. See DRAWING 1.3 at the end of this chapter.

Vectors should be considered displacement (note that components are displacements: the x
component is the displacement, that is, the change, in the x coordinate, the y component the
displacement in the y coordinate). What matters is not where you began or ended, but what change
occurred from your motion in passing from the initial point to the terminal point.

In any physical model, the first distinction that must be made is whether a parameter is a
number or a vector. For example, a wind speed of 20 mph (twenty miles per hour) is not complete
information; a wind wvelocity, say, of 20 mph North by Northeast, tells me I’ll work harder when I
travel South by Southwest, against the wind, than when I travel North by Northeast, with the wind.
Speed is a number, giving only magnitude, while velocity is a vector, with the additional information
of direction (see Definitions 2.4).

Force is a vector, pushing you in a certain direction (e.g., towards the ground if you're in the
air); work is a number.
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Definitions 1.3. Denote the origin (0,0) by O. Given a vector v =< v, v >, let T be the point
—
(v1,v2). The standard position of ¥ is the directed line segment OT'. Conversely, given a point

—
T, its position vector is the vector represented by the directed line segment OT'; if T = (v1,v2),
then its position vector is < v1,vs > . See DRAWING 1.4 at the end of this chapter.

There will be times when we want you to leap nimbly between point and vector, via the corre-
spondences just described; see 1.16.

Definitions 1.4. We would like to have algebra with vectors; in this chapter, we will define only
addition of vectors and multiplication of vectors by real numbers. See Chapter IV for a sort of
multiplication of vectors.

It is always desirable to correlate algebra and geometry; algebra (calculations) gives precision,
while geometry (pictures) provides intuition.

If ¥ =< vp,v9 > and W =< wq, wy >, then
(V + W) =< v +wi,vg +wy > .

That’s an algebraic definition of vector addition; see DRAWING 1.5 at the end of this chapter for
the geometric picture.

DRAWING 1.5 makes sense when you think of a vector as traveling or displacement; (v + w)
is the net displacement, after being displaced by @', then by @w. Think of the two vectors as a pair
of professional wrestlers, each contributing a different force.

The zero, or trivial, vector is 0 =< 0,0 > . Note that 0 + @ = a’, for any vector a’. Vectors
in general represent displacement; the trivial vector means no displacement, no change or motion.
If ¥ =< v1,v2 > and ¢ is a real number, then the vector ¢v is defined by
v =< ¢cvy,Ccug > .
In DRAWING 1.6 at the end of this chapter we drew pictures of 27" and (— 7). Note that (— ) +

v = ﬁ; displacement by the vector (— ') cancels out the displacement of ¥, leaving the would-be
traveler at the beginning of the attempted net motion.

The pictures in DRAWING 1.6, of multiplication of a vector by a real number, suggest the
following definitions.

Definitions 1.5. Two vectors v and W are parallel if one is a real multiple of the other: v = cw
or W = cv, for some real number ¢. If ¢ > 0, ¥ and w point in the same direction; if ¢ < 0,
then ¥ and w point in opposite directions.

In DRAWING 1.6, 2% points in the same direction as @', while (— ') points in the opposite
direction.

Finally, we have the peculiar algebra of adding a point to a vector, to produce another point.

Definition 1.6. .
I+IT=T; OR (a,b)+ <wvi,v3>=(a+v1,b+v2).
See DRAWING 1.7 at the end of this chapter.

—
Intuitively, we start at the point I, then the vector IT moves us to the point 7.

Examples 1.7. (2,0) +3 < 1,2 >= (2,0)+ < 3,6 >= (5,6).
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<2,0>43<1,2>=<2,0>+<3,6>=<5,6>.

See DRAWING 1.8 at the end of this chapter.

Definitions 1.8. For any real number ¢, t> > 0. Thus there is no real solution of the equation
2 + 1 = 0; that is, no real square root of (—1).

When something does not exist, it is good strategy to give it a name. This creates the comfortable
illusion, not only of existence, but of understanding.

»

By definition, “i” (short for “imaginary”) is a number whose square is (—1):

i?=(=1) or i=+/(-1).

Imaginary numbers are real multiples of i; complex numbers are sums of real numbers and
imaginary numbers (x + iy), where z and y are real numbers:

C = {complex numbers} = {(z + iy) |z, y are real}.
The real part of z = (x + iy), denoted Re(z), is z; the imaginary part, denoted Im(z), is y.

We may add complex numbers and multiply complex numbers by real numbers:

(a+ib)+ (c+id)=(a+c)+i(b+d); c(a+ib)=ca+i(ch). (a,b,c,dreal).

These operations are not really new (see Definitions 1.4), when we think of a complex number
as a point or vector (in standard position) in the plane:

(a +1ib) ~ (a,b) or <a,b>,
where “~” refers to not-necessarily-rigorous equating. See DRAWING 1.9 at the end of this chapter.

In this setting, the z-axis is called the real axis R, the y-axis is called the imaginary axis iR,
and C is called the complex plane.

What is new is that we may multiply two complex numbers together or divide one complex
number by another:
(a4 ib)(c +id) = (ac + iad) + (ich + dbi*) = (ac — db) + i(ad + cb) (a,b,c,d real);
(a+ib) (a+ib)(c—id) (ac+bd)+i(bc—ad) ((ac—i— bd)) ‘ ((bc— ad)
(2 +d?) (24 d?)

(ctid)  (c+id)(c—id) (@ + &) ) (0,8, d zeal, 4 .0}

Definitions 1.9. Suppose a and b are real and z = (a + ib). The conjugate of z is
zZ = (a — ib).

|z| = Va2 + b2

Note that |z| is the length of the directed line segment representing the vector < a,b > and
conjugation is reflection through the = axis. See DRAWING 1.10 at the end of this chapter.

The absolute value of z is

Conjugation Lemma 1.10. Suppose z and w are complex numbers.

1) |2]? = 2z.
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Proof: Write z = = + iy, w = u + iv, with z, y, u, v real.

(1) 2z = (z +ay)(x —iy) = 2% — (iy)* = 2* + % = |2*.

2) z+w)=(x+u)+ily+v)=(r+u)—i(y+v)=(x—iy) + (v —v) =Z+w.

(3) (ew) = (@u —g0) + (@0 T yw) = (2w — yv) — iz + yu) = (@ — iy)(u — iv) = (2)(®).

(4) (z+7%) = (z+1iy) + (x — iy) = 2z = 2 Re(2).

(5) (z—%) = (z+1iy) — (x — iy) = 2yi = 2i Im(z). O

Examples 1.11. (2 —4) +3(1+2i) = (2 —14) + (3 +6i) = (5 + 59).

(2 —4)(1 4 2i) = 2(1 + 2i) — i(1 +2i) = (2 +4i) — (i +2(—1)) = (4 + 3i).

(2 =)= VE+T=v5[1+2i) = VI+4=V5]4+30)=VI6+9=5=[(2—1)||(1+20)].
(2—14) = (2+41); NOTE that (2 —)(2—14) =5=|(2— 1)

1o (2+) @4 241
=) =9+ 5 T 5775

i.

We will now present a representation of complex numbers (Definition 1.15) very useful in un-
derstanding angles (Definitions 2.10). This will involve a function (“exp,” see Theorem 1.12; see
Definitions APP0.3 for the precise definition of “function”) fundamental to many applications of
calculus, whose restriction to the unit circle 22 + y? = 1 defines trigonometry (Definition 6.1).

Theorem 1.12. There exists a function exp : C — C such that, for any complex z, w,

(1)
exp(z 4 w) = exp(z) exp(w)
and
(2)
exp(z) = exp(z).
Proof: Appendix Three, Theorem APP3.2. (]

Motivated by Property (1) of Theorem 1.12, the function exp(z) is traditionally written e?,
where e = exp(1). Because of its derivative properties (see Appendix Three, Theorem APP3.2(3))
exp is called the (as opposed to “an”) exponential function.

Corollary 1.13. For any complex z, |exp(z)| = exp(Re(z)).

Proof:
|exp(2)]? = exp(2)exp(z) = exp(z) exp(Z) = exp(z + Z) = exp(2Re(z)) = (exp(Re(2)))?.
We will be done if we can show that exp(Re(z)) is real and nonnegative. Let © = (Re(z)). Since
x is real, Property (2) of Theorem 1.12 implies that exp(5) is real. Writing, by Property (1) of

Theorem 1.12,
x

exp(r) = (exp(2))”

implies that exp(x) is nonnegative. a
Corollary 1.14. For any R > 0, real #, Re?Y is a point on the circle 22 + y? = R?.

Proof: Since Re(if) = 0, Corollary 1.13 implies that
|Re®| = R|e"| = R.
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See DRAWING 1.11 at the end of this chapter.

Definition 1.15. Writing a complex number z as re®

zZ.

,7 = |z|,0 real, is called the polar form for

Lemma 2.8 shows that every complex number has a polar form. Also see Lemma 2.8 and
DRAWING 2.11 at the end of Chapter II for a picture of what # means. The parameter 6 will, in
addition, give us the measure of angles between vectors (see Definitions 2.10).

Glib Equivalences 1.16. For z,y real numbers, we have already mentioned that we will want
to associate the point (x,y) in R2, as in Definitions 0.1, with the vector < z,y > in standard
position (see Definitions 1.3 and DRAWING 1.4 at the end of this chapter). We will also find it
very convenient to, in addition, associate (z,y) with the complex number (z + iy); see DRAWING
1.9 at the end of this chapter and Definitions 1.8.

Throughout this book, we might make these associations implicitly; for example, we might say
“i is on the unit circle” as a shorthand for “the point (0, 1) representing the complex number 7 is on
the unit circle.”

Examples 1.17. Which of the following pairs of vectors are parallel? Which point in the same
direction? Which point in opposite directions?

(a) {<1,2>,<-2,1>}.
(b) {<4,-2>,<—-2,1>}.
(c){<4,-2>,<2,—-1>}
(d) {< 5,17 >,< 0,0 >}.

Solutions. See Definitions 1.5.

(a) If < 1,2 >= ¢ < —2,1 >, then 1 = —2¢, so that ¢ = —1,
¢ = 2. Similar problems arise when we set < —2,1 >=c¢ < 1,2
parallel.

while from the second component
> . Thus this pair of vectors is not

(b) Setting 4 = ¢(—2) — ¢ = —2; since < 4,—2 >= (—2) < —2,1 >, we conclude that the vectors
are parallel, pointing in opposite directions.

(¢) The same calculations show that < 4, —2 >=2 < 2, —1 >, thus the vectors are parallel, pointing
in the same direction.

(d) Since < 0,0 >= 0 < 5,17 >, the vectors are parallel (in Definitions 1.5, ¢ = 0). Since c is neither
greater than 0 nor less than 0, the two vectors neither point in the same direction, nor in opposite
directions.

Notice also that < 5,17 > does not equal ¢ < 0,0 >, for any real c.

People are sometimes reluctant to talk about being parallel to < 0,0 >, because it implies that
< 0,0 > has a direction, which is problematic: what is the direction of the wind when there is no
wind?



15

HOMEWORK

HWI.1. If I = (1,2) and T' = (-3, 1), get (the components of) ﬁ7 and draw I,7T, and IT.
HWI.2. Get and draw (—1,2) +2<1,3>and < —-1,2> +2< 1,3 > .

HWI.3. Simplify each of the following.
a) (—1+ 2i) 4+ 2(1 + 3i).

b) (V7 — ).

HWI.4. Which of the following pairs of vectors are parallel? Which point in the same direction?
Which point in opposite directions?

(a) <1,-3>,<3,-9>.

(b) <1,-3>,<-3,9>.

(¢) <1,-3>,<0,0>.
(d)<1,-3>,<6,2>.

HWI.5. Show that, for any complex z # 1,

1—2"

2 DR n_lz
(I+z4+22+-+2"1) (—

formn=1,2,3,....
HWI.6. Use conjugation to show that
2w = |z[w],

for any complex z and w.
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HOMEWORK ANSWERS

HWL1. IT =< —4,—1 > . See DRAWING 1.12 at the end of this chapter.

HWI.2. (-1,2)+2<1,3>=(1,8) and < —1,2 > +2 < 1,3 >=< 1,8 > . See DRAWINGS 1.13
at the end of this chapter.

HWI.3. (a) (=142i)+2(143i) = (1 + 8i).
(b) (V7 — ¥3i) = (VT + ¥2i).
(01— Vi

(d) (1 —-2i)(3+14) = (5— 517).

(

(9)

(1-24) _ /1 7.

o) G = (35 — 150).
|3 + 4i] = 5.

HWI.4. (a) <1,-3 >,< 3,—9 > are parallel and point in the same direction.
(b) < 1,-3 >,< —3,9 > are parallel and point in opposite directions.
(¢) <1,-3>,< 0,0 > are parallel.
(d) < 1,-3 >,< 6,2 > are not parallel.
HWI.5.
(1—2) (42422 + 42" = (I+z+274+2" 242" ) — (24224254 42" 42") = (1-27),
after extensive cancellation.

HWL6.
|zw]? = (2w) (Z70) = (2w)(2) (@) = (22)(wW) = |2]*|w]* = (|2]]w])*.
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CHAPTER II: Objects and Parameters of Interest.

The objects of interest in geometry are angles (Definitions 2.10) and (pieces of) lines (Definition
2.1) and circles (Definitions 2.6) and the subsets of R? they enclose (Definitions 2.3 and 2.6).

It is an easy calculation to see that our definitions of length and area (Definitions 2.4 and
postulates of Introduction) are unaffected by translation, that is, by adding a fixed vector to every
point in a set. Since two directed line segments representing the same vector differ only by a
translation (see Definitions 1.1 and 1.2 and DRAWING 1.3 at the end of Chapter I), this means that
we may state all results in terms of vectors; a statement involving vectors is true for any directed
line segment representing a vector (see Definitions 1.1 and 1.2). Standard position (Definitions 1.3)
is often the most convenient representation of a vector.

At first glance, this chapter may seem too long and detailed, for matters that we have a picture
or hand gestures for. We encourage the reader to refer often to the drawings, to hold onto the visual
intuition.

The details are desirable for getting vectors, with their own dynamic intuition and computational
possibilities, into the picture, along with the beginnings of rigor.

Because we will use curves, which may be considered twisted line segments (see Remarks 2.5),
to define angle, so that length of a curve will define the measurement of an angle, we will define
both lines and polygons, and their measures, before we address angles in Definitions 2.10.

Definitions 2.1. All we need to describe a line is a point on the line and a direction.

Given a point Py and a nontrivial vector ¥, the line thru Py in the direction ¥ is the set of all
points of the form
P=PFP+tv
for some real t. The vector 7 is a direction vector for the line. See DRAWING 2.1 at the end of
this chapter.

This form of description of a line (sometimes called parametric) actually contains more informa-
tion than Definition 0.3. As in the paragraph at the end of Definitions 1.1, we intuitively think of ¢
as time, and visualize ourselves traveling along the line, with the clock starting when we are at Pj;
positive ¢ corresponds to where we will be in the future, negative t to where we were in the past. In
this visualization, P, is called the initial point.

Note that
P =P+ (t —to)VU (t real)
and

P = Py +tso¥ (t real)

describe the same line, for any real t(, nonzero sg. It is only the implied sense of motion traveling
along the line that changes; specifically, starting the clock at ¢ = ¢y rather than ¢ = 0, or changing
your speed of travel by a factor of |sg|; also, if sg < 0, the direction of the implied motion is reversed.

The line itself, which may be thought of as a trail left behind from your motion (think of Hansel
and Gretel with bread crumbs, or a slug crawling through your kitchen), does not change.
The ray or half line with initial point P, is the set of all points of the form
P=PFy+tv
for t nonnegative. As with a line, ¥ is a direction vector for the half line and
P =Py+tset (t>0)
describes the same half line, for any positive sg. See DRAWING 2.2 at the end of this chapter.
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Given two points A, B, the line segment from A to B, denoted AB, is the set of all points of
the form
—
P=A+tAB), 0<t<1.
Intuitively, in this formulation, we are starting (at time ¢ = 0) at A and ending (at time ¢t = 1) at
—_—
B. As with a line, AB is a direction vector for the line segment.

The points A and B are the endpoints of the line segment from A to B. See DRAWING 2.3
at the end of this chapter.

Note that
—
P=B+tBA), 0<t<1

describes the same line segment, that is, the same set of points, although the implied motion is
different (mainly, in the opposite direction).

In our symbols, AB = BA but AB # BA; AB and BA represent the same line segment, but AB
—
and BA represent different directed line segments (see Definitions 1.1). The only difference between
— —
the line segment AB and the directed line segment AB or BA is the removal of direction.

Two lines or rays or line segments are parallel if they have parallel direction vectors (see
Definitions 1.5). Equivalently (HWIL3), the set of direction vectors for one line equals the set of
direction vectors for the other line.

Example 2.2. If we want to describe the line through A = (1,3) and B = (—2,4), we first need a
direction vector; the easiest choice is R
AL =< =3,1 >,

giving us the set of all points

P=(1,3)+t<-3,1>=(1-3t3+1t) (treal).
The half line with initial point (1, 3) is described by

P=(1,3)4+t<-3,1>=(1-3t3+1t) (t>0).
and the line segment from (1, 3) to (—2,4) is

P=(1,3)+t<-3,1>=(1-3t,3+¢t) (0<t<1).

See DRAWINGS 2.4 at the end of this chapter.

The line above is also described by
P=(-24)4+t<-3,1>=(-2—-3t,4+1) (treal),
intuitively starting at (—2,4) instead of (1,3), or
P=(1,3)+t<3,-1>=(1+4+3t3—1t) (treal),
intuitively travelling the same line in the opposite direction; or
P=(1,3)4+2t<—-3,1>=(1—6t3+2t) (treal),

intuitively travelling twice as fast.

Let’s describe the same line in the language of Chapter 0. Use the direction vector < —3,1 >

to get the slope m = }3 = —% (see DRAWINGS 2.4 at the end of this chapter and Definition 0.4).
For arbitrary (z,y) on the line, using Definition 0.4 and the point (1,3) on the line,
1 -3 1 1 1 1 10
—3= % — (y—3) = —g(x—l) —y= 3—§x+§ = —gx—i—? OR 3(y—3) = —(z—1) — z+3y = 10.

Using the point (—2,4) instead of (1, 3):
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leads to the same equations describing the line.

Definitions 2.3. For n = 3,4, 5, ..., the n-sided polygon, or n-gon, is defined by n (different) points
Py, P, ..., P, = Py and the connected sequence of line segments they determine, P; P, (from P; to
Py), PoPs (from P to Ps), P3Py, ..., Phn_1P,, and P, P, = PyP;, with no line segments intersecting
except at shared endpoints. Consecutive sides are assumed to be not parallel.

Not all sequences Py, Ps, ... will produce such a polygon; see HWII.4.

The points Py, Py, ..., P, are vertices (singular: vertex) of the polygon. The connected se-
quence of line segments is the boundary or edge or sides of the polygon and the area enclosed by
those line segments is the interior or inside of the polygon; that area is also sometimes called a
polygonal region. See DRAWING 2.5 at the end of this chapter.

For k=0,1,2,...,(n—1), let
-
Sk = Pkpk+1-
An n-gon is best described by the sequence of vectors g;;, k=0,1,2,...,(n—1), with

nol — — — — — —
Y 5= (SO+51+SQ+---+ Sn,l) = 0.
k=0

See DRAWING 2.6 at the end of this chapter.

A polygon (to be precise, the union of its interior and boundary) is convex if the line segment
between any two points in the interior or boundary of the polygon is contained in the interior or
boundary of the polygon. See DRAWING 2.7 at the end of this chapter.

A triangle is a 3-gon. A quadrilateral is a 4-gon. A parallelogram is a quadrilateral whose
nonconsecutive sides are parallel.

A triangle formed by @ and b will mean a triangle with vertices I, + d and I + b, for some
point I. See DRAWING 2.8(a) at the end of this chapter.

A parallelogram formed by a and b will similarly mean a parallelogram with vertices I, I +
@',I—i—l;[—i—&'—&—g, for some point 1.

We will see later (Proposition 3.3 and Corollary 3.4) that all parallelograms have this form,
because nonconsecutive sides of a parallelogram automatically have equal length. See DRAWING
2.8(b) at the end of this chapter.

We will assume, without proof, throughout this book, that any n-gon is the union of (n — 2)

triangles whose interiors do not overlap.

The parameters, that is, measurements, of interest are length and area (as we mentioned before,
measurement of angle will also be a certain length).

Definitions 2.4. Recall that our postulates, in the Introduction, require that only three assump-
tions (at least, when armed with calculus), one for length and one for area, along with placement in
the Cartesian plane, must be made.

Here we place the length postulate in the language of vectors.

The length or norm or magnitude of the vector < vy,vy > is (see DRAWINGS 2.9 at the end of

this chapter)
| <wi,ve > || = /v +03.
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Note that this is the distance (Definition 0.2) from the initial point of a directed line segment
representing < wvp,vs > to its terminal point; see DRAWING 0.3 at the end of Chapter 0 and
DRAWING 1.1 at the end of Chapter I. For the complex number analogue, note also that ||¢/]] =
|v1 + va| (see Definitions 1.9).

The length of the line segment from A to B is the length of the directed line segment AB.

A unit vector is a vector of norm one. Intuitively, a vector has direction and magnitude; if we
wish to focus on direction, it is natural to use unit vectors.

The perimeter of a polygon is the sum of the lengths of the sides.

Remarks 2.5. Calculus, which should always be viewed as a doctor-prescribed wonder drug, uses
approximations followed by limiting processes to extend length and area from the Postulates of the
Introduction to a large class of curves and subsets of R? (see Appendices One and Two).

Of particular interest will be the lengths of arcs of circles (see Definitions 2.6 and 2.18), since
angle (see Definitions 2.10) will be defined to be such an arc, and the measure of that angle will be
its length.

The invariance under translation, for length and area, as mentioned at the beginning of this
chapter, extends to arbitrary curves and subsets of R?; see Propositions APP1.3 and APP2.2.

The reader should assume that length and area are additive (see Appendices One and Two).
For length, this means that, if C; and Cy are two curves that intersect at only finitely many points
and C' is the union of C7 and Cs, then

length of C' = (length of C7) + ( length of Cy).

For area, additivity means that, if Q; and Qs are two subsets of R? that intersect at most only on
a curve and (2 is the union of ©; and 5, then

area of ) = ( area of Q1) + ( area of Q).
See DRAWINGS 2.9 at the end of this chapter.
Physically, a curve may be thought of as a piece of string arranged in a particular way in R?2.
The length is realized by picking up the string, pulling it straight, and aligning it with a ruler marked
with inches.

The area of a subset of R? may be approximated by covering it with as few as possible one inch
by one inch squares.

Definitions 2.6. The circle of radius R, centered at (h, k) is the set of points (z,y) that satisfy
(x —h)* +(y — k)* = R,
Note that these are points whose distance (Definition 0.2) to (h, k) equals R.
When we think of R? as the complex plane (Definitions 1.8), then said circle is the set of all
complex z such that
|z — (h +ik)] = R.
See DRAWINGS 2.10 at the end of this chapter.
The open disc of radius R, centered at (h, k) is the inside of the circle: points (z,y) that satisfy
(x —h)* +(y — k)* < R,

In complex language, this is the set of all z such that
|z — (h +ik)] < R.
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The closed disc of radius R is the same as the open disc, with “<” replacing “<.”

Consistent with the definition of boundary of a polygon (Definitions 2.3), the circle defined
above is the boundary of the (open or closed) disc defined above. More generally, if  is a subset
of R? enclosed by a curve C, then C' is the boundary of €.

The circumference of a circle or disc is the length of the circle. A consequence of Lemma 2.8
will be that the circumference of a circle of radius R is 2w R, where 7 is defined in Definition 2.7.

A chord in a disc is a line segment between two points on the boundary. A diameter is a
chord that goes thru the center of this disc.

See DRAWINGS 2.10 at the end of this chapter.

Definition 2.7. The number 7 (written “pi” and pronounced “pie”) is the length of the upper
half of the unit circle
{(z,y)|2* +y* =1,y > 0}.
See Proposition APP3.3 for a rigorous definition.

By Proposition APP2.3(b), 7 also equals the length of the lower half of the unit circle
{(z,y) 2> +y* =1,y <0},

thus 27 equals the length of the entire unit circle
{(z,y)|2® +y* =1}.

We introduced the polar form of a complex number in Definition 1.15. Armed with the idea of
length, we may now assert that every nonzero complex number has a polar form re®?, with 6 being
a particular length.

Lemma 2.8. Every nonzero complex number z has a polar form
2z = Re",
with R =2],0 < 6 < 27, and R equal to the length of Cy g, where
Cor={Re"|0<t<0}.

Proof: Appendix Three, APP3.5. See DRAWING 2.11 at the end of this chapter. O

Examples 2.9. Let’s apply Lemma 2.8 for some particular choices of 6.

By Definition 2.7, /™ = —1 and €™ = 1; much more generally, by Theorem 1.12(1),

ez(‘n'JrG) _ ez‘n'ez@ _ _619 and 61(27r+0) 627”610 _ 619

for any real 6. As 6 increases, we move counterclockwise around the unit circle 22 4+ y? = 1, thus it
is not surprising that we eventually come back to where we started. See DRAWING 2.12 at the end
of this chapter.

. i ;T\ 2 | .
Since —1 = '™ = (612) , we have e'z = 1.

2
which is greater than =, the length of Cr; (see Lemma 2.8 and DRAWING 2.11 at the end of this
chapter); ¢'% is the other square root of —1, —i. See DRAWING 2.13 at the end of this chapter.

. i 2 ; 3T
Similarly, (ez%) = —1, but we did not choose e as i, because the length of C’;%r,l is 3T

Since the real numbers were enlarged by throwing in ¢ = 1/—1, it might appear (a famous science
fiction writer asserted this) that the complex numbers could be enlarged by adding on V/i. This is
not true: both square roots of ¢ are complex numbers.
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We can calculate /i directly. We want a + bi, with a and b real, so that
i = (a+bi)? = (a® = b*) +i(2ba),
so that
(> =b*) =0 and 2ba = 1,
which leads to (a,b) = = [(%) n i(%)] .
Since €% =4, Theorem 1.12(1) and Lemma 2.8 imply that

= {(\2)”(\2)} and ¢ = — {(\}é)-ﬂ(\%)} :

Note that e’T is on the line y = , bisecting the first quadrant of the zy plane. See DRAWING 2.13
at the end of this chapter.

ei

ENE]

Definitions 2.10. (a) Suppose @ and b are nontrivial vectors that do not point in the same direction.
Define the two angles between @ and b as follows (see DRAWINGS 2.14 at the end of this chapter).

1. Represent @ and b by directed line segments in standard position.

2. Use Lemma 2.8 and Definition 2.7 to choose real 61, 0> such that 0 < 6; < 05 < 01 + 27,

-
—

é =" and 4 = ¢if2
a]| I

Here we are, for any real 6, thinking of e? as being a vector, as in 1.16.

The counterclockwise angle from a to b is
{16, <6 <6,).
The measure of this angle is (62 — 61) radians.
The clockwise angle from @ to b is the counterclockwise angle from b to @
{6, <0 <6, +27}.

The measure of this angle is (61 4+ 27 — 02) = 27w — (63 — 01) radians.

See DRAWINGS 2.14 at the end of this chapter.

(b) If @ and b are not parallel, then the angle between d and b is the angle of smallest measure
from @ to b.

If @ and b point in the same direction, then use Lemma 2.8 and Definition 2.7 to choose 6y, with
0 <60y < 2w, so that

=

a
=5 — €
llall

09 —

=

Then the angle between @ and b is {¢%}.
The measure of this angle is 0 radians.
See Corollary 2.14(b), to see why we can’t have “angle between @ and b” when @ and b point in

opposite directions.

Notice that measuring angle is reduced to measuring length: by Lemma 2.8, the measure of an
angle between two vectors is the length of a piece of the circle of radius one centered at the origin
22 +y? = 1 (see DRAWINGS 2.14 at the end of this chapter). The already-stated invariance of
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length under translation (Proposition APP2.3(a)) implies that we could translate the shared initial
point of @ and b to some point C, then translate an angle from @ to b by the same point C' without
affecting the measure of the angle.

See Definitions APP2.1 for a rigorous (calculus) definition of length of a curve; for circular
length, hence angle measure, see Lemma 2.8 and APP3.5.

The angles between two intersecting lines, rays, or line segments are defined to be the angles
between direction vectors for the lines, rays, or line segments.

Throughout this book, if no units are mentioned, it is assumed that angles are measured in
radians.

Since angle measure is determined by length, it is additive: that is, if the counterclockwise angle
from a@ to b has measure 6; and the counterclockwise angle from b to ¢ has measure 05, then the
counterclockwise angle from @ to ¢ has measure (61 + 62).

Examples 2.11. By Examples 2.9, ”2’};” =¢'% and < 0,1 >= €2 (see DRAWINGS 2.15(1)

at the end of this chapter), thus the counterclockwise angle from < 1,1 > to < 0,1 > is (see
DRAWINGS 2.15(2) at the end of this chapter),

o T 77
- <6< =
{e | 4 — — 2}7
with measure (5 — 7) = 7.
The clockwise angle from < 1,1 > to < 0,1 > is (note that 27 + T = 2%)

T 9
{ew|§§9§j}a

with measure (2 — Z) = (2r — Z) = ZX (see DRAWINGS 2.15(3) at the end of this chapter).

Since 7 < %”, the angle between < 0,1 > and < 1,1 > is
0 T ™
- <0< —
{e |4 — — 2}7

with measure g.

Again using Examples 2.9, since < —1,0 >= €', the counterclockwise angle from < 0,1 > to
< —1,0 > is
9 T
{6Z9|§§9§ﬂ'},

with measure (7 — §) = 7 (see DRAWINGS 2.15(4) at the end of this chapter).

By additivity of angles, the counterclockwise angle from < 1,1 > to < —1,0 > is
{3 <0<,
with measure (from previous angle calculations in this example) (1 — %) = 2T (see DRAWINGS
2.15(5) at the end of this chapter).

Notice that we are adding two counterclockwise measures: the measure of 7 from < 1,1 > to
< 0,1 > added to the measure of § from < 0,1 > to < —1,0>.

Intuitively, angle is like opening a door or a crocodile’s mouth. With the door, the angle is
between the door and the wall it’s hinged to. With the crocodilian mouth, the angle is between the
upper and lower jaws; the measure of the angle begins at zero, as the crocodile feigns unconsciousness,
then increases as the mouth opens more.
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It should be noted here that, since the definition of angle (Definitions 2.10) between vectors @

and b involve the unit vectors (Definitions 2.4) ”%:” and ﬁ, angle is unchanged by replacing a vector

with another vector that points in the same direction.

Proposition 2.12. Suppose U7 points in the same direction as v and ¥/5 points in the same direction
as 4. Then, the counterclockwise angle from ¢, to '3 equals the counterclockwise angle from ¥y to
Uy.

The following theorem emphasizes further the role of complex exponentials in Definitions 2.10
and DRAWING 2.14 at the end of this chapter: when vectors are placed in standard position,
multiplication by e rotates a vector @ radians counterclockwise. See DRAWING 2.16 at the end of
this chapter.

In the following, as with Definitions 2.10, see 1.16 for the equating of point, vector and complex
number.

Theorem 2.13. For any nontrivial vector ¢ in standard position and 0 < 6 < 27, the measure of
the counterclockwise angle from @ to (¢?%) is 6.

Proof: By Lemma 2.8, there exists ¢, with 0 < ¢ < 27, so that 12 = €. Then

1l

s
eieli — ¢if0¢i® — (i(0+9)
le*® ]|
so that, by Definitions 2.10, the measure of the counterclockwise angle from @ to (e*%) is 6.
See DRAWING 2.16 at the end of this chapter. O

Corollary 2.14. All vectors in the following are nontrivial.

(a) A vector @ makes an angle of measure § with another vector ' if and only if « makes an angle
with ¥ of the same measure as with (—¥). (This is what Euclid called a right angle.)
(b) Suppose @ and b point in opposite directions. Then 7 equals the measure of both the clockwise

and counterclockwise angles from a to b.

(c¢) For any real numbers z1,y;, the measure of the counterclockwise angle from < x1,y; > to
< —y1,71 > is §.

See DRAWINGS 2.17 at the end of this chapter.

Proof: By Proposition 2.12, we may assume b = @ in (a) and b = —@ in (b).

(b) is Theorem 2.13, with ¥ = @ and 6 = m, since (—1) = €.

(c) Note that i(x1 + iy1) = (—y1 + iz1); in the equating of vectors and complex numbers of 1.16,
this is ‘
€7 <wy,y >=i < a1,y >=< —y1, 11 >,
so that (c) follows from Theorem 2.13, with ¥ =< x1,y1 >,0 = J.

(a) follows from (b) and the additivity of angle measure. O

Remarks 2.15. We shall see (beginning with Chapter IV) that angles of measurement 7 play a
distinguished role in the physical and mathematical world.

The relationship between < z1,y; > and < —y;,27 > in (c¢) of Corollary 2.14 will be clarified
in Chapter IV; they are orthogonal (Definition 4.3), meaning they have dot product (Definition 4.1)
zero.

Definitions 2.16. In a convex polygon (see Definitions 2.3), the interior angle at a vertex
is the angle within the area enclosed by the sides. An exterior angle at a vertex is the angle
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between one side meeting at the vertex and the extension of the other side meeting at the vertex.
See DRAWINGS 2.18 at the end of this chapter, where, in (b), we have also calculated the measures
of the interior angles of the triangle formed by < —1,0 > and < 0,1 >, similarly to Examples 2.11.

If 0 is the measure of the interior angle, then (7 — ) is the measure of each of the two exterior
angles, by Corollary 2.14(b) and additivity of angle measures. Notice (see DRAWINGS 2.18(a) at
the end of this chapter) that the measure of an exterior angle at a vertex represents the change of
direction of a person traveling around the boundary of the polygon.

Definition 2.17. A much older parameter for measuring angles is degrees. The goal is to have

a complete circumference be 360 degrees. In general, for any real 6, 6 radians is %00 degrees. T

radians, for example, is 90 degrees, 7 radians is 180 degrees, etc. ’

The only reason for preferring degrees to radians is custom, which is the worst possible reason
for anything. Degrees were introduced by the Babylonians, who also had base 60 numeration, and
introduced the custom of 60 minutes to an hour and 60 seconds to a minute.

Definitions 2.18. Our definition of angle (Definitions 2.10) leads naturally to the following com-
pletions of Definitions 2.6.

Let’s put a circle and disc of radius R centered at (the complex number) C' in complex form:
the circle is
{z]]z=C| =R} or {C+ Re"|0<6<2r};
the closed disc is

{z]|z=C| <R} or {C+re?|0<60<2r,0<r<R}

An arc of this circle is, for 0 < 67 < 05 < 07 4+ 27 as in the definition of counterclockwise angle,
{C+ Re |0, <6 <6y},
the corresponding closed sector of the disc, determined by the arc, is
{C+7re |6, <6 <6,,0<r<R}.

See DRAWINGS 2.19 at the end of this chapter. The boundary of the closed sector is the arc
combined with the two lines from the center to the circle, that enclose the sector. The perimeter
of the sector is the length of the boundary. The arclength is the length of the arc; we apologize for
terminology that neither shocks nor surprises.

Proposition 2.19. Consider an arc and sector as in Definitions 2.18.

(a) The measure of the angle between the two lines in the boundary of the sector is (2 — 61).
(b) The length of the arc is R(f2 — 61).

(c¢) The perimeter of the sector is 2R + R(f2 — 61).

Proof: (a) is clear from Definitions 2.10, after we translate C' to the origin (see comments after
Definitions 2.10). (b) follows from Lemma 2.8, then (c) follows from (b). a

We will address the area of the sector in Theorem 12.4; it turns out to be 2R*(6; — 61).
See DRAWINGS 2.19 at the end of this chapter.
Note that radian measures of angles are arclength divided by radius. Radians are unitless, e.g.,

meters divided by meters.

Examples 2.20. All curves that are not line segments are arcs of a circle.



32

(a) Find the length of the arc in DRAWING 2.20 at the end of this chapter.

(b) Find the perimeter of the shaded sector and the unshaded sector in DRAWING 2.21 at the end
of this chapter.

(c) Find the length of the curve in DRAWING 2.22 at the end of this chapter.

Solutions. (a) 150({5;) = 3 radians, so the length of the arc is 5(3F) = 23 meters.

(b) 240(1%5) = *F radians, so the perimeter of the shaded sector is 20 + 10(4F) = 20 4 49=.

The unshaded sector has angle 27 — %’r = %’T, so the perimeter of the unshaded sector is

20+ 10(%F) =20 + 2%~.

(c) 16 + (37)16 = (16 + 67) feet.

Terminology 2.21. We will indicate equality of length or angle measure as in DRAWINGS 2.23
at the end of this chapter.
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HOMEWORK
HWII.1. Suppose m is a real number. Show that a line has slope m (see Definitions 0.4) if and
only if it has direction vector < s, sm >, for all real s # 0.

HWII.2. Show that a line has slope co (see Definitions 0.4) if and only if it has direction vector
< 0,t >, for all real t # 0.

HWII.3. Prove that two lines or rays or line segments are parallel if and only if the set of direction
vectors for one line equals the set of direction vectors for the other line.

HWII.4. Give four points Py, Py, P3, P, such that the line segments in Definitions 2.3, P; P, (from
Py to Py), P, P (from Ps to Ps), P3Py, and Py Py, do not produce a polygon as described in Definitions
2.3.

HWII.5. Write a parametric form P = Py + tv for the line y = —2x + 5.

HWII.6. For arbitrary real numbers a, b, ¢, get a direction vector for ax + by = ¢ in terms of a, b, c.
HWIL.7. Find the perimeter of the triangle formed by < 1,—2 > and < 3,4 > .

HWII.8. For what real number « is < 1, a > parallel to < 2, —3 >?

HWIL9. Let P=(~2,1) and Q = (3,5). Find

(a) The line segment from P to Q;

(b) The half line through @ with initial point P; and
(¢) The line through P and Q.

HWII.10. Write the line 2x + 5y = 7 in a parametric form.

HWII.11. Write each of the following in the form (a + bi), for real numbers a, b.

( ) 471'2
(b) 657”

13—"'1 1.
(c) '  HINT: B =3+ 1;

d
(e) ©°
(f) it

1

( ;

@

) e
(g) e3% HINT: for any complex z and w, (z +w)? = 23 + 322w + 32w? + w?. See Examples 6.5 and
7.11(e) for other techniques, after we’ve acquired more tools.

HWII.12. Find the clockwise and counterclockwise angle from < —1,1 > to < 1,1 >, and find the
measure of each angle.

HWII.13. All curves drawn are either line segments or arcs of a circle centered on a dot inside the
corresponding disc.
(a) Find the length of the arc in DRAWING 2.24 at the end of this chapter.

(b) Find the perimeter of the shaded sector and the unshaded sector in DRAWING 2.25 at the end
of this chapter.

(¢) Find the length of the curve in DRAWING 2.26 at the end of this chapter.
HWII.14. Find a unit vector that points in the same direction as < 2, -3 > .

HWII.15. Write the line (—3,2) +t < 2,5 > in the form ax 4 by = ¢, for some real numbers a, b, c.
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HOMEWORK ANSWERS

HWII.1. If a line has direction vector < s, sm >, for some nonzero s, then it has, for some real
a, b, with (a,b) on the line, the form (see Definitions 2.1)
P =(a,b)+t<s,sm> (treal),
thus (a,b) and (a + s,b+ sm) = (a,b)+ < s,sm > are two points on the line, so that the slope is
(b+sm)—b
(a+s)—a
Conversely, if a line has slope m, then y = mz + b is the equation of the line, for some real b;
thus, for any s # 0,

m.

{points on the line} = {(x, mz+b) |z is real} = {(0,b)+x < 1,m > |z is real} = {(0, b)—i—{ < s,sm > |z is real}
s

={(0,b) +t < s,sm > |t is real},
thus the line has direction vector < s, sm >, for any s # 0.

HWII.2. A line has slope co <= the line has the form © = ¢ <~
the line equals {(c,y) |y is real} <—
the line equals {(¢,0) +y < 0,1 > |y is real} <=
the line equals, for any ¢ # 0, {(c,0) + % <0,t> |yisreal} <—
the line equals, for any t # 0,{(c,0) + s < 0,t > |s is real} <=
the line has direction vector < 0,¢ >, for any t # 0.

HWII.3. For a fixed line, we need to characterize the set of all possible direction vectors for the
line.

First suppose the line has finite slope m. We have already seen, in HWII.1, that anything of the
form < s, sm >, for s nonzero, is a direction vector for the line. We will now show that all direction
vectors for said line have this form: suppose ¥ =< v1,v2 > is a direction vector for a line of finite
slope m. Since m is finite, v; # 0. The parametric form for this line is then, for some real g, yo,

(x,y) = P =Py +tv = (x0,y0) + t < v1,v9 >= (xo + tv1, yo + tva),

so that
(yo +1tv2) —yo _ v

(.730 + tUl) — Xp U1 ’
thus vo = mwy, so that v =< vy, mv; >, exactly the form of the direction vectors in HWII.1.

A similar argument, as in the proof of HWII.2, shows that the set of all direction vectors for a
line of infinite slope equals {< 0,s > |s # 0}.

We will find it convenient to state what we’ve accomplished so far as follows.

HWII.3 Lemma. (a) If £ is a nonvertical line, then the set of all direction vectors for ¢ is
S ={V =< v1,v2 > \U—Q =m},
U1

where m is the slope of /.

(b) If £ is a vertical line (of the form a = ¢, for some fixed real ¢), then the set of all direction vectors
for ¢ is
Seo ={< 0,8 > |s#0}.

Any two vertical lines x = ¢; and z = ¢5 are parallel because they have parallel direction vectors
of the form < 0,s; > and < 0, s3 >, for some nonzero si, so. It is also the case that any two vertical
lines have the same set of direction vectors S.

If one line is vertical and the other line is nonvertical, then it is clear from HWII.3 Lemma that
they are not parallel, since nothing in S, is parallel to anything in .S,,, for any real m. It is also the
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case that the set of direction vectors of a vertical line does not equal the set of direction vectors for
a nonvertical line, again by HWIIL.3 Lemma.

We have shown the equivalence of being parallel and having the same set of direction vectors,
for a pair of lines, at least one of which is vertical. Thus we may assume, for the rest of HWII.3,
that we have two lines ¢; and /5 neither of which is vertical.

Suppose £1 and {5 are parallel. Then there are parallel vectors v =< vy, v > and W =< w1y, wy >
such that v is a direction vector for ¢; and 0 is a direction vector for /5. Being parallel and nontrivial
implies that there is nonzero r so that

< 01,09 >=U = rd =< rwy, rwg >,

so that 2 = T2 = 2. Thus, by HWIL3 Lemma(a),

Twy

{direction vectors for {1} = Sv2 = Sw, = {direction vectors for ¢3}.
e e

Conversely, if
{direction vectors for ¢;} = {direction vectors for ¢},

then there is a vector ¢ that is a direction vector for both ¢; and ¢5, thus ¢; and /5 are parallel.

HWII.4. See DRAWING 2.27 at the end of this chapter, where we have drawn a parallelogram

with edges Py P3, P3P, P, Py, and PyP;. Here the sequence of points P;, P>, P3, P4 do not produce a
quadrilateral, as in Examples 2.3.

HWIL5. P = (0,5)+t<1,-2> (¢ real)

HWII.6. For b # 0, a direction vector is < b, —a > (or < sb, —sa >, for any nonzero real s).
For b = 0, a direction vector is < 0,1 > (or < 0, s >, for any nonzero real s).

HWIL7. [| <1,-2> ||+ <2,6> || +] <3,4> ] =25 ++10).

HWII.8. Setting < 1,a >= ¢ < 2,—3 >, for some real ¢, implies that ¢ = %7 so that o = —%.
—_—

HWII.9. For all parts, we need PQ) =< 5,4 > .

(a) All points of the form P = (—2,1)+t <5,4> (0<¢<1).

(b) All points of the form P = (-2,1)+t < 5,4> (¢t >0).
(c) All points of the form P = (—2,1) 4+t < 5,4 > (¢ real).

HWII.10. The slope m = —% and the y intercept b = %7 SO we may write
7 2
P = (0, 3) +i< 1,—5 > (¢ real),
or, to avoid fractions in the direction vector,

7
P =0, S) +t<5,-2> (treal).
HWIL11. (a) 1 (b) =1 (c) —5(1+4d) (d) 51+ () =i (f) ~1
(g) Setting (—1) = €™ = (e'5)3 = (a + bi)3 leads to a = 3,b = @; that is, our desired exponential

is 2(1+V3).

HWII.12. The clockwise angle is {e® | T<0< %"} The counterclockwise angle is
{e? |32 <9 <2m+ I}

The measure of the clockwise angle is ( %" -1 =73
The measure of the counterclockwise angle is ((2r + ) — %) = (27 — %) = 2.
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HWIL13. (a)
7 radians 207

10 feet) { 120 d ————) | = —— feet.

(10 feet) ( 0 egrees(180 dogroos ) 5 fee
) 11 22

shaded sector perimeter is (16 feet) + (8 feet)(l—;) = (16 + ?ﬂ) feet.
13 26
unshaded sector perimeter is (16 feet) + (8 feet)(l—;) = (16 + Tﬂ-) feet.
(© 9 27
(24 meters) + (12 meters)(g) = (24 + TW) meters.
1 — 1 —

HWII.14. T<2=3s] < 2,-3 >= 75 < 2,-3>.

HWII.15. Slope g, with (—3,2) on line; % = % — —bx + 2y =19.
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DRAWINGS .15 (3)
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DRAWINGS 2.15 (4)
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DRAWINGS a.15 (5)
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CHAPTER III: Some Parallel Geometry.

This section will present some geometric consequences of the concept of being parallel (see
Definitions 1.5 and 2.1). Parallelograms (Definitions 2.3) will receive particular attention; see 3.3—
3.5, 3.8, and 3.13. Triangles also will begin to be of interest in Propositions 3.9, 3.14, and 3.15; they
will make a much stronger appearance in later chapters.

Although we begin with matters related to parallel lines, one of the consequences will be infor-
mation about interior angles of triangles and parallelograms; see Propositions 3.6-3.9.

Let’s begin by giving some more familiar characterizations of being parallel; another intuitive
equivalence will be given in Chapter V (Theorem 5.2), after we’ve used orthogonality to discuss
distance from a point to a line.

Theorem 3.1. The following are equivalent, for two different lines [; and Is.
(a) I3 and ls never intersect.
(b) {1 and [y are parallel.

(c) I3 and 5 have the same slope.

Proof: Let [; be described by
P =P +tt; (treal),
lQ by
P = Py +tUy (t real).
(b) — (a). Suppose [; and Iy are parallel. Then we may assume ¥} = ¥ (see Definitions 2.1). If [;
and [y intersect, let Py be a point of intersection. There then exist real t1,ts so that
Py = P + 1101 = P + tat;
thus [y may be rewritten as the set of points
P=P1—|—t171 =P1—|—t1171 —|—(t—t1)171 :P0—|—(t—t1)’l71 (t real);
identically, lo may be rewritten as the set of points
P=Py+ (t—t2)th (treal).

These are the same lines; we have shown that, if I; and [y intersect, then they are the same lines.
Since we are assuming [; and ls are different lines, we have shown that [y and ls cannot intersect,
when [; and [l are parallel.

(a) — (b). Suppose ¥; and ¥, are not parallel. We wish to find a point of intersection of the lines
[1 and l5; this means we need real s,t so that

P1 +S171 :P2+t172;
in purely vector language,
N 5 e
—sUy + tvy = Py Py.

.o . — — ep— . . .
Writing components vy =< x1,y1 >,02 =< xa,y2 >, P,P] =< by,by >, this vector equation is
equivalent to (setting components equal) two real equations

—r18 + IQt = b1
—y1s + Yyt = by

We leave it to the student to solve for s and ¢, by whatever method he/she is familiar with. All we
care about is that there is a solution: the exact expression turns out to be

(s,t) = )(yzbl — Zoba, y1b1 — x1b2).

(Y122 — T1Y2
NOTE that the denominator (y;xe —z1y2) is zero precisely when ¢ and ¥ are parallel. Thus, when
the direction vectors ¢, and ¥ are not parallel, we are guaranteed a point of intersection for the
lines I; and Is.
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(b) <= (c). First suppose neither line has infinite slope. Let m; be the slope of Iy, my the slope
of l3. Then [; has direction vector < 1,m; >, while l5 has direction vector < 1, ms > (HWIIL1).

{1 and ¢y are parallel if and only if < 1,m; >= a < 1,my > for some real « if and only if
mip = mao.

[; has infinite slope if and only if < 0,1 > is a direction vector for it (HWII.2). This is parallel
to lo if and only if 5 has a direction vector of < 0,¢ >, for some nonzero ¢, which is equivalent to Iy
having infinite slope (HWII.2). O

The following assertion is famously known as the “parallel postulate” because it turned out to
be independent of Euclid’s first four postulates. For us, it is not a postulate, but follows from our
postulates stated in the Introduction; see Chapter XIII for constructing the desired parallel line.

Proposition 3.2. (parallel “postulate”) Given a line £ and a point P, there is a unique line thru
P parallel to £. See DRAWING 3.1 at the end of this chapter.

Proof: Let ¥y be a direction vector for £. Then ¢y = {P + tj |t is real} is a line thru P parallel to
¢ (see Definitions 1.5 and 2.1).

For uniqueness, suppose £1 is a line thru P parallel to £. Since ¢; is parallel to ¢, we may use
as a direction vector for £1; that is, for some point P; on {1,

0y = {P + st | s is real}
Since P is on {1, there’s real s; so that
P = P + 5119
so that ¢; is the set of all points of the form
P+ (s—s1)0 (sreal),

which is the same as the line ¢y (see Definitions 2.1). O
Proposition 3.3. In a parallelogram, opposite sides have equal length.

Proof: By definition of a parallelogram (Definitions 2.3), there are consecutive vectors @, 57 sd, tg,
for some nonzero s, t, such that we may denote the sides by @, b, sa, tb, with

G+b+si+th=0,
as in DRAWING 3.2 at the end of this chapter.

Then

—

(14 s)a=—(1+1t);
Since @ and b are not parallel (see Definitions 2.3), this implies that
(1+s)=0=—(1+1),
so that s =t = —1, quickly implying that sd, the side opposite d@, has the same length as @, likewise

for b. 0

Corollary 3.4. Any parallelogram may be characterized by two vectors and one point: vertices
ILI+aI+bI+d+b,asin DRAWING 2.8(b) at the end of Chapter II.
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Proposition 3.5. A quadrilateral with a pair of nonconsecutive sides that are parallel and of equal
length is a parallelogram.

Proof: If @ and d are parallel and of equal length, then d equals @ or (—a). Thus we may denote
the sides of the quadrilateral by a, b, —d, ¢, with

d+b+(—a)+é=0,
as in DRAWING 3.3 at the end of this chapter.

Simplifying, we get
b= —¢,

so that both pairs of opposite sides are parallel, showing that the quadrilateral is a parallelogram. [

Proposition 3.6. Suppose ¢1,¢>, and ¢35 are lines, with ¢; and ¢ parallel, ¢35 intersecting both
¢, and ¢y and angles of measure 6;,7 = 1,2,...,8 as drawn in DRAWING 3.4 at the end of this
chapter.

Then 01 4+ 05 = 7,01 = 03 = 05 = 07, and 0y = 04 = 05 = 0.

Proof: For j =1,2,3, let ¥; be a direction vector for ¢;. Since ¢; and {3 are parallel, we may assume
U1 = U (see Definitions 2.1).

0, is the measure of the counterclockwise angle from ¥; to v3 and 65 is the measure of the
counterclockwise angle from ¥ to ¥3; since ¥; = ¥, it follows that #; = 05. See DRAWING 3.5 at
the end of this chapter.

By definition of 7 and the additivity of angles (see Definitions 2.10 and Proposition 2.12),
01 + 0 = m = 03 + 05; it follows that #; = 3. The other equalities follow identically. O

In DRAWING 3.4 at the end of this chapter, ¢3 is a transversal, the angles of measure 6; and
03 are called vertical angles and the angles of measure 6; and 6, are supplementary.

Example 3.7. In DRAWING 3.6 at the end of this chapter, find the measures of the angles
01,0s,...,07. Assume ¢; and /5 are parallel.

Solutions. By Proposition 3.6, 07 =05 =04 =0 =7 — § = %ﬂ and 0g = 03 = 01 = %.

Proposition 3.8. In a parallelogram, opposite interior angles are of equal measure and the measures
of adjacent interior angles add up to .

Proof: This is essentially a corollary of Proposition 3.6. But we would like to exploit the picture of

a parallelogram guaranteed by Corollary 3.4 to give a proof entirely in terms of the vectors @, b from
Corollary 3.4 and DRAWING 2.8(b) at the end of Chapter II that characterize a parallelogram.

Take the picture of a parallelogram guaranteed by Corollary 3.4 (see DRAWING 2.8(b) at the
end of Chapter II), and add on interior angles, of measures 61, 0,603,604, as in DRAWING 3.7 at the
end of this chapter.

In DRAWING 3.7, we wish to show that 6; = 03,05 = 04, and 0 + 03 = 03+ 03 = 03 + 04, =
04+ 61 = .

In DRAWING 3.7, extend the sides vertically and to the right, as in DRAWING 3.8 at the end
of this chapter; note that the angle of measure 6; appears in numerous places as the measure of the
counterclockwise angle from @ to l_;, while the angle of measure 6, appears twice as the clockwise
angle from a to —b.
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In DRAWING 3.8, exploiting vertical angles of measure 63 and 6;, as in DRAWING 3.4 at the
end of this chapter and Proposition 3.6, we see that 6; = 03,0, + 0 = m = 61 + 64, from which all
the desired equalities follow. O

Proposition 3.9. The sum of the measures of the interior angles in a triangle is 7.

Proof: Represent a triangle with vectors a, g, and ¢, as in DRAWING 3.9 at the end of this chapter,
where we have labeled the measures of the interior angles as 61, 65, 03.

Extend each of the sides, add on a copy of @ with initial point at the vertex with interior angle
of measure 03, and observe that 8, appears as the measure of the counterclockwise angle from a to
(_{7 while 65, after invoking Proposition 3.6 for a pair of vertical angles, appears as the measure of the
counterclockwise angle from ¢ to @. See DRAWING 3.10 at the end of this chapter.

At the top of DRAWING 3.10 you will see (reading clockwise) 81 + 02 + 5 = , as desired. O
Corollary 3.10. For n = 3,4, 5, ..., the sum of the interior angles in an n-gon is (n — 2)m.

~ Proof: This follows from Proposition 3.9 and the fact, that we choose (as mentioned near the
end of Definitions 2.3) to not prove, that any n-gon may be written as the union of (n — 2) triangles
whose interiors do not overlap, with each vertex of each triangle equal to a vertex of the n-gon. [

Definitions 3.11. If ¢; is the line segment from A to B, the midpoint of ¢; is a point C' on £,
— —

such that ||AC|| = ||CB||. Another line segment or line ¢ bisects ¢; if ¢3 intersects ¢; at C. See

DRAWINGS 3.11 at the end of this chapter.

The angle between @ and b is bisected by the vector ¢ if the measure of the angle between @
and ¢ equals the measure of the angle between ¢ and b. See DRAWINGS 3.11.

Definition 3.12. The diagonals of a parallelogram are line segments between nonconsecutive
vertices.

If the parallelogram is formed by vectors @ and b, then the (directed) diagonals are (@ 4 b) and
(b — @). See DRAWINGS 3.12 at the end of this chapter.

Proposition 3.13. The diagonals of a parallelogram bisect each other.

Proof: In DRAWING 3.13 at the end of this chapter, let @ and b be as in Corollary 3.4, with the

—

diagonals (@ + b) and (b — @) drawn in.

Let P be the intersection of the diagonals. Then (see DRAWING 3.13)
P=I+s@+b =I+a+t(b-a),

for some real s, t, so that

—

(s+t—1)a=(t—s)bh
since @ and b are not parallel (see Definitions 1.5 and 2.3),
(s+t—1)=0=(t—s),
which implies that s =¢ = %, as desired. O

Proposition 3.14. In any triangle, the vectors from vertices to midpoints of opposite sides intersect
at a single point.

Discussion and Proof: Draw an arbitrary triangle with sides represented by vectors ¢y, Cs, Cs,
opposite vertices Iy, I, I3, with

G+ +3d =0,
as drawn in DRAWING 3.14 at the end of this chapter.



71

For j =1,2,3, let d; be the vector from I; to the midpoint of the side opposite I;, as in DRAWING
3.15 at the end of this chapter.

Focus now on the intersection (if it exists), call it P, of @; and ds, as in DRAWING 3.16 at the end
of this chapter.

If P exists, we can calculate it, analogous to the proof of Proposition 3.13.
By definition of P, there are real s and t so that
P=1I,+sdy and P =1 +tdy =1+ +  +td;. (*)
Let’s see if we can figure out what s and ¢ are.

We haven’t used the midpoint hypotheses; our hope is to express @; and ds, hence (*), in terms
of 51 and 52.

Because of the midpoint assertions,

Plug these into (*), to get

I 2 1 .
5(01 —+ 502) = Sag = C1 + 2 +t(l1 =C +CQ +t(7501 — CQ)
or

since ¢; and ¢y are not parallel,

(3—1+£):0:(—18+1—t).

2 2
The solution of this pair of equations is s = % = t. In other words, by (*),
2 2
P=1 —dap = 1. —-a
1+ 3a1 2+ 3(12

equals the intersection of the vector from I; to the midpoint of its opposite side and the vector from
I> to the midpoint of its opposite side.

All of the above could be done as scratch work, then concealed. For a proof that gives you the
aura of mystical certainty, seemingly pulling surprises out of a hat, begin a formal proof with the
formulas we just calculated:

2

P=I+ 361, on the line from I; to the midpoint of ¢y,
2

Py =I5+ —ds, on the line from I to the midpoint of 5.

We will show that P; = P,. Begin with the midpoint assertions implying that

L . . 1,
sy = C1 + 502 and a; = 7501 — Co.
Thus we can rewrite
2 1 1 2 1 2 2 1 2 1
Pr=ntg (—281 - 52) = 11—551—§52 = I2+(51+52)—§51—§52 = 12+§51+§52 =Itg (51 + 252> =P

This shows that P, = P is the intersection of the vector from I; to the midpoint of its opposite
side and the vector from Iy to the midpoint of its opposite side.
By a similar argument,

2 2
P3513+§63:IQ+§625P2;
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that is, the intersection of the vector from I3 to the midpoint of its opposite side and the vector
from I to the midpoint of its opposite side also equals P.

Thus P = P, = P, = P5 is a common intersection for all three vectors from vertices to midpoints
of opposite sides. O

Notice that we have actually proved more, namely the following.

Proposition 3.15. The common intersection point of Proposition 3.14 is, for each vertex, two-thirds
of the way from the vertex to the midpoint of the opposite side.

Examples 3.16. In each of the drawings in DRAWINGS 3.17 at the end of this chapter, use the
results of this chapter to fill in any lengths of sides or measures of angles, whenever possible. Do
not assume anything is drawn to scale. All quadrilaterals are parallelograms.

Solutions. See DRAWINGS 3.18 at the end of this chapter. (a) Propositions 3.3 and 3.8. (b)
Proposition 3.15. (c¢) Proposition 3.13. (d) Proposition 3.3. (e) Proposition 3.9. (f) Proposition
3.13. (g) Proposition 3.8.

(i) Proposition 3.6.

Examples 3.17. In each of the drawings in DRAWINGS 3.19 at the end of this chapter, find .
All quadrilaterals are parallelograms.

Solutions. (a) By Proposition 3.3, (2z + 5) = (5z — 10), so = = 5.

(b) By Proposition 3.6, 180 = (3z + 20) + (2 — 90), so & = 50 (degrees).

(c) By Proposition 3.8, 180 = (6z + 10) + (z + 50), so z = 122
(d) By Proposition 3.8, (z + 50) = (6 + 10), so = 8.

(e) By Proposition 3.9, 180 = 60 + (2z + 10) + 3z, so = 22.
(f) By Proposition 3.13, (z +7) = (3z +5),so z = 1.
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HOMEWORK

HWIIIL.1. In each of the drawings in DRAWINGS 3.20 at the end of this chapter, use the results
of this chapter to fill in lengths and angles, where possible. All quadrilaterals are parallelograms.

HWIIIL.2. Prove that, in the drawing of a diagonal of a parallelogram in DRAWING 3.21 at the
end of this chapter, #; = 04 and 65 = 03.

HWIIL.3. In a quadrilateral, draw line segments between midpoints of consecutive sides. Show that
the new quadrilateral that is formed is a parallelogram. Use vector methods. HINT: DRAWING
3.22 at the end of this chapter and Proposition 3.5.

HWIII.4. Show that, in any triangle, the line segment between the midpoints of two sides is parallel
to the remaining side, with length half the length of the remaining side. Use vector methods. See
DRAWING 3.23 at the end of this chapter for a hint; see also Example 14.19 for a generalization.
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HOMEWORK ANSWERS

HWIII.1. See DRAWINGS 3.24 at the end of this chapter.
HWIII.2. Proposition 3.6.
HWIIIL.3. In DRAWING 3.22,

o1 1. 2 1. 1,
€= §d+ 50 and f= 5()—1—507
thus 1
6:§ (d’+5+é‘+cf) =+ f,
so that €= — f, so that Proposition 3.5 implies we have a parallelogram.
HWIIIL.4. In DRAWING 3.23,
SO TR IO BN N BV
d= §c+a+§b— 5 (a+b+c) +§a— 50

so that @ = 2d.
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CHAPTER IV: Dot Product and Orthogonality.

The idea of being perpendicular or orthogonal arises in numerous places. It describes the most
comfortable relationship of our body, when standing, to the ground. If our feet are being burned
by sand on a beach, the fastest route to the cooling ocean is perpendicular to the shoreline. See
DRAWING 4.1 at the end of this chapter.

We would like an algebraic characterization of being perpendicular. Motivation comes from
considering the Pythagorean theorem (see Proposition 4.15 and DRAWING 4.2 at the end of this
chapter).

For any vectors
a=< ay, @y >, b=<by,by >,
make the following calculation:

lla+ 5”2 = <ar+bi,az+by > ||> = (a1 +b1)* + (az + b2)* = (af + 2a1by + b3) + (a3 + 2azbs + b3)
= (a7 + a3) + (0 + 03) + 2(asby + azby) = [lal|* + [[6]* + 2(aaby + azba).

Note that the Pythagorean theorem (see Proposition 4.15 and Definition 4.3) holds precisely
when that last quantity (a1b1 + agbs) is zero. This motivates the following definition.

Definition 4.1. If @ and b are two vectors, their dot or inner product is

a- EE (a1b1 —+ a2b2).

Example 4.2. <1,-2>-<2,3>=2—-6=—4.

The Pythagorean theorem and our calculations above (see also Corollary 2.14(c) and Remarks
2.15) motivate the following definition.

Definitions 4.3. Two vectors @ and b are said to be orthogonal or perpendicular if their dot
product is zero. This will be denoted @ L b.
Two lines are perpendicular if their direction vectors are perpendicular (Definitions 2.1).

Example 4.4. Are the vectors < 1,2 > and < 3, —2 > orthogonal? This is a geometric question,
so we feel that we should be able to answer by drawing a picture, as in DRAWING 4.3 at the end
of this chapter.

The vectors look perpendicular, I think. I hate to rely on anything related to my art ability or
sharpness of vision.
But we don’t need a picture, because of Definition 4.3. Calculate the dot product of the two
vectors
<1,2>.-<3,-2>=3-4=-1;
all we care about is that their dot product is not zero, therefore the vectors are not perpendicular.

As in Chapter I, we have the interaction of algebra and geometry. We get the best of both
worlds: the precision of algebra and the intuition of geometry.

We leave the calculations for the following properties to the reader.

Some Properties 4.5. Suppose d,b, and ¢ are vectors and « is a real number.
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d) [l@+bl[* = [|a]|* + [Ib]|* +2(@ - b).

For the remainder of this section, let b be a nontrivial (that is, not equal to 6) vector, let d@ be
a vector or point (see 1.16), and let ¢ be a line with direction vector b (see Definitions 2.1).

We would like a best approximation of @ from ¢; that is, a point on ¢ that is closest to d.
Intuitively, this means dropping a perpendicular from @ onto ¢ (see DRAWING 4.4 at the end of
this chapter; as at the beginning of this section, think of ¢ as the shoreline, @ as where you stand on
the beach).

Definition 4.6. The orthogonal projection of @ onto ¢, denoted proj,(@), is a point on ¢ such
that
(@ — proj,(@)) L b.
See DRAWING 4.4 at the end of this chapter.
Note that, if @ is on the line ¢, then the projection of @ onto £ is @ itself: if you're already laid

out on the ground, dropping to the ground, as in “drop and give me twenty,” means you stay where
you are.

The orthogonal projection of @ onto l;, denoted proj;(a), is the projection of @ onto the line
through 0 and 5; that is, projz(a@) is a multiple of b such that

(@ — projz(a@)) L b.
See DRAWING 4.4 at the end of this chapter.

We are premature in our use of the article “the”; we must verify that, if the orthogonal projection
exists, it is unique.

Proposition 4.7 (uniqueness of orthogonal projection) Suppose #; and Z5 both satisfy Defi-
nition 4.6; that is, they are both points on ¢ such that
(@—1;) Lb, j=1,2.
Then 71 = Zs.
Proof: Note that (Z; — %) is a multiple of b, thus is orthogonal to (@ — #;) and (@ — i), by
Properties 4.5(b). This (see Definition 4.3 and Properties 4.5(d)) and the facts that

(@—71) = (ad— 7o) + (¥2 = T1), (@—T2)=(d—71)+ (T1 — 7o),

imply
1@ —22)1? = lld— 21 |* + |71 = Z2||* = @ — Zo||* + |72 = 21| + |71 — T2 = [|d - Zo|* +2]|71 — 22|,
so that
|41 — 22| = 0,
which implies that 1 = ¥, as desired. O

At this point, we do not know that this projection exists (see Theorem 4.11). But if it does, it
has a desirable property: it gives us the best approximation of @ by points in ¢ (see Corollary 4.10
and DRAWING 4.4 at the end of this chapter).
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Theorem 4.8. For any point ¢ on ¢,
1@ — glI* = [[(@ — proje(a))|* + || (proj. (@) — 7)|1*.

Proof: Since (proj,(@) — 7) is a multiple of b,

l@ — 71 = 1I(@ — proj,(a@)) + (projy(@) — H)II* = (@ — proj,(a))|* + [|(proj (@) — H)II*,
by 4.5(d), since (@ — proj,(@)) is orthogonal to all multiples of b, by Properties 4.5(b). O
I I2.

Corollary 4.9. ||@||?> = ||a — proj,(a@)||* + ||proj,(a@)

Corollary 4.10. proj,(@) minimizes the distance from @ to points on the line ¢; that is,
1@ — Il = ||l@ — proj,(a)l],

for any ¢ in £.
Proof: This follows from Theorem 4.8, since norm is always nonnegative. ]

Using dot product, it is not hard to get an algebraic formula for proj,(@). Note first that, for
any &g in ¢, proj¢(@) = Zy + tob, for some number t; (depending on #y). The desired orthogonality
implies that

0= (G@— (Zo+toh)) - b=a-b—ay-b—tob-b=(a@— o) b—to(b-b);

we may solve for tg:

-

7o) b (@—To)-b

(@— _
b- 1512

=

0
to =
b

)

so that Definition 4.6 is brought to life.

Theorem 4.11. The orthogonal projection proje(@) exists and, for any &, in ¢, direction vector b

fOI 1?, equalS

Proof: As in deriving the formula for the projection, look at
(a as <<a—|g|?|02>b> g] ) Fe (@—d0) b (W) E5) = (3-50) (W) B =0

O
Corollary 4.12. The orthogonal projection proj;(@) exists and equals ( ) b.

Examples 4.13. (a) Get the orthogonal projection of < —1,—2 > onto < 2,—3 > .

(S8

a-

||

(b) Get the orthogonal projection of (—1,2) onto the line through (2,1) and (5, 2).

Solutions. (a) This is Corollary 4.12, with @ =< —1, -2 > and b=< 2,—3 >, thus we want
. <-1,-2>-<2,-3> —2+6 4
—1,-2 = 2, -3 >= 2, -3>=—<2,-3>.
Proj_o 35 (< —1,-2>) ( <235 ) <2,-3> ( 159 ) <2,-3> 13 <2,-3>
See DRAWING 4.5(a) at the end of this chapter.

(b) In the language of Definition 4.6, @ = (—1,2) (or < —1,2 >; see 1.16) and ¢ is the line through
(2,1) and (5,2). To exploit Theorem 4.11, we need a direction vector b; let’s choose

—_

b=(2,1)(5,2) =< 3,1 >.
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Finally, we need a point on the line; we could use
.’EO = (2, 1)

Theorem 4.11 now gives us

. («-1,2>-<2,1>)<3,1> (< =3,1>)-<3,1>
-1,2) = |(2,1 1 = (2,1 1>
proj,(—1,2) [(,)+( <315 <3,1> (2,1) + 10 <3,
(=8)

- [(2, 1)+ (10) <31 >} = % [(20,10)— < 24,8 >] = %0(41,2)-

What if we had chosen @y = (5,2) instead of (2,1)? Let’s run through the same calculations; it
will be disturbing if we get a different answer:

_ («<-1,2>—-<5,2>)<3,1> (< =6,0>)-<3,1>
-1,2) = 2 1 = 2 1>
prosi(-1,2) = | (5:2) + s <315|=|6.2+ ) <3
(=18)

1 1
5.2+ (1552) <3.1>] = {56020 <5018 5] = 5(-4.2),
exactly what we got when we used Zy = (2,1).

In general, Theorem 4.11 guarantees that we will get the same result (namely, the unique
projection onto the line) regardless of which point #; we choose on the line.

Let’s check directly that our alleged projection %(74, 2) satisfies Definition 4.6:

1 1 1
(< —1,2>—10<—4,2>>~<3,1 >:E(< —10720>—<—4,2>)-<3,1>:E(< —6,18 >)- < 3,1 >=0,

so that
1
(< —1,2>—1—O < —4,2 >> 1 <3,1>,

as demanded by Definition 4.6. See DRAWING 4.5(b) at the end of this chapter.

Let’s reformulate the dot product in terms of complex numbers. See 1.15 and 2.8 for the polar
form of a complex number, and 1.16 for the equating of vector with complex number. Explicitly, if

a@ =< x1,y1 > is a vector, then “@ = re'?” means that re?? is the polar form of the complex number
Ty + Y-
Proposition 4.14. Suppose x1, 22, Y1, Y2, 01,02 are real numbers, r1 and 79 are positive nummbers,
21 =a1 +iyp = e and zp = xo 4 iys = roe'??.
Then
<a1,y1 > - < o, Yo >= Re(2173) = Re(rrpe’®172)),
Proof:
2173 = (w1 +iy1) (w2 — iy2) = (v122 + y1y2) +i(y172 — T1Y2);
also,
2177 = r1eirgei®s = (ryryei?1702)),
by Theorem 1.12. O

We have not identified the measure of the angle between orthogonal vectors, or even shown that
it is unique. Corollary 2.14(c) asserts that the counterclockwise angle from < z1,y; > to < —y1,x1 >
s

is 5. Since < z1,y1 > - < —y1,21 >= 0 (that is, < z1,y1 > and < —y;, 1 > are orthogonal), 5 is
looking like a viable candidate for the measure of the angle between orthogonal vectors.

Proposition 4.15. Suppose @ and b are two nontrivial vectors. Then the following are equivalent.

(a) @ and b are orthogonal.
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(b) (Pythagorean theorem) ||@+ b||2 = ||@||2 + ||b]2.

(c) ||@+ sb|| > ||@] for all real s.

(d) The measure of the angle between @ and b is 7

Proof: The equivalence of (a) and (b) follows from 4.5(d) (see Definition 4.3).

(a) <= (d). As we discussed before the proof of Proposition 4.14, denote @ = r,€1, b= roetf

with 0 < 60 <60y <61 4+ 27,1 > 0,79 > 0. By Definition 4.3 and Proposition 4.14,
R ) 3
(a) <= b-a=0 < Re (7“27“161(92_91)) =0 < (6—06,) = g or 771-,
which is equivalent to (d), since the counterclockwise measure from @ to b is (2 — 1) (see Definitions
2.10).
Regarding the equivalence of (a) and (c), define a function F : R — R by
F(s) = ||+ sb|* — ||]*.
Assertion (c) is equivalent to F(s) > 0 for all real s.

Apply 4.5(d), and complete the square:

- SN 2 SN 2 N 2 o\ 2
F(s) = 2||B]2+25(@-b) = |15 | s® + 2s <“;2> + (“f;) - (“f;) Sy (H@Z) —(“f’)
0] [[0]] [[0]] (0] [[o]]

Assertion (a) implies that F(s) = s2||b]|2 > 0, which gives us (c). If (a) is not true, then

= o\ 2
[16]12 16|

so that (c¢) does not hold. This shows the equivalence of (a) and (c). O

Remark 4.16. The Pythagorean theorem is ultimately a consequence of our definition of norm
(Definitions 2.4(i)). For example, if we chose the norm

I <zy>| =l +lyl,

it can be shown that there is no dot product with the properties of 4.5, so that defining orthogonal
vectors is problematic.

Examples 4.17. Which of the following pairs of vectors are orthogonal?

(a) {< 1,2>,< —=2,1>}.

(b) {<4,-2>,<-2,1>}.

(¢) {<1,2>,<3,4>}.

(d) {< 5,17 >,<0,0 >}

Solutions. The pairs in (a) and (d) are orthogonal, since their dot products are zero. The other

pairs are not orthogonal, since their dot products are not zero. Notice that the pair in (c¢) is neither
orthogonal nor parallel (see Examples 1.17).

As in Examples 1.17(d), many people are uncomfortable with < 0,0 > being orthogonal to
anything, since it implies that < 0,0 > has a direction.

Since this chapter has been devoted to the geometric idea of orthogonality (being perpendicular),
we cannot resist finishing with a believable relationship between perpendicular lines and parallel lines
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(Corollary 4.20; see Proposition 4.18 for a special case), since parallel may be considered a sort of
opposite of perpendicular.
See Theorem 5.2 for a more complete list of relationships between parallel and perpendicular.
Notice that the proof of the very geometric result in Proposition 4.18 is entirely algebraic; more
explicitly, it relies on our dot product characterization of orthogonality (Definition 4.3) and our
algebraic definition of parallel (Definitions 1.5).

Proposition 4.18. If &, 5, and ¢ are vectors, with ¢ nontrivial, @ 1 ¢ and b L ¢, then d and b are
parallel.

Proof: Denote
a=< ai,as >, b=< bl,bg >, c=< C1,Cy > .
First suppose neither ¢; nor c; equals zero. Then
O=d~5:a101—|—a262

implies that

o —agCo
(x) a1 = 701 .
Identically, 0 = b - & implies that
—bQCQ
b = .
(%) by o

If either @ or b is the trivial vector 0, then @ and b are trivially parallel.
If neither @ nor b is the trivial vector, then (*) implies that both a; and ay are nonzero, while
(**) implies that both b; and by are nontrivial. Then, again by (*) and (**),

so that

that is, @ and b are parallel.
We leave it to the reader to finish this proof by showing

(1) 4 =0—d=<a,0> and b=< b1,0 >
and -
(2) co=0—d=<0,a2 > and b =< 0,by >;
in either (1) or (2), @ and b are parallel. O

Remark 4.19. We could also prove Proposition 4.18 “by contradiction” (see Appendix 0); that is,
by hypothesizing that @ and b are not parallel. Denoting by ¢, a line with direction vector ¢, by £, a
line with direction vector a@ that intersects /., and by £, a line with direction vector b that intersects
L. at a different point than ¢,, as drawn in DRAWING 4.6 at the end of this chapter, we see that
the shaded triangle would then violate Proposition 3.9.

Corollary 4.20 (same as Corollary 5.3). Suppose {1, s, (3,04 are lines, ¢1 and {5 are parallel,
and both ¢3 and ¢4 are perpendicular to ¢5 (see DRAWING 5.4 at the end of Chapter V). Then both
{3 and {4 are perpendicular to ¢1, {3 is parallel to ¢4, the line segments from ¢; to /> are of equal
length, and the line segments from ¢35 to ¢, are of equal length. See DRAWING 4.7 at the end of
this chapter.
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Proof: Denote by A the intersection of £3 with ¢5, by B the intersection of ¢4 with ¢5, by C the
intersection of ¢4 with ¢, and by D the intersection of ¢35 with ¢;, as in DRAWING 4.7 at the end
of this chapter. Proposition 4.18 implies that /5 is parallel to £4. Thus the quadrilateral ABCD is a

—-— = — —
parallelogram. Proposition 3.3 now implies that ||AB|| = ||DC|| and ||[AD|| = ||BC]|. O

See Corollary 5.3 for a different proof (using Theorem 5.2). Note that Proposition 4.18 is the
special case of Corollary 4.20 when ¢; = /5.
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HOMEWORK

HWIV.1l. Get <2,-3>-< —4,1>.

HWIV.2. Which of the following pairs of vectors are orthogonal?
(a) <1,-3>,<3,-9>.

(b) <1,-3>,<-3,9>.

(¢) <1,-3>,<0,0>.

(d)<1,-3>,<6,2>.

HWIV.3. (a) Find the orthogonal projection of < 3,4 > onto < 1,0 > .

(b) Find the orthogonal projection of < 3,4 > onto < 0,1 > .

(c) Find the orthogonal projection of < 1,0 > onto < 3,4 > .

(d) Find the orthogonal projection of < 0,1 > onto < 3,4 > .

(e) Find the orthogonal projection of < 1,2 > onto < 3,4 > . How is this related to (c¢) and (d)?

HWIV .4. Find the orthogonal projection of (3,1) onto the line y = 2z + 5.

HWIV.5. Find the orthogonal projection of (1,—1) onto the line (expressed parametrically) P =
2,1)+t<-1,2>.
HWIV.6. For arbitrary real numbers a, b, ¢, d, e, get the orthogonal projection of (d,e) onto
ar + by = c
in terms of a,b,c,d,e.

HWIV.7. Suppose a line ¢ has slope m. Use dot product and a convenient direction vector for ¢
(HWII.1 and HWIL.2) to get the slope of any line orthogonal to .

HWIV.8. If @ and b are both parallel and orthogonal, what can be said about @ and b? Prove your
assertion.

HWIV.9. For what real number ais < 1, >1<2,—-3 >7

HWIV.10. Find a real number s so that
[<L2>4s<-1,1>| <[ <1,2>].

It can be shown that such an s must exist, because < 1,2 > and < —1,1 > are not perpendicular.
Stated more positively, it can be shown that two vectors @ and b are orthogonal if and only if
||@+ sb|| > ||d@||, for any real s.

-

HWIV.11. Show that, for any vectors d, b, ||@

HWIV.12. Show that, for any vectors d, b, (@
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HOMEWORK ANSWERS

HWIV.1. 2(—4) + (=3)(1) = —11.

HWIV.2. Each of the pairs in (c¢) and (d) are orthogonal, because of having zero dot product.
Each of the pairs in (a) and (b) fail to be orthogonal, because of having nonzero dot product.
HWIV.3. (a) <3,4>-<1,0>=3,| <1,0 > || = 1, thus our projection is > < 1,0 >=< 3,0 > .
(b) As in (a), our projection is < 0,4 > .

(¢) <1,0>-<3,4>=3,| <3,4>| =5, thus our projection is 5% <3,4>= % <3,4>.

(d) As in (c), our projection is 5= < 3,4 > .
(

e) <1,2>-<3,4>=11,| <3,4 > | still equals 5, so now we want & < 3,4 > .
This is
[(answer to (c)) x 1] + [(answer to (d)) x 2].
Note that
<1,2>=[<1,0> x1]+[<0,1> x2].

-

HWIV.4. Using Theorem 4.11, Zy = (0,5),b =< 1,2 >, gives us (—1, 3).
HWIV.5. Using Theorem 4.11, 7 = (2,1),b =< —1,2 >, gives us (13, —1).

HWIV.6. Using Theorem 4.11, with &y = (0, 7) and b=< b, —a >, gives us

e, [db+(e—§)(—a)]
©0.3) o)

<b,—a>.

HWIV.7. First assume m is finite and nonzero.

From HWIIL.1, use < 1,m > as a direction vector for ¢. Suppose ¢y is a line orthogonal to /.
Denote by my its slope.

If mo were infinite, then the allegedly orthogonal line would have direction vector < 0,1 >,
whose dot product with < 1,m > is m, assumed to be nonzero. Thus my is finite, so that it has a
direction vector < 1,mg > . Since the direction vectors of the orthogonal lines are orthogonal,

0=<1,m>-<1,mg>= 1+ mmy,

so that mg = f%.

If m is infinite, then ¢ has direction vector < 0,1 >, so that direction vectors for a line orthogonal
to £ have the form < s,0 >, for any real s. This implies that the slope of any orthogonal line is 0.

If m = 0, then £ has direction vector < 1,0 >, clearly orthogonal to < 0,1 >, a direction vector
for a vertical line. Thus a line orthogonal to ¢ now has infinite slope.

HWIV.8. Denote @ =< aq, as >,5=< b1,by >, with aq,as, b1, by real numbers. Assume, at least
for the sake of contradiction, as in proof by contradiction (see Appendix 0), neither @ nor b are 0;
that is, @ and b are nontrivial.
Since @ and b are parallel and nontrivial, there’s real nonzero s so that
<ai,ap >=d= sb =< sby, sbg >, so that a; = sb; and ay = sbs.
Since @ and b are orthogonal, we now have
0=a-b=aby +ashy = sb? + sb3 = s(b? + b3),

so that (b2 + b3) = 0, which implies that by = by = 0; that is, b is trivial. Since @ = sl;, a is also
trivial.
We conclude that either @ or b must be 0.
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HWIV.9. 0 =<1, > <2,-3>=2—3aq, thus o = 2.
Compare to HWILS.

HWIV.10. Let’s calculate:
[<1,2>4s<-1L1>[<[[<,2>| < [[<1-52+s> |2 <[ <1,2>|? <= (1-5)2+(2+s)* <5
= (1-2s+8")+(A+4s+5*) <5 < 257 +25+5<5 + 25 +25<0 < s(s+1) <0.
We need s < 0 and (s + 1) > 0; for example, s = —1 will do what we want.
HWIV.11. By 4.5(d),
la+bll = la-bll <= lla+b]* = l@-B|* <= l|al*+[bl*+2(@5) = lal*+[5]*~2(@h) < ab=0 < aL

HWIV.12.

(@+b) L (@—b) < (@+b)-(@—b) =0 < (@-@)—(@-b)+(b-a@)—(b-b) =0 < (@-@)—(b-b) =0
= la|® — [Ib]* =0 <= |la] = [b].
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CHAPTER V: Some Perpendicular Geometry.

This section will present some geometric consequences of the concept of being orthogonal or
perpendicular (see Definition 4.3).

Recall the dot product, Definition 4.1.

Here are the key dot product factoids for this chapter, for any vectors @, b:

l@dl>?=a@-@ and @Lb < a-b=0.

Definition 5.1. The distance from a point Z to a line ¢, denoted d(Z, ¢), is the minimum distance
from 7 to points on £ :
d(Z,¢) = minimum {||Z — ¢|| | ¥ is in £}.

By Corollary 4.10,
d(Z,0) = || — proj,(Z)|;
see Definition 4.6 and DRAWING 5.1 at the end of this chapter.

In terms of distance from a point to a line, we may further characterize being parallel (see
Theorem 3.1).

To those not familiar with the extent to which math grows back on itself, it might seem strange
or even ironic to characterize being parallel in terms of an idea equivalent to orthogonality, a sort
of opposite to being parallel.

See Proposition 4.15 for characterizations of orthogonality. See Proposition 4.18 for a preliminary
result in the spirit of Theorem 5.2.
Theorem 5.2. Suppose ¢; and ¢5 are two different lines. Then the following are equivalent.
(a) ¢; and ¢y are parallel.
(b) d(Z,{3) is constant, for Z in ¢;.
(c) (& — proj,, (Z)) is constant, that is, equals the same vector, for Z in ¢;. See DRAWING 5.2 at
the end of this chapter.
(d) A line is perpendicular to ¢; if and only if it is perpendicular to £5.
(e) There are two (different) points Z and % in ¢ such that d(Z, ¢2) = d(¥, {2).

Proof: (a) — (c). Fix & and ¢ in {;.

Since (f— projy, (:E')) and (gj’— projy, (37)) are both orthogonal to ¢5, Proposition 4.18 implies
they are parallel. Thus the quadrilateral with vertices &, /, proj,, (Z), and proj,, () (see DRAWING
5.3(a) at the end of this chapter) is a parallelogram.

Proposition 3.3 now implies that the vectors (Z — proj,, ()) and (7 — proj,, (4)) are equal. Since
Z and ¥ are arbitrary, this proves (c).
(¢) — (b) follows from (see comment after Definition 5.1) d(Z, ) = ||Z — proj,(Z)||, for any line ¢,
point .
(b) — (e) is clear.
(e) — (a). Consider the quadrilateral with vertices , %, proj,, (), proj,, () (see DRAWING 5.3(b)

at the end of this chapter). Since (Z — proj,, (Z)) and (7 — proj,, (7)) are both orthogonal to /s,
Proposition 4.18 implies that they are parallel. By hypothesis,

I (& = proje, () || = d(F, £2) = d(F, £2) = || (§ = proje, () Il
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thus Proposition 3.5 implies that our quadrilaterial is a parallelogram; in particular, ¢; is parallel to
ls.

(a) — (d). Suppose a line ¢3 is perpendicular to ¢; (see DRAWING 5.3(c) at the end of this chapter).
Proposition 3.6 (/5 is called a transversal there) implies that ¢35 is perpendicular to fs.

The same argument shows that
(63 1L 62) i ([3 L 61)

(d) — (a). Fix Z in £; and let /3 be the line through # and (proj,, (7)) (see DRAWING 5.3(d) at
the end of this chapter).

By the definition of projection, ¢35 is perpendicular to ¢2. By (d), {3 is also perpendicular to ¢;
(see DRAWING 5.3(e) at the end of this chapter).

By Proposition 4.18, ¢ and ¢y are parallel. (|

Corollary 5.3 (same as Corollary 4.20). Suppose {1, ¥, (3,04 are lines, ¢; and {3 are parallel,
and both ¢35 and ¢4 are perpendicular to ¢5 (see DRAWING 5.4(a) at the end of this chapter). Then
both /3 and ¢4 are perpendicular to 1, {3 is parallel to ¢4, the line segments from ¢; to ¢y are of
equal length, and the line segments from ¢3 to ¢4 are of equal length. See DRAWING 5.4(b) at the
end of this chapter.

Proof: The orthogonality conclusions follow from Theorem 5.2(a) <= (d). Proposition 4.18
implies that ¢3 and ¢, are parallel. Theorem 5.2(a) <= (c) implies that the indicated line
segments (see DRAWING 5.4(b) at the end of this chapter) are of equal length. O

See Corollary 4.20 for a different proof.

The next three results involve diagonals in a parallelogram. We have already observed (Corollary
3.4 and DRAWING 2.8(b) at the end of Chapter II) that any parallelogram is formed by two vectors,

call them @, l;; in DRAWING 5.5 at the end of this chapter we have included diagonals (@ + 5) and
(@—b).

Propositions 5.5 and 5.6 present an interesting duality between length and orthogonality: per-
pendicular diagonals correspond to sides of equal length (Proposition 5.5), while perpendicular sides
correspond to diagonals of equal length (Proposition 5.6).

Definitions 5.4. A rhombus is a parallelogram whose sides all have equal length. A rectangle is
a parallelogram formed by orthogonal vectors d, b, as in Corollary 3.4 with @ L b. A square is both
a rectangle and a rhombus.

Proposition 5.5. In any parallelogram, the diagonals are perpendicular if and only if the parallel-
ogram is a rhombus.

Proof: By Properties 4.5, after cancellation,
(@+b)-(a—b) =l - |Io)*,
thus . . -
(@+b)-(@—b) =0 < llal| = [b].
Since the diagonals are (G@+b) and (@—b), and the lengths of the sides are ||@]| and ||b]| (sece DRAWING
5.5 at the end of this chapter), the result follows from Definition 4.3. O

Proposition 5.6. In a parallelogram, the diagonals are of equal length if and only if the parallelo-
gram is a rectangle.
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Proof: See DRAWING 5.5 at the end of this chapter. By 4.5(d),
|la+b]| = |la—b]| <= ||a+b]|* = la—b]|* <= ||a@l|*+|[bl|*+2(a@-b) = ||a@]|*+]|b|*~2(a-b) += ab=0,
thus the result follows from Definition 4.3. O

Proposition 5.7. In a parallelogram, the sum of the squares of the lengths of the sides equals the
sum of the squares of the lengths of the diagonals.

Proof: See DRAWING 5.5 at the end of this chapter. By 4.5(d),
1@+ 8112 + l1d = B2 = (Nal + 1811° + 2@ 8)) + (al®> + 18l1° - 2@ - 5)) =2 (Jal® + 18)1) .
|

Definition 5.8. A line or line segment /5 is a perpendicular bisector of the line segment ¢; from
A to B if {5 bisects ¢1 at the midpoint C' (see Definitions 3.11) and ¢» is orthogonal to ¢;.

It is not hard to construct (hence show that it always exists) the perpendicular bisector /.

Writing the coordinates of the directed line segment ADB =< v1, vy >, the line /5 is all points of the
form

1
P=A+ 5 < 01,02 >+t < —vg,01 > (t real).
See DRAWING 5.6 at the end of this chapter.

Definition 5.9. A triangle is isosceles if two sides are of equal length.

The following theorem relates being isosceles to the presence of a particular perpendicular bi-
sector, from the vertex where the sides of equal length meet, to the side opposite said vertex.

Theorem 5.10. Let P,Q, R be the three vertices of a triangle. Then the following are equivalent.
— —
(a) [PE[| = [[QR].
(b) The line segment between the vertex R and the midpoint of the opposite side P—Q> is orthogonal
—
to PQ.
—_— —
(c) The orthogonal projection of the vertex R onto the opposite side PQ is the midpoint of PQ.
Proof: See DRAWING 5.7 at the end of this chapter. Let S = projP-Cj(R). By the Pythagorean
theorem (Proposition 4.15) applied twice,
D2 YR D2 A2 5012
[PE|" —[[PS|I = [ISE|” = [|QR|" — |SQII",

so that
—_— — — —
IPR| = |QR| <= [PS] = [ISQI;
the latter equality is equivalent to both (b) and (c). O

Definition 5.11. Let P be a point on a circle centered at C. A tangent line to the circle at P is
—
a line through P orthogonal to C'P. See DRAWING 5.8 at the end of this chapter.

—
A tangent line is not hard to construct. If CP =< vy,v >, let ¥ =< —v3,v; >, orthogonal to
—
CP since their dot product is 0; then
{P + 17|t is real)}

is the desired line.
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Physically, imagine the disc enclosed by the circle is a merry-go-round in motion, with you
clinging to the point P on the edge of the merry-go-round. The tangent line at P is the route your
body would take if you stepped off the merry-go-round, until gravity brought you to earth.

Example 5.12. Find the tangent line to the circle centered at (3,1) at the point (3 ++/2,1 — /2)
on the circle.

Solution. In the language of Definition 5.11 and the discussion succeeding it, C' = (3,1),P =
—
(34 2,1 —+/2), and < vy,vs >= CP = /2 < 1,—1 > . The desired line is

{B+V2,1=V2)+t<1,1> |tis real}.
See DRAWING 5.9 at the end of this chapter.

Examples 5.13. In each of the parallelograms in DRAWINGS 5.10 at the end of this chapter, use
the results of Chapters III-V to fill in any lengths of sides or measures of angles, whenever possible.
Do not assume anything is drawn to scale.

Solutions. See DRAWINGS 5.11 at the end of this chapter.

(a) Propositions 3.3 and 5.5. (b) Propositions 3.3 and 5.5. (c¢) Propositions 3.3, 3.13, and 5.7. (d)
Propositions 3.3, 3.13, 5.6, and 5.7. (e) Propositions 3.3, 3.13, Pythagorean theorem and 5.6. (f)
Propositions 3.3, 3.13, 5.5 and 5.6 and the Pythagorean theorem. (g) Propositions 3.13 and 5.6. (h)
Propositions 3.3, 3.13, 5.5 and 5.6 and the Pythagorean theorem. (i) Propositions 3.3, 3.13, and 5.7.

Examples 5.14. In each of the triangles in DRAWINGS 5.12 at the end of this chapter, use the
results of Chapters III-V to fill in any lengths of sides or measures of angles, whenever possible. Do
not assume anything is drawn to scale.

Solutions. See DRAWINGS 5.13 at the end of this chapter. Each part uses Theorem 5.10 and the
Pythagorean theorem.

Examples 5.15. In each of the figures in DRAWINGS 5.14 at the end of this chapter, find z and
y. All quadrilaterals are parallelograms.

Solutions. (a) By Theorem 5.2, (22 + 25) = (52 — 11), so = 12. By Corollary 5.3, (y + 10) = 2y,
so y = 10.

(b) By Proposition 5.5, (2¢ — 10) = 18, so = 14. By Proposition 3.3, 18 = (y + 8), so y = 10.

(¢) By Propositions 5.6 and 3.13, 2z = 10 = (y — 6), so x = 5 and y = 16.
(d) By Theorem 5.10, (3z — 5) = (z + 10), so z = 3.

(e) By Theorem 5.10, 2(2z 4+ 1) = (x + 20), so « = 6.
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HOMEWORK

HWYV.1. Find the tangent line to the circle centered at (1,2) at the point (2,24 +/3) on the circle.

HWYV.2. In each of the parallelograms in DRAWINGS 5.15 at the end of this chapter, use the
results of Chapters III-V to fill in any lengths of sides or measures of angles, whenever possible. Do
not assume anything is drawn to scale.

HWV.3. In each of the triangles in DRAWINGS 5.16 at the end of this chapter, use the results
of Chapters III-V to fill in any lengths of sides or measures of angles, whenever possible. Do not
assume anything is drawn to scale.

HWV.4. In each of the figures in DRAWINGS 15.17 at the end of this chapter, find x and y. All
quadrilaterals are parallelograms. Do not assume anything is drawn to scale.

HWYV.5. Let P be a point on a circle, as in Definition 5.11. Show that no other point on the
tangent line to the circle at P is on the circle.

—_— - — —
HWV.6. Suppose P, @, R are points such that QP L QR. Show that ||PQ| < ||PR].

HWV.7. Given two points P, @, show that the perpendicular bisector (Definition 5.8) of P—Q) equals
the set of all points equidistant from P and Q.
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HOMEWORK ANSWERS

HWV.1. P=(2,2+3) +t < —V3,1> (t real).

HWYV.2. See DRAWINGS 5.18 at the end of this chapter.

HWV.3. See DRAWINGS 5.19 at the end of this chapter.

HWVA4. (a)z=7 (b)z=1 ()z=2y=2 (d)z=6y=3 (e)z=2,y=171.

HWYV.5. Let C be the center of the circle. If @ (not equal to P) is on the line, then ||C—Q)||2 =
— — — —

|ICP|* + ||PQ|? so |CQ| > ||CP||, the radius of the circle. Thus @ cannot be on the circle.

HWYV.6. By Proposition 4.15,
=32 — — 5 =29 — 5 =29
IPR|" = [|PQ + QR[]" = [[PQ|I" + |QE[" = [ PQII".
O
HWV.7. Suppose R is a point equidistant from P and @. By Theorem 5.10, the line from R to
— —
the midpoint of P(Q is perpendicular to PQ; this is saying that R is on the perpendicular bisector

of P.Q> See DRAWING 5.20 at the end of this chapter.

Conversely, if R is on the perpendicular bisector of P—Cj, then by the Pythagorean theorem (see
DRAWING 5.21 at the end of this chapter),

— 1— — —
|RP|? = ||§PQ||2 +IRS|? = | RQ.
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CHAPTER VI: Exponential, Cosine and Sine; Angle Revisited.

We used the dot product to characterize orthogonality, which turned out to correspond to an
angle of measure 7 (see Proposition 4.15). We shall see in this chapter that any angle measure may
be described with dot product. This will be accomplished after using the polar form of complex
numbers (Definition 1.15) to introduce what is traditionally taught as a completely separate and
disjoint subject, in subject matter and style, what is known as ¢rigonometry (see Definition 6.1). We
shall see that the partitioning separation of geometry and trigonometry is unnatural, dependent on
fundamental misunderstandings of math: both trigonometry and geometry are intimately involved
with triangles and their relevant parameters (length, area, and angle).

The key results of this chapter are described by DRAWING 6.1 at the end of this chapter, where
the fundamental trigonometric functions sine and cosine are defined, and Theorem 6.9, where the
angle between vectors is measured with dot product and norm.

Complex numbers (from Chapter I) will give a straightforward definition of the trigonometric
functions sine and cosine (Definition 6.1) and a very useful way to calculate angle measure (Theorem
6.9).

The reader should, before proceeding, review the exponential function described in 1.12-1.15,
Lemma 2.8, and, most importantly, DRAWING 2.11 at the end of Chapter II.

All you need to memorize about trig (short for “trigonometry”) is in the following definition and
DRAWING 6.1 at the end of this chapter; compare to DRAWING 2.11 at the end of Chapter II.
Everything in trig follows from DRAWING 6.1; Definitions 6.1 is the first principle that any serious
thinker tries to identify.

Definitions 6.1. Let 6 be any real number. Let “cos” be short for cosine, “sin” for sine. Define
the trigonometric functions

cos(f) = Re(e'?), sin(h) = Im(e™).

Thus, for 0 < 6 < 2,
< cosf,sinf >

is the unit vector such that the counterclockwise angle (Definitions 2.10) from the unit vector < 1,0 >
to < cosf,sinf > has measure 6. See DRAWING 6.1 at the end of this chapter, and recall that
angles corresponds to arcs of the unit circle and angle measure corresponds to arclength, as we drew
in a curved way.

Read out loud, “cos(f)” reads “cosine of 6,” “sin(6)” reads “sine of §.”

Definition 6.2. Stated explicitly as
e = cosf + isiné,

Definition 6.1 is called Euler’s formula.

Compare the easily identified (by symmetry of the unit circle) sines and cosines in DRAWING
6.1 at the end of this chapter to DRAWING 2.13 at the end of Chapter II.
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Some Properties 6.3. From staring at the picture of (cos,sin ) in DRAWING 6.1 at the end of
this chapter and using the symmetry of the unit circle, the following properties seem believable, for
any real 0 (see DRAWINGS 6.3 at the end of this chapter). Euler’s formula provides straightforward
proofs.

i) cos(—0) = cos®.

ii) sin(—0) = —siné.

iii) cos(6 + ) = — cosé.

iv) sin(6 4+ 7) = —sin 6.

v) (cos8)® + (sinf)* = 1.

vi) |sinf| <1 and |cosf] < 1.

vii) cos(§ 4+ 6) = —sinf = —cos(§ — ) and sin(§ +6) = cosf = sin(5 — 6).

~ o~ o~ o~ o~ o~ o~ o~

viii) cos(6 + 2km) = cosf, sin(f 4+ 2knw) = sin 6, for any real 6, integer k (this is called periodicity
of sine and cosine).
Proof: See Theorem 1.12 for relevant properties of the exponential. We will make extensive use of
Euler’s formula in Definition 6.2.
The calculation
cos(—0) + isin(—0) = e~ = ¢ = ¢ = cos(f) + i(—sin(h))
implies Properties 6.3(i) and (ii).

cos( + ) 4 isin(d + m) = ! 0T™ = ¥ei™ — ¢9(_1) = (—cos(0)) + i(—sin(f))
implies Properties 6.3(iii) and (iv).

Property 6.3(v) follows from Euler’s formula, since 1 = |e??|2, by Corollary 1.13, while (vi)
follows immediately from (v).

For (vii), make two calculations:
cos(ng)Jri sin(gfﬁ) = e(570) = ¢i5 10 — jeif — jeif = i(cos B 4 isin ) = i(cos —isin f) = sin f+i cos O
and
cos(g +0)+ isin(g +0) = 3H0) = 136 — j(cos§ + isinf) = (—sinf) + i cos b,
thus, equating real and imaginary parts gives the results.
For the periodicity (viii), write
cos(0 + 2km) + isin(f + 2kn) = ' 0F2hT) — gi02hmi _ (if (62”)k = e%1F = ¢ = cosf + isin#,

as desired. 0
We similarly get quick algebraic proofs of less-believable formulas for sine and cosine.
Proposition 6.4. Let 6,% be arbitrary real numbers.

(i) cos(0 + 1) = cos @ cosp — sinfsin .

(ii) sin(f 4 ©) = sin O cos ) + sinp cos 6.

(iii) (cos ) (costp) = 2(cos(0 + ) + cos( — 1p)).
(iv) (sin@)(sinv) = 1(cos(d — ¥) — cos(0 + 1)).

(v) (sin@)(costp) = L(sin(f + 1) + sin(6 — ¥)).

( )? =

(

vi) (cosf (1 + cos(26)).
1

vii) (sin6)? = (1 — cos(26)).
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(viii) cos@ = L (e + e~%).

2
(ix) sinf = L (" — e=).

Proof: For (i) and (ii), calculate
cos(0 + ) +isin(0 + ) = 0T = Wi — (cosf + isin 0)(cos ) + isinh)
= (cosfcostp —sinfsine)) + i (cosfsin + sinf cos ) ,
so that equating the real and imaginary parts gives both sum-of-angles results simultaneously.

(iii) and (iv) follow from (i) and 6.3(i) and (ii); (v) follows from (ii) and 6.3(i) and (ii). (vi) and
(vii) are (iii) and (iv) with 8 = 1. (viii) and (ix) follow from Euler’s formula. O

Examples 6.5. Let’s get some explicit sines and cosines.

From DRAWING 6.2 at the end of this chapter,
3T

= 0, sin( 5 )

3
cos(0) = 1 = cos(27),sin(0) = 0 = sin(27), cos(g) = 07sin(g) = 1,cos(m) = —1,sin(w) = O,COS(?F)

From Examples 2.9, e'7 = %(1 + 1), thus

cos(~) = \% = sin()
By 6.3(vii), 3 1 3r 1
cos(p) =75 () =%
By 6.3(i) and (i), 1 ™ 1
ws(—3) = 75 P =75

The sines and cosines of & and % will follow from 6.3 and Theorem 1.12, as follows.
Denote a = cos(§) and b = sin(F).

Since Z = (g -

z ), 6.3(vii) implies that

=2l

cos(g) =b and sin(g) =a,
thus, by Theorem 1.12,
(a? — b?) + i(2ab) = (a + ib)* = (el%)2 =¢e'5 = (b+ia),

so that 2ab = a, thus
6.3(v) now implies that

See also Examples 7.11(e) and HWIL.11(g).

Let’s expand our limited knowledge a little more:

/ 1 /1 /
cos( 1 + cos( —2 and sin( 2 (1 — cos( 1 - —

from 6.4 (vi) and (vii)



COS(17T2) = cos(g %) = cos(g)cos(fg) - sin(g)sin(fg) =3 X 75 X (7—2) = WAk
sin(%) = Sin(g — g) = sin(g)cos(—%) —&-cos(g)sin(—%) = ? X % + % « (_%) _ \/23\/—517

by 6.4 (i) and (ii) and 6.3 (i) and (ii).

We could also get cosine and sine of 75 as we did with &:

cos( 12 \/ 1+cos \/ 1+— and sin( \/ 17cos U 17—

from 6.4 (vi) and (vii)

Notice how different looking our two different expressions for sine and cosine of 75 are.

Recall the equating of vectors and complex numbers, as in 1.16 and the comments before Propo-
sition 4.14.

Proposition 6.6. The dot product of the vectors r1e?t and r€%? is ri79 cos(f1 — 62).
Proof: Proposition 4.14 and Euler’s formula 6.2. O

Definition 6.7. cos™!, the inverse cosine function is defined by
cos_ly:m <~ coszr=yand 0 <z <m;

that is, cos™! y is the number between 0 and 7 whose cosine is y.
More succinctly (see Appendix 0.3 and DRAWING 6.4 at the end of this chapter),

cos™ = (cos [g,x])

Remarks 6.8. See Appendix Four for a different definition of cos™!, cos, sin, and exponential, in
that order, via integration.

Most calculators have cos and cos™! buttons, for decimal approximations, along with a choice
of degrees or radians.

Theorem 6.9. The measure of the angle between vectors @ and bis given by
=1
0871 (L) .
llallllo]

Proof: By Lemma 2.8 and the periodicity of e, we may write @ and b in polar form rie*t and
r2€"%2 with 0 < 6; < 6, < 6, + 27, as in Definitions 2.10.

From Proposition 6.6, with r, = ||@||, 7> = ||b],
ab
(_ﬁ> = cos(fy — 01) = cos(2m — (02 — 61)).
lalll[oll

By Definitions 2.10, (f;—0;) is the measure of the counterclockwise angle from @ to b and (27 — (65 — 61))
is the measure of the clockwise angle from @ to b (see DRAWING 2.14 at the end of Chapter II).
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Since those angle measures add up to 27, the smaller of them is the angle between 0 and 7 whose
cosine is ( a:b ) ; that is,
=1
[lallllo]

lalel
is the smaller of those two angle measures. O

The following should be compared to Proposition 4.15.

-

Corollary 6.10. If @ and b are two nontrivial vectors, then (@-b) > 0 if and only if the angle

between @ and b has measure less than %

Proof: For 0 < 6 < 7, the definition of cosine implies that
(%) cosf >0 < 0<g.
Denote y = cos 6, then § = cos™! y, so (*) becomes

(k%) y>0 < cosfly<g.

Thus, for # defined to be the measure of the angle between @ and b, by (**),

. i b q-b
Ei~b>0<:>y<iL H>>O<:>0cos1<f H><7T.
Il [1al][®l] 2

Examples 6.11. (a) Find the measure of the angle between < 1,2 > and < —3,1 > .

(b) Find the measure of the angle between < —1,1 > and < 0,—1 > .

Solutions. (a) We need norms and dot products:

<1,2>-<-31>=-342=-1, |[<1,2>|=V1+4=V5 | <-3,1>|=v9+1=10,
: -1 —1 el =1
thus, by Theorem 6.9, the angle measure is cos (m) = cos (ﬁ) .

From a calculator, a decimal approximation is 1.713 radians (notice that this is greater than 7,
since the dot product is negative) or 98.13 degrees (notice that this is greater than 90 degrees).
(b) ==l =<0_1> —%. We already know, from Examples 6.5, that cos(%) = —L; reflecting

[<=TI>M<0,=1>T ~ 4 v
through the y axis (see 6.3(vii) and DRAWING 6.5 at the end of this chapter) tells us that cos(2F) =

—%7 so that our angle measure is

Remark 6.12. Theorem 6.9 provides another proof of Proposition 4.15 (a) <= (d), equating
orthogonality of vectors @ and b with the angle between @ and b being 7.

Remarks 6.13. (a) See Proposition 4.15 for other characterizations of orthogonality.

(b) The periodicity of cosine and sine (6.3(viii)) causes them to be good models of waves, such as
sound waves and electromagnetic waves, including light and radio. See DRAWING 6.6 at the end
of this chapter for cosine.
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A general function describing waves is

f(z) = Acos(yz — v),
where A and «y are positive real numbers and 1) is real. A is called amplitude, v corresponds to
frequency, and 1) is a phase shift. For example, if f(x) is describing sound, A corresponds to
volume and ~ to pitch.
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HOMEWORK

HWVI.1. Use the expression from the proof of Theorem 6.9:

( fli ) = cos (61 — 62)
llalll|ol]

to prove the Cauchy-Schwarz inequality

|a- b] < {|all[|o]

for any vectors d, b.

HWVI.2. Use the Cauchy-Schwarz inequality in HWVI.1 to prove the triangle inequality

lla + ol < [|a]| + [[oll
for any vectors a, b. See DRAWING 1.5 at the end of Chapter I for the “triangle” part of this
inequality.

The triangle inequality is stating the popular cliche about the shortest distance between two
points being a straight line.

HWVI1.3. For each of the following, find the sine and cosine of the given angle measure . See
HWIIL11.

HWVI.4. For arbitrary integers k, get a general expression for the sine and cosine of k3. Your
answer should have ks in it.

HWYVL5. Get exact expressions (no calculator appproximations) for the sines and cosines of the
following angles.

a) %’T

b) =

(
(
(c) -
(d) 35-
() —15-
(

) 181

HWVI.6. For each of the following pairs of vectors, find the measure of the angle between them.
(a) < —1,1 > and < 1,1 > (compare with HWII.12).

(b) < 1,2 > and < —3,1 > .

() < —1,-2>and < —14+2V3,—V/3 -2 >.
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HWVIL.7. (a) Use the Pythagorean theorem and Definition 4.6 to show that, for any vectors a, 5,
@]l > [[projz(@)]l.
Don’t use the Cauchy-Schwarz inequality or Corollary 4.12.

(b) Use (a) and our algebraic expression Corollary 4.12 for proj;(@) to prove the Cauchy-Schwarz
inequality in HWVI.1.

(This proof works in more than two dimensions; see “Linear Algebra, or E Pluribus Unum,”
http://teacherscholarinstitute.com/FreeLinear AlgebraBook.html (2017), 6.26, page 428.)

HWVI.8. Suppose ||@+ b|| > ||@ — b]|. What can be said about the measure of the angle between
a and b? Compare this with Proposition 5.6 and HWIV.11, then restate our result in terms of
parallelograms.

HWVI1.9. Norms and dot products are numbers associated to vectors or pairs of vectors. Here
we’'ll look at how much a pair of vectors @, b is specified by identifying |||, ||b||, and @ - b. Informally,

this result says that @ and b are determined up to rotation, which is the effect of multiplying by e*
(see Theorem 2.13).

Prove the following. Suppose a,b, and ¢ are real numbers, with ¢ and b nonzero, and @ and b are
vectors such that
ld@| =a, 6] =b and a@-b=c.
Then there’s real 6 so that
b=0be? and @= ae'0F0)

where 6 = cos™(5).
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HOMEWORK ANSWERS

HWVL1.
i

|—| s(0h —02) | <1,
@ ||Hb||
by 6.3(vi).

HWVI.2.
LN\ 2
1@+ 817 = Nla@l* + 1Bl +2(@- 5) < |a@ll* + 16]> + 2(llall1b]) = (||5i|| + Hbll) :
by 4.5(d) and the Cauchy inequality, in that order.
HWYVIL.3. (a) cosine is 1, sine is 0.

(b) cosine is —1, sine is 0.
(c) cosine and sine are both —%.
(d) cosine and sine are both %
(e) cosine is 0, sine is —1.
(f) cosine is —1, sine is 0.
HWVI1.4. In the following, m is an arbitrary integer.
The cosine equals
1, for k=4m, 0, for k=1+4m or k =3+ 4m, —1 for k = 2 + 4m.
The sine equals

0, fork=4mor k=244m, 1, for k=14 4m, —1 for k = 3 + 4m.

g

HWVL5. (a) 6.3(vii) or 6.4(i) and (i) lead to cosine equal to —% and sine equal to %

(b) from (a) and 6.3(vii) or 6.4(i) and (ii) or 6.3(iii) and (iv), cosine equals —?, sine equals —3.

(c) from 6.4(vi), cosine equals —y/1(2 — , sine equals 1/1(2 + v/3), OR, by 6.4(i), cosine equals

2\[( —/3) and sine equals —(1 + \f
(d) from 6.3(vii) and (c), OR 6.4(i) and (ii), cosine equals 2\[(\[ 1) and sine equals 5 (1+\f)
(e) from 6.3(i) and (i), and (c), cosine equals —y/%(2 — v/3) and sine equals —/%(2 + V/3).

_(1+v3) (1-v3)
22 2v/2

(f) from 6.3(iii) and (iv) and Examples 6.5, cosine equals and sine equals

HWVL6. (a) Z (b) cos (=

. 57) ~ 98.1 degrees (c) § or 60 degrees.

HWYVL.7. (a) By definition of projection, bis orthogonal to (@ — projz(@)) , thus, by the Pythagorean

theorem,
a@l* = [1@ — projz(@)[|* + [lprojz(@)|* > [[projz(a)||*.

(b) By Corollary 4.12 and (a),
; @bl - |a- b\
) bl = 16l =

@l = [[projz(@)]l = |l (
1612 18l

16]2
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HWVI.8. By 4.5(b) and (d),
|a@+b]| > [|a—b] <= [|a+b]* > ||a-b|* <= [al|*+|Bl>+2(@-b) > [|@)*+]|b]|*~2(d@-b) <= (a-b) > 0,

which, by Corollary 6.10, is equivalent to the angle between @ and b measuring less than 7.

This is similar to Proposition 5.6 and HWIV.11, which says that ||@ + b|| equal to ||@ — b|| is
equivalent to the angle measure between @ and b being equal to 7.

Proposition 5.6 is actually a statement about diagonals in a parallelogram. Here is the result of
this problem stated in terms of diagonals in a parallelogram: In a parallelogram, the longer diagonal
goes between the interior angles of smaller measure. See DRAWING 5.5 at the end of Chapter V
for a picture of the diagonals of a parallelogram.

HWVL.9. Lemma 2.8 gives us b=be? and G = ae’¥, for some real 6 and 1. By Proposition 6.6,
c=a-b=abcos(d — 1)
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DRAWING 6.4
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CHAPTER VII: Trig and Triangles, Law of Cosines, Law of Sines.

The previous chapter defined trig (short for trigonometry or trigonometric) functions cosine
and sine as the real and imaginary parts of the exponential function restricted to the imaginary axis
(Definition 6.1).

In this chapter we will relate the trig functions, at least for angles that measure between 0 and
%, to certain triangles (Theorem 7.5). We will begin with the Law of Cosines (Theorem 7.1). This
will give a quick proof of our triangle characterization of trig functions, which we will apply, after
some examples, to the Law of Sines (Theorem 7.7). The Law of Cosines and the Law of Sines are
powerful results about triangles; for an indication of their power, see, for example, Chapter X.

The Law of Cosines will be proven with the dot product (Definition 4.1). The Law of Sines will
also follow from novel results about angles appearing in different ways in a circle (Theorem 7.14),
which have numerous other applications.

We have already observed (Definitions 2.3 and DRAWING 2.8(a) at the end of Chapter II) that
triangles may be described by vectors (two are sufficient, three are sometimes desirable); this will
enable us to get the superpowers of the dot product into play.

Theorem 7.1: Law of Cosines. If a,b,c are the lengths of the sides of a triangle and 6 is the
measure of the angle opposite the side of length ¢, then
2 =a®+b* — 2abcosb.

See DRAWING 7.1 at the end of this chapter.

Proof: Represent the triangle by vectors a, 5, ¢, with
a = [|all,b=[|b]l, c = [lell,

and b having the same initial point; denote, as usual, by 6 the measure of the angle between b and
(see DRAWING 7.1 at the end of this chapter).

ST

Then, by 4.5 and Theorem 6.9,
A =|a—b|>=(@—b)-(@—b) =a-d+b-b—2a-b=|a@|>+|b||> - 2||@||||b]| cos 6 = a>+b* — 2abcos 6.
([l

Examples 7.2. In each of the drawings in DRAWINGS 7.2 at the end of this chapter, fill in, if
possible, the missing length of side. In (a), also get the missing angle measurements.

We will show later (Examples 7.11(e)), using triangles, that cos(3) = 3; see also Examples 6.5
and HWIIL.11(g).

Solutions. (a) Let c be the length of the side opposite the angle of measure 5. The Law of Cosines
says
™

? :32+42—2~3-4cos(3) =13,
thus the missing side has length +/13.

For the missing measures, we can also use the Law of Cosines:
5

32=c24+42-2.4.ccos(d 9=134+16 — 8V 13 cos(f cos(f) = —,
(61) — % (1) — cos(61) Wit

so that (applying cos™!)
0, ~ 46 degrees.
We could get 0, similarly, but it’s easier to use the fact that the angle measures add up to 180

degrees:
0 = 180 — (60 + 46) = 74 degrees.
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We will show, in Chapter X (Theorems 10.4 and 10.6), that, given the lengths of two sides
and the measure of the angle between those sides (called SAS: side-angle-side), a unique triangle
with those measurements always exists, with the remaining side calculated uniquely by the Law of
Cosines.

(b) Let a be the unknown side length. By the Law of Cosines,
52 =a®+6*—2a- 6005(%),
so that a satisfies the quadratic equation
a* —6a+11=0.
By the quadratic formula (Definitions 0.6),

1
o= [64 V36— 4] =34 V-2 =3+

that is, no real solution of the quadratic equation exists.

This means there is no such triangle as we drew in DRAWINGS 7.2(b) at the end of this chapter.
Apparently drawings can lie.

The information in DRAWINGS 7.2(b) at the end of this chapter is an example of SSA: side-
side-angle; it is more confused when the known angle is not between the two known sides. We have
just seen that there might be no such triangle. It is also possible to have exactly one such triangle
(see DRAWINGS 7.2(c) at the end of this chapter), and it is possible to have two such triangles (see
DRAWINGS 7.2(d) at the end of this chapter). See Chapter X, especially Theorem 10.7.

Remarks 7.3. Choosing 6 = 7 in the Law of Cosines yields the Pythagorean Theorem (Proposition

4.15). Choosing another angle measure equal to 5 will also, for angle measures between 0 and 7,

produce an equivalent definition of sine and cosine in Theorem 7.5.

The Law of Cosines (Sines) relates cosines (sines) to lengths of sides in a triangle. For positive
angle measures less than 7, sine and cosine may be, equivalently to Definition 6.1, defined in terms
of certain triangles.

Definitions 7.4 An angle of measure 5 is sometimes called a right angle. A right triangle is a
triangle that contains a right angle.

The hypotenuse of a right triangle is the side opposite the right angle. The legs are the other
two sides of the right triangle.

Here is a convenient place to mention one more trig function, the tangent:

in 0
tanf = tangent of 0 = St
cosf

(0 real).
See DRAWING 7.3 at the end of this chapter.

It is also convenient to mention here an angle that arises often in practice. The angle of
elevation from one object to another object that is higher above the ground is the angle between
a horizontal line through the lower object and the line from the lower object to the higher object.
See DRAWING 7.4 at the end of this chapter.

Theorem 7.5. For any right triangle, denote by ¢ the length of the hypotenuse, by a and b the
lengths of the legs, and by 6 the measure of the angle between the hypotenuse and the side of length
a.

Then

cos @ = — (“adjacent over hypotenuse”) sinf = — (“opposite over hypotenuse”)

ole

(SR~
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and )
tanf = o (“opposite over adjacent”).
See DRAWING 7.5 at the end of this chapter.

Proof: By the Law of Cosines applied to DRAWING 7.5 at the end of this chapter,
b2 = 2 4 a® — 2accosb,
so that, by the Pythagorean theorem,
E+a®-0 P+ +d*-1 a

cosf = = -2
2ac 2ac c

Thus b
- = cos(z —0) =siné,
c 2

by 6.3(vii) and Proposition 3.9. O

Examples 7.6. (a) Get sines, cosines, and tangents, of the angle measures 6; and 5 in DRAWINGS
7.6(a) at the end of this chapter.

(b) Find the angle measure 6 in the triangle in DRAWINGS 7.6(b) at the end of this chapter.

(¢) Suppose the measure of the angle of elevation to the top of a tree is 85 degrees, when you stand
10 feet from the base of the tree (see DRAWINGS 7.6(c) at the end of this chapter). Find the height
of the tree.

(d) Suppose now your tree (or the tower of a medieval castle, if you prefer) is surrounded by a moat
of unknown width. You measure the angle of elevation to the top of the tree at the edge of the moat
to be 80 degrees, and the measure of the angle of elevation 20 feet away from the moat to be 40
degrees. See DRAWINGS 7.6(d) at the end of this chapter.

Find the height of the tree and the width (labeled w in DRAWING 7.6(d)) of the moat.

See DRAWINGS 7.6 at the end of this chapter.

Solutions. (a) The Pythagorean theorem implies that the hypotenuse is of length 5, thus we may
use Theorem 7.5. sin(f1) = cos(f2) = 1; sin(62) = cos(61) = 2. tan(f1) = 5, tan(fy) = 3.
(b) sin(f) = & = 1, thus, since sin(§) = 3, the answer in degrees is § = 30 degrees. Or we could
have used a calculator, to get sin™*(0.5)) # = 30 degrees.

(¢) 1ol = tan(85 degrees), thus

H = 10tan(85 degrees) feet ~ 114 feet.

(d) As with (c),
H = (20 + w) tan(40 degrees) ~ (20 + w)0.84 and H = wtan(80 degrees) ~ 5.67w.
There are many ways to solve for H and w. Let’s set the two expressions for H together:
(20 + w)0.84 = 5.67w — 16.8 + 0.84w = 5.67w — 16.8 = 4.83w — w ~ 3.48,
so that H ~ 5.67 x 3.48 = 19.7; height 19.7 feet, width of moat 3.48 feet.

See Examples 7.9 for an easier way (using the Law of Sines) to do (d).
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Theorem 7.7: Law of Sines. If a triangle has sides of length ¢, g, c3, and, for j = 1,2,3,0; is

the measure of the angle opposite the side of length c;, then
C1 Co C3

sinf; sinf sinés’

Proof: Label the sides of the triangle as vectors ¢, ¢s, €3, with
Gl =¢j §=1,2,3,
numbered so that ¢ is the longest side:
c1 > ¢ and ¢1 > c3.

For j =1,2,3, let P; be the vertex opposite the side ¢;.
See DRAWINGS 7.8(a) at the end of this chapter.

Note first that projz (Pr) is on the line segment P, P3; that is, in DRAWINGS 7.7(a)—(c) (see

end of chapter), both (b) and (c) are impossible, for the following reason:

By the Pythagorean Theorem, in DRAWINGS 7.7(b) ¢3 > ¢;1, while in DRAWINGS 7.7(c)

¢g > c1; in either (b) or (¢), ¢ is not the longest side.

Finally, let
h = ||P1 — projg, (P1)|l, di = [Pz — projz (P1)ll, d2 = ||P3 — projz, (P1)]-
See DRAWINGS 7.8 at the end of this chapter. Note that ¢; = (dy + da).

Theorem 7.5 implies that
h h
sin(fy) = — and sin(f3) = —.
C3 C2
Solving for A in the first equation, and substituting into the second equation gives us
in(6
sin(f3) = cs sin(0) 2),
C2
which implies that
C2 C3
sinf,  sinf (*)
2 S Us
By (6.3), (6.4), Theorem 7.5, and Proposition 3.9,

1 C1 . (dl + d2) B (d1 + dg)
sinf;  sin(m — (o +63))  sin(fa +63)  ((sinfy)(cosb3) + (sinf3)(cos b))
_ (d1 + ds) . cocs(dy + d2) . (Cj) . C2
(@)@ &) M Ed) R gy

combined with (*), this concludes the proof.

<
sin 6

Remark 7.8. For a right triangle, the Law of Sines follows from Theorem 7.5, with
the length of the hypotenuse, j = 1,2, 3.

]

equal to

Examples 7.9. (a) Find all missing lengths of sides and measures of angles, up to two decimal

places, in DRAWINGS 7.9(a) at the end of this chapter.

(b) Answer Examples 7.6(d) using Law of Sines.

(c) Without getting wet, you wish to know the width of a stream. From two places 100 feet apart
on the edge of the stream, you measure the angle to a tree on the opposite side, as in DRAWINGS

7.9(c) at the end of this chapter.

Find the width of the stream (see red drawings in DRAWINGS 7.9(c) at the end of this chapter),

and the distances from your two places to the tree on the opposite side.
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Solutions. (a) Let ¢; be the length of the side opposite the angle of measure 7, and let c3 be the
length of the remaining side.
The missing angle measure, call it 03, equals 7 — (7 + §) =
By the Law of Sines,

in
12"

C1 50 C3
n® <snZX gnit’
sin 7 sin sin 15

so that, making decimal approximations,

1 7
¢1 =100 x —= ~ 70.71, e = 100 x sin(l—g) ~ 96.50.

V2

(b) See DRAWINGS 7.9(b) at the end of this chapter, where we have labeled all side lengths and
angle measures.

By the Law of Sines, applied to the triangle on the left with sides of length cq, c2, 20, we also
have ¢; = 20. (More generally, see Theorem 7.10(a) <= (c), an application of the Law of Sines to
isosceles triangles.)

Now we may focus on the right triangle on the right of the picture:

H
sin(80 degrees) = 20~ H = 20sin(80 degrees) ~ 19.70; similarly, w = 20 cos(80 degrees) ~ 3.47.

(¢) See DRAWINGS 7.9(c) at the end of this chapter, where the missing angle measure is

(27r n 7T) s
T—(—+-)=—.
3 4 12
By the Law of Sines,

C3 Co 100

~ 386,
sin(2F)  sin(§)  sin(f)

thus

T

2
cg ~ 386 sin(%) ~ 334 and cy ~ 386 sin(4) ~ 273.

Those are the distances (in feet) to the tree, from the two points where we made angle measurements.

The width of the stream (see the last drawing in DRAWINGS 7.9(c)at the end of this chapter)
is now seen to be -

273 sin( 3) ~ 236 feet.

Examples 7.2, 7.6, and 7.9 are excellent detective work. Examples 7.9(c), for example, gets
extensive information about the river and its opposite side, all while staying on one side of the river
high and dry.

Recall the definition of an isosceles triangle in Chapter V (Definition 5.9). The following theorem
gives many characterizations of being isosceles. Note that the equivalence of (a) and (c) in Theorem
7.10 shows that we could have equivalently replaced “side” with “angle” in the definition of an
isosceles triangle.

See Definitions 3.11 for the definition of “midpoint” and “bisect.”

Theorem 7.10. Let P, @, R be the three vertices of a triangle (see DRAWINGS 7.10 at the end of
this chapter). Then the following are equivalent.

— —
(a) [PR| = [[QR]|.

(b) The orthogonal projection of the vertex R onto the opposite side P_Cj is the midpoint of P—Cj
(c) The measure of the interior angle at P equals the measure of the interior angle at Q.

(d) The line segment between R and its orthogonal projection onto P—Q) bisects the interior angle at
R.
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Proof: The equivalence of (a) and (b) is Theorem 5.10.

Label angle measures 6,5 = 1,2, 3, as in the second page of DRAWINGS 7.10, at the end of
this chapter.

(¢) — (a) follows from the Law of Sines. The converse (a) — (c¢) almost immediately follows from the
Law of Sines: (a) implies that sin(f;) = sin(62), which implies (see 6.3(ii) and (iv) and DRAWING
6.1 at the end of Chapter VI) that

91:92 OR 02:7'(—01.

But 03 = m — 07 implies that 83 = 7 — (62 + 61) = 0, not much of a triangle. Thus 6; must equal 05,
the assertion of (c).

So far we’ve shown the equivalence of (a), (b), and (c).

For the equivalence of (c) and (d), let S = projz;, (1?) and label additional angle measures 64, 05,
as in DRAWING 7.11 at the end of this chapter. Note that (b) <= (c) implies that DRAWING
7.11 at the end of this chapter is accurate.

By Proposition 3.9, looking at triangles PSR and SQR in DRAWING 7.11 at the end of this
chapter,

™ ™
91+94+§=7T=§+92+95,

so that 0; = 0, <= 04 = 05; the latter equality is (d), while the former is (c), so that (c¢) and (d)
are equivalent. (Il

Examples 7.11. In (a)-(d) of DRAWINGS 7.12 at the end of this chapter, label, where possible,
missing side lengths or angle measures.

T T

(e) Use Theorem 7.10 and 7.5 to get sine and cosine of 7, %, and §.

Solutions. (a) By Theorem 7.10(a) <= (c), 62 = 72 degrees, thus 6; = 180 — 2 - 72 = 36 degrees.
From the Law of Cosines,

52 =52 +5% —2.5-5c08(36) — s ~ 3.1.

(b) Again by Theorem 7.10(a) <= (c), s; = 7. The measure § = 180 — 2 - 40 = 100, so, as with
(a),

$2=T2+7%—2.7-Tcos(100) — s3 ~ 10.7.
We remark that (a) and (b) could also be done with the Law of Sines.

(¢) By Theorem 7.10(a) <= (d), ¢ = 32 degrees, thus s; = 10cos(32) ~ 8.5, and both so and s3
equal 10sin(32) ~ 5.3.

(d) By Theorem 7.10(a) <= (b), 01 = 0 = 5. By Theorem 7.10(a) <= (c), 05 = 0g; by (a)
< (d), 64 = 65. Finally, focus on either half of the picture:

7
cos b5 = 6 05 ~ 64 degrees — 04 = (90 — 64) = 26 degrees.

(e) By Theorem 7.10(a) <= (c), cos(}) = sin(}) = z, so (see DRAWINGS 7.12(e) at the end of
1

this chapter), by the Pythagorean theorem, 2 + 22 =1 — 2 = 7

For sine and cosine of %, denote 2 = cos(5) = sin(g),y = cos(§) = sin(%); see DRAWINGS
7.12(e) at the end of this chapter, where we have drawn a right triangle whose hypotenuse is length
1, base is x, height is y.

As drawn in DRAWINGS 7.12(e), paste a reflection of our original triangle on its right, to form
a triangle all of whose angle measures are §. By Theorem 7.10(a) <= (c), all the side lengths are
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equal, hence equal to 1. By Theorem 7.10(a) <= (b), the base of the original triangle is 1; thus
T = % Now apply the Pythagorean theorem to the original right triangle:

12 9 \/g
- -1 -2
(2) +y - Y=

See also Examples 6.5 and HWIL.11(g).

If we use both the Law of Cosines and the Law of Sines, we may improve Theorem 7.10(a) <

(c).

Corollary 7.12. In a triangle, one angle measure is greater than or equal to another angle measure
if and only if the length of the side opposite to the first angle is greater than or equal to the length
of the side opposite to the second angle. See DRAWING 7.13 at the end of this chapter.

Proof: Denote by 61,0, the two angle measures being compared, and, for j = 1,2, let ¢; be the
length of the side opposite 6; (see DRAWING 7.13 at the end of this chapter).
Suppose 01 > 0.
If 61 > 3, then by the Law of Cosines, letting c3 be the length of the third side,
el =ci+c2—2coczcos6 > ch+ e3> e,

since cosfy < 0, so that ¢; > co.
If 61 < 3, then 6 > 03 implies sin#; > sin 6, thus by the Law of Sines,

(sin 91)
c1=cC| = > Ca.
sin 6y
Conversely, if 0 > 6, the same argument shows that ¢y > ¢;. Thus ¢; > ¢y implies that
01 > 05. O

Definitions 7.13. We have defined angles in terms of arclengths of circles; this means an angle is
formed by the center of a circle and two points on the circle (Definitions 2.10). We could also form
an angle by replacing the center with a third point on the circle. In this picture (DRAWING 7.14 at
the end of this chapter), the angle formed at the center is called a central angle, while the angle
formed at the third point is called an inscribed angle.

See DRAWING 7.14 at the end of this chapter, where the center of the circle is C, the initial
points on the circle are @ and R and the third point on the circle is P; thus the inscribed angle i
— — — —
is between PQ and PR while the central angle 6 is between C'() and C'R.

Theorem 7.14. Given any pair of points () and R on a circle, the central angle formed by them
measures twice the measure of the inscribed angle formed by them with a third point P on the circle;
that is, 6 = 2¢, in DRAWING 7.14 at the end of this chapter.

Proof: Throughout this proof, the points C, P, @, R are as in DRAWING 7.14 at the end of this
chapter.

— —
CASE 1: PQ or PR contains C.

Withoui?ss of ggl)erality, assume C' is on P’Cj; see DRAWING 7.15 at the end of this chapter.
Since ||PC|| = ||CR)|| (the radius of the circle), Theorem 7.10 implies that ¢ (from DRAWING
7.15 at the end of this chapter) equals 4, thus, by Proposition 3.9,

¢+w+(ﬂ-_6):ﬂ-7
so that 6 = 2.
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CASE 2: (' is enclosed by P—Cj7 P_}%, and the counterclockwise arc from R to @, as in DRAWING
7.14 at the end of this chapter and DRAWINGS 7.16 at the end of this chapter.

Add, to DRAWING 7.14 at the end of this chapter, the diameter consisting of the line segment
PC, extended to the point on the circle opposite P; see DRAWINGS 7.16 at the end of this chapter,
including labels for measures of angles that follow from Case 1.

By Case 1, 2¢p = 241 + 292 = 01 + 03 = 0. See DRAWING 7.16 at the end of this chapter.

CASE 3: C is outside the subset of R? enclosed by P_C)Q, P—]:Z, and the counterclockwise arc from R
to @, in DRAWING 7.14 at the end of this chapter; see DRAWINGS 7.17 at the end of this chapter.

Add on the same diameter that we did in Case 2; see DRAWINGS 7.17 at the end of this
chapter, where we have labeled measures of angles that follow from Case 1.

By Case 1, 2(¢) 4+ 1) = 0 4+ 2¢p; — 2¢) = 6. See DRAWING 7.17 at the end of this chapter. [

We may generalize Theorem 7.14 considerably in Theorem 7.15, in each part by drawing an
extra line. First let’s reformulate DRAWING 7.14 at the end of this chapter and the conclusion of
Theorem 7.14 in terms of arclength (see Definitions 2.10), on a circle of radius r: see DRAWING
7.18 at the end of this chapter.

Theorem 7.15. Suppose the circles in DRAWINGS 7.19 and 7.20 at the end of this chapter are
both of radius r.

(a) In DRAWING 7.19, 0 = (¢ + ¢).

(b) In DRAWING 7.20, 0 = (¢ — v).
Proof: DRAWING 7.21 at the end of this chapter is DRAWING 7.19 with one additional line, and
the angle measures that then follow from Theorem 7.14, added; the same relationship holds between
DRAWING 7.22 at the end of this chapter and DRAWING 7.20.

As drawn in DRAWINGS 7.21 and 7.22, all that remains is to use the facts that the sum of the
measures of angles in a triangle is 7 (Proposition 3.9) and the sum of supplementary (see Proposition
3.6) angle measures is . ]

N[

Examples 7.16. In each of the examples in DRAWINGS 7.23 at the end of this chapter, find the
measure of the angle 6.

Solutions. (a) Since r = 4, the angle measure ¢ in DRAWING 7.19 at the end of this chapter is
5% Since ¢ in DRAWING 17.19is 0, § = £¢ = 3%

OR we could have used DRAWINGS 7.18 at the end of this chapter.
(b) Since 7 = 8, we now have ¢ = 7,9 = %, s0 0 = %(g +3)= ?{—g.

(c) Now ¢ = 22 and ¢ = I, but 6 is outside the disc, so 0 = 3(35 — %) =

Ju
[~}

(d) We could use Theorem 7.15(a) with ¢ = ¢ = 2T, or we could use the original definition of angle
measure (2.10), to get 6 = 3T,

We may also use Theorem 7.14 to embellish the Law of Sines (Theorem 7.7), as follows, specifying
what the common ratio of side length to sine of opposite angle measure is.
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Theorem 7.17. If there is a circle of radius r that contains the vertices of a triangle, then the
common ratio from Theorem 7.7, of length of side to sine of measure of angle opposite side equals
the diameter 2r; that is (terminology from Theorem 7.7),

¢

=2r, j=1,2,3.
sinﬁj " J

Proof: Let C be the center of the specified circle. Let ¢;,c;,0;, P;,j = 1,2,3, be as in the proof of
Theorem 7.7. See DRAWING 7.24 at the end of this chapter, where we have added on the central
angle measuring 20; guaranteed by Theorem 7.14.

By the Law of Cosines (Theorem 7.1),
2 = &2 = ||CP|2+]|C B2 —2||CP5 | [ CPs | cos(261) = 2r2—2r2 cos(2601) = 2r*(1—cos(261)) = 4% sin®(6,),

by 6.4(vii); thus

a_ _ 2r
sin 91 '

co

. ca
The same argument applies to - s and o e O
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HOMEWORK

HWVII.1. Get the sines, cosines, and tangents, of the angles of measure 8; and 05, in DRAWING
7.25 at the end of this chapter.

HWVIIL.2. Where possible in DRAWINGS 7.26 at the end of this chapter, find missing lengths of
sides and measures of angles.

HWVIIL.3. Suppose that, when you are 50 meters from a skyscraper, the angle of elevation from
your feet to the top of the skyscraper has measure 60 degrees.

Get the height of the skyscraper. See DRAWING 7.27 at the end of this chapter for a pictorial
hint.

HWVII.4. Suppose now that the skyscraper has a rectangular front and has a rectangle of broken
glass perpendicular to the front of the skyscraper. At the edge of the broken glass, the angle of
elevation from your feet to the top of the skyscraper is 88 degrees. 100 meters away from the edge
of the broken glass, the angle of elevation from your feet to the top of the skyscraper is 70 degrees.

Get the height of the skyscraper and the width of the broken glass in front of it. See DRAWING
7.28 at the end of this chapter for a pictorial hint.

HWVIL.5. A triangle is equilateral if each of its sides has the same length. Show that a triangle
is equilateral if and only if each of its vertices have interior angles of the same measure.

HWVIL.6. In DRAWINGS 7.29 at the end of this chapter, find all missing lengths of sides and
measures of angles, where possible.

HWVIL.7. In each part of DRAWINGS 7.30 at the end of this chapter, find the angle measure 6.

HWVIIL.8. Suppose a quadrilateral has all its vertices on a circle. Show that opposite angle
measures add up to 7.

HWVIL.9. Suppose a parallelogram has all its vertices on a circle. Show that it must be a rectangle.

HWVII.10. Suppose a triangle has all its vertices on a circle, with two of its vertices on a diameter
of the circle. Show that the other vertex has a right angle as its interior angle.
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HOMEWORK ANSWERS

HWVII.1. The Pythagorean theorem tells us the length of the vertical leg is 12.

sin(61) = cos(f2) = %;SiH(QQ) = cos(;) = %;tan(@l) = 1—52;tan(02) = %

HWVII.2. See DRAWINGS 7.31 at the end of this chapter.

HWVIIL.3. 50tan(60 degrees) = 501/3 meters, ~ 86.60 meters. See DRAWING 7.32 at the end of
this chapter.

HWVII.4. The height of the skyscraper is sin(88 degrees) (M) ~ 303.91 meters.

sin(18 degrees)
The width of the broken glass is cos(88 degrees) (%) ~ 10.61 meters.
See DRAWING 7.33 at the end of this chapter.

HWVIL.5. Theorem 7.10 (a) <= (c), applied to each pair of sides.
HWVIL.6. (a) s; = 7sin(20 degrees) = s9, 83 = 7 cos(20 degrees), 1 = (180 — 20 — 90) degrees =
70 degrees = 62,05 = 20 degrees, by Theorem 7.10 (a) <= (d).

(b) 51 = 6,0 = 120 degrees, sy = 6v/3 (could be done by Law of Sines, Law of Cosines, or by

chopping up the triangle into two right triangles.
(c) 04 = 05 = 90 degrees; s = 8,03 = cos_l(%) =0g;0, = cos_l(%) = 0,.

HWVIL.7. (a) %’r (b) % (c) % (d) 7.
HWVIIL.8. See DRAWING 7.34 at the end of this chapter.
HWVIIL.9. See DRAWING 7.35 at the end of this chapter.

HWVIIL.10. See DRAWING 7.36 at the end of this chapter.



(73

DRAWING 7.1

()

od

£




DRAWINGS 7.2

(a)

(b)

/3

NO SUCH number a exists
(use Law of Cosines)

179




DRAWINGS 7.2 (continued)

(c)
5
a
l.l
a must ec%uaL L +J13"
(use Law of COSi,nes)
(d)
q
a
/10

a could e%uaL (54J¢") or (5-J¢7)

(use Law of Cosines)




(%)

DRAWING 7.3

k‘jpotenuse
Leg

leqg




/82
DRAWING 7.4

O = measure of angle of elevation to *

DRAWING 7.5

a
GoS, O =5

) b

sin 6 = 4

C b c
tan 6= _gT

(S
-




(a)

(¢)

85°

DRAWINGS 7.6

(b)

(d)

/1O

/83




DRAWINGS 7.7

I$4

(a)

Ca

4

R

(b)

A




185
DRAWINGS 7.8

(a)

O1

(b)




180

DRAWINGS 7.9
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CHAPTER VIII: Congruence and Similarity.

An object might get moved around without changing its size or shape; that is, without changing
length, angle measure, or area. Even though the moved object might consist of different points in
the plane than the original object, we would like to think of it as being the same, in some sense (see
Theorem 8.3).

For a physical model, imagine the object of interest as cut out of cardboard. We can move the
object around on top of the plane, or even (in the case of reflection) in three dimensions before
returning to the plane, so that it occupies different points, yet we have the same piece of cardboard.

Theorem 8.3(a) is a precise statement of the intuition of the last two paragraphs, preceded by
a precise description of the motions we are applying to the desired objects (Definitions 8.1(a), (b),
and (c); see also DRAWING 8.5(a)—(c) at the end of this chapter).

We also discuss a motion (Definition 8.1(d); see also DRAWING 8.5(d) at the end of this chapter)
that preserves shape, but not necessarily size, of an object, in Theorem 8.3(b). Physically, we could
get this effect, at least in our perception of said object, by zooming in or out on that piece of
cardboard from paragraph two representing said object.

The proof of Theorem 8.3 is put off until Chapter IX, which begins with a discussion of matrices,
the fundamental idea in the subject known as linear algebra. The reader who is willing to take
Theorem 8.3 as an intuitive axiom may skip Chapter IX, without jeopardizing geometry. In fact, if
a student prefers to avoid, in addition, the language of functions (Appendix 0), DRAWING 8.5(a)—
(d) at the end of this chapter, along with Proposition 8.5 and the one-line statements of preservation
in Theorem 8.3(a) and (b), provide sufficiently believable postulates to adopt.

Definitions 8.4 contain the definitions of congruent (informally, same size and shape) and similar
(informally, same shape) objects.

Definitions 8.1. Here are the motions (also called actions) of interest: informally, sliding (transla-
tion), rotating, flipping (reflection), and stretching/shrinking (magnification). These can be thought
of as functions (see Appendix 0): writing f for the function representing a motion, if I is a point in
the plane, then the image of I, denoted f([I), is the point after the motion has been applied; that
is, where I is moved to.

We will write I’ for f(I).

Note that these functions may also be thought of as acting on vectors:
f(<on,v >) =<, vy > i fog,0) = (v],vh);

see Definition 9.3 for the consistency of these definitions.
In each of (a)—(d), I is an arbitrary point in the plane and I’ is the image of I.

(a) Given a vector U, the translation by ¢ means I’ = I 4+ ¢. See DRAWING 8.1 at the end of this
chapter.

(b) Given an angle measure § and a point P the (counterclockwise) rotation means I’ is on the

—
same circle centered at P as I, with the measure of the counterclockwise angle from Pl to PI’ equal
to 6. . N L

Equivalently, ||PI|| = ||PI’|| and the measure of the counterclockwise angle from PI to PI’ is
0. See DRAWING 8.2 at the end of this chapter.
In the language of complex numbers,

I'=P+(I—-P)e.
See DRAWING 8.2 at the end of this chapter.
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(c) Given a line ¢, the reflection thru £ means that ¢ is the perpendicular bisector of the line segment
between I and I’ (see Definition 5.8). See DRAWING 8.3 at the end of this chapter.

(d) Given a positive number R, magnification by R moves (a,b) to (Ra, Rb); that is, if I = (a,b),
then I’ = (Ra, Rb). See DRAWING 8.4 at the end of this chapter.

For Q a subset of R?, f a composition of any of the functions of Definitions 8.1(a)—(d),
fE)={f(J)|J is in Q}.

Definition 8.2. The actions of translation, rotation and reflection in Definitions 8.1(a)—(c) and
DRAWING 8.5(a)—(c) at the end of this chapter are called rigid motions.
Theorem 8.3. (a) Rigid motions preserve length, angle measure, and area.

By this, we mean that, if f is a function representing (a), (b), or (c) of Definitions 8.1, then, for
any vectors @, b, polygon (Q,

(1) the length of f(&) equals the length of @; and
ii) the angle between f(@) and f(b) and the angle between @ and b have equal measures; and

(
(iil) the area of f(£2) equals the area of Q.
(

b) Magnification by R preserves angle, multiplies length by R, and multiplies area by R2.
By thif, we mean that, if f is the function representing (d) of Definitions 8.1, then, for any
vectors @, b, polygon 2,
(i) the length of f(@) equals R times the length of @; and
(i) the angle between f(@) and f(b) and the angle between @ and b have equal measure; and

(iii) the area of f(Q) equals R? times the area of Q.
See DRAWING 8.5 at the end of this chapter.

Definitions 8.4. Two sets are said to be congruent if one set may be obtained from the other by
applying rigid motions.

Two sets are said to be similar if one set may be obtained from the other by applying any of
the motions (a)—(d) of Definition 8.1 or DRAWING 8.5(a)—(d) at the end of this chapter.

If f is a composition of the motions (a)—(d) in Definitions 8.1 and ©; and ), are subsets of R?
such that f(21) = Q2 (so that Q7 and Q5 are similar) and w is a subset of € then f(w) is the subset
of 5 corresponding to w and the measure of f(w) corresponds to the measure of w.

By Theorem 8.3, congruent sets have corresponding lengths, angle measures, and areas in com-
mon, while similar objects have corresponding angle measures in common; see Theorem 10.1(b) for
a converse of the latter assertion. Here is a useful consequence of similarity for triangles.

Proposition 8.5. If two triangles are similar, then ratios of corresponding lengths of sides are
equal. That is, suppose T; and T are triangles and f is a composition of (a)—(d) in Definitions 8.1,
with Ty = f(T}). Further suppose that S; and Sy are two sides of T}. Then

ISl _ 1Sl
EARTEAT

It can be shown that rigid motions are the only functions from the plane into itself that preserve
length, angle measure, and area. See Remark 9.14, which shows this under the assumption that the
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function is linear, which is equivalent to being represented as matrix multiplication (see Definition
9.3).

Thus congruence is equivalent to having corresponding lengths, angle measures, and areas in
common. Congruent sets are precisely the ones we think of as being the same, as described in the
first two paragraphs of this chapter. Simple identification of congruence and similarity will be the
theme of Chapter X.
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CHAPTER IX: Proof of Theorem 8.3, via Matrices.

We will study rigid motions by representing them (except for translation) as multiplication of
vectors by certain matrices (see Definitions 9.1 and 9.2).

Definitions 9.1. A 2x2 (“two by two”) matrix is a rectangular array of two rows and two columns

a11 a2
A= , where ay1, a1z, as, ase are numbers.
a1 G22

The rows of A are [an alg] and [agl agg] ; the columns are BH} and [212} .
21 22

A 2 x 1 matrix is a column of two numbers

—

We will write [6 5} = | by and 2 = |9 02 . Either of those matrices can be thought of
an bQ b b1 b2

as the pair of vectors @ =< ai,as >,b =< by,bg > .

Definition 9.2. We may multiply some matrices. If A = G a2 , B= b biz and x and y
as1 Aa22 b21 b22
are numbers, then (see Definition 4.1)
AB = (< all,a12>-<b11,b21 >) (< a11,012>‘<b12,b22 >)_ and A T _ (< a1, a1 > - < 2,y >)
T (< ag1,a22 > - <bip,bar >) (< agr, a2 > < bz, bag >)| y| (K ag1,a22 > <y >)
In the slicker language from Definition 9.1,
C:L:l {51 52} _ (C:Lil'lzl) (C:lil'l_iQ) and c:l:1 2] _ Czr <y >]
a2 (CL2 . bl) (ag . bg) az| |y ag- < T,y >

Definition 9.3. Our interest in matrices is using them to define functions from R? to R2. If A is a
2 x 2 matrix, we want the function f4 to represent multiplication by A. Complicated appearances
arise from the fact that we now have three ways (not including complex numbers) to arrange an
ordered pair of numbers x,y :

sp—l
Define f4 : R? — R? by
/

fA(xvy) = (xl7yl)7 where |:§/:| =A |:x:| .

We may also apply fa to vectors:

!/
fa(<v1,v9 >) =< vj,vh >, where [U,l} =A [Ul} .
U2 U2

In either case, A is called the standard matrix for f4.

We should check that f4 applied to points is consistent with f4 applied to vectors. The definition
—
of f4 on R? necessitates the following definition of f4 applied to directed line segments: if I7T is a
directed line segment representing the vector v, define

T T / /
falT)=I'T", where I' = fa(I),T' = fa(T).
Since T'= I + ¥, it is not hard to show that
T' = fa(T) = fa(I +7) = fa(l) + fa(@) =1 + fa(v),
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—

so that the components of I'T" are f4(¢); thus, when two directed line segments represent the same
vector ¥, their images both represent the vector f4(¥), producing an unambiguous definition of f4
applied to vectors, as desired.

With the standard matrices for rigid motions (to be determined as in Remark 9.13) in mind,
our goal now is the relationships between A and f4.

Definition 9.4. det is short for determinant:

det [

a1

bi| _
as bgil = CL1b2 — a251.

Theorem 9.5. If A and B are 2 x 2 matrices, then det(AB) = (det A)(det B).

bll b12

Proof: Denote A = {au au] and B = {
bar  boo

} . Then
G21 Q22

det(AB) = det {(< ar,a12 > - <biibar >) (< arr, a1z > - < big, bag >)
(< agy,a92 > - < bi1,bar >) (< ag1,a22 > - < byg, bag >)
= (a11b11 + a12b21)(a21b12 + agabaa) — (a21b11 + azobo1)(a11b12 + ai2bzo) =
(a11b11a21b12+a11b11022022 012021 G21b12+a12b21 G22b22) —(a21b11a11b12+a21b11a12b22+a22b21 11012 +a22b21 G12b22)
= (a11511a22522 + a12521a21512) - (a21b11a12b22 + a22b21a11512),
while

(detA)(detB) = (a11a22_a21a12)(b11b22_b21b12) = a11a22b11b22—a11a22021012—a21a12b11b22+-a21a12b21b12.

Amazingly, they appear to be the same. ]

Proposition 9.6. If [ is a point and @ and b are vectors, then the area of the triangle with vertices
II+aI+bis 3|det [a 5’} .

Proof: If @ and b are parallel, we leave it to the reader to show that det [[z' 5] is zero. For the
remainder of the proof, assume @ and b are not parallel.

By Proposition APP1.3 and Proposition APP1.5, combined with Theorem 9.5 and the fact that
the standard matrices for reflection thru an axis (see f and g in Definitions APP1.2) both have

determinants (—1), we may assume that I is the origin and @ =< a1, as > is in the first quadrant;
that is, both a; and as are nonnegative.

First, we will show this proposition when bis horizontal; that is, b=< b1,0 >, for some nonzero
real by.

Note that here |det [d’ 5] | = |b1az| = (base)(height).

There are three cases: (1) by > a1; (2) 0 < by < ag; (3) by < 0. See DRAWINGS 9.1 at the end of
this chapter.

Using Corollary APP1.7:

. . o1 1 _ 1 _ 1 .
in case (1), the area of our triangle is jasa; + 5a2(b1 — a1) = 5a2b1 = 5|azb1;
. . -1 1 1 _ 1 .
in case (2), the area of our triangle is 5asa; — a2(a1 — by) = 5a2b1 = 3|azbi|;

_1

. . .1 _ 1 1
in case (3), the area of our triangle is 5as(a1 — b1) — 50201 = —5a2b1 = 5|asby].

Now we remove all restrictions on 57 except that we will separately consider by = as and by # as.
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If by = aq, then, breaking into the same three cases presented just before DRAWINGS 9.1 at
the end of this chapter, and using Corollary APP1.7 again and Definitions 2.4(ii) (see DRAWINGS
9.2 at the end of this chapter):

in case (1), the area of our triangle is

1 1 _ 1 _ 1 al bl_ o 1 5 — .
a2b1 — 5&1&2 — 50,2[)1 = 5@2(1)1 — al) = Iidet -a2 az_ | = §‘det [a b:| |,
in case (2), the area of our triangle is
1 11 S SN TR I SN S I
asay — §a2b1 — 5(120,1 = 5042((11 — bl) = |§d€t _(12 (12_ | = i‘det [a b:| |,
in case (3), the area of our triangle is
1 1 1 1 1 1 =
ag(al — bl) — §|b1|a2 — 5@1@2 = a20a1 — (Zle + 5[)1&2 — 50,1(12 = |§det |:Z; Z;:| ‘ = §|det |:6 b:| ‘

See DRAWING 9.2 at the end of this chapter.
If by # as, let ¢ be the = intercept of the line thru (a1, as) and (b1, b2) and let =< ¢,0 > .

By the first part of our proof, after a reflection thru the z axis if necessary (see Proposition
APP1.5) the area of the triangle formed by @ and ¢, call it Az, is 3|c|as and the area of the triangle

formed by b and &, call it Ag, is |cbs|. See DRAWINGS 9.3 at the end of this chapter.

As drawn in DRAWINGS 9.4 at the end of this chapter, we may write the area of our triangle
as either a sum (if by < 0) of Az and Ay, or (if by > 0) the absolute value of the difference between
Az and As.

a b

We claim the area of the triangle formed by @ and b is le(by — az)|. We will show this claim
first for by positive, then for by negative (by = 0 was covered at the beginning of the proof).

If bs > 0, then our area equals
1 .
[[eba| — |caz|] = 3 [|c[(ba — az)] = §|C(b2 —az)| if b2 > az

or

[N e NCY S
N 2| —

1 .
[lcas| — |eb2|] = = [|e|(ag — b2)] = §|c(b2 —ag)| if az > bs.

If by < 0, then our area is
1 1 1 1
5 (eaz| +lebz]) = 5 (elaz — [elb2) = Flel(az — b2) = Sle(bz — az)|-
See DRAWING 9.4 at the end of this chapter.

This proves our claim about the area of the triangle formed by @ and 5, in terms of c¢. To see
that it is the area given in the statement of the proposition, we must solve for c:

The line thru (a1, a2) and (by, bs) is
by —
Y= as -+ ((2‘12)(% _ al)) ’

b1 —a1)
S0 ( )
o b2 — a9
0=ay+ <(b1_a1)(c—a1)>,
hence
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hence
c(ba — az) = ay(b2 — az) — az(by — a1) = a1by — azby = det [5 b} ;
concluding the proof. |

Proposition 9.7. If I is a point and @ and b are vectors, then the area of the parallelogram with
vertices I,1 +a,I +b,1+a+bis |det [Ei 5} |

Proof: This follows from Proposition 9.6 and Corollary APP1.6. (]

Theorem 9.8. For Q (the interior of) a polygon, the area of f4(Q) = {fa(J)|J is in Q} equals
|det(A)| (area of ).

Proof: By Propositions 9.6 and 9.7, since any polygon is a union of triangles (asserted in Definitions
2.3), we may assume 2 is (the interior of) a parallelogram. Let I,d,b be as in Corollary 3.4; that is,

Q={I+si+th],0<s,t<1}

Since fa(I+sd+tb) = fa(I)+sfa(@)+tfa(b), fa(2) is a parallelogram formed by fa(@) and fa(b),
thus, by Proposition 9.7 and Theorem 9.5, the area of f4(Q) is

jdet [£4@)  fa®)] | = ldet (4 ]a 5]) | =(det(4)) (qet ([a 5]))]

— |det(A)| |<det ([a ED) | = |det(A)]| (area of Q)
by Proposition 9.7. ]

This gives a geometric picture of determinant: |det(A)| is a magnification factor for multi-
plication by the matrix A.

Of particular interest is to have the magnification factor equal to one; this is equivalent to
preservation of area.

Corollary 9.9. If A is a 2 x 2 matrix, then |det(A)| = 1 if and only if multiplication by A preserves
area; that is, for Q a polygon, f4(Q) = {fa(J)|J is in 2} has the same area as (.

Definition 9.10. A matrix is orthogonal if its columns are orthogonal unit vectors (see Definitions

2.4 and Definition 4.3). That is, A = [&' 5] is orthogonal if @ and b are orthogonal unit vectors.

Theorem 9.11. If A is a 2 x 2 matrix, then A is orthogonal if and only if multiplication by A
preserves length and angle measure; that is, for any vectors Z, ¢/, the measure of the angle between
fa(@) and fa(¥) equals the measure of the angle between # and ¥ and the length of fa (&) equals
the length of Z.

Proof: By 4.5(e) and Theorem 6.9, preservation of length and angle measure is equivalent to
(fa(@) - (fa®) =77,

for all 7,7 in R2.

Denote A = {al bl] = [@’ 5] . Then, for any Z, 7 in R?,
az by
fa(®) =< a121 + biwa, asxy + baxe >, fa(y) =< a1ys + biyz, azy1 + bays >,
thus
(fa(@)) - (fa(®) = (a171 + b122) (@1y1 + bry2) + (a2w1 + bawa) (azy1 + bayz)
= ajz1y1 + arbiz1ye + braivays + bixays + a31y1 + asbamiye + baasways + b3Tays
= (af + a3)z1y1 + (b7 + b3)z2ys + (a1by + azba)z1y2 + (bray + baag) Ty
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—

= [|@]*z1yn + [b]Pways + (@ - b)xrys + (b- @)wann,
which equals 191 + z2y2 = & - ¢/ for all Z, 7 in R? if and only if
@] =1=]b|| and @-b=0.
This is precisely the definition of A being orthogonal (see Definitions 9.10 and 4.3). O

Corollary 9.12. If multiplication by a matrix A preserves length and angle measure, then it also
preserves area.

Proof: By Theorem 9.11, the first column of A is a unit vector, thus (see Definitions 6.1) it equals

[E?ﬁ;ﬂ , for some v between 0 and 27. Also by Theorem 9.11, the second column is a unit vector
orthogonal to the first column, thus it equals [_ S 1/’} , or [ sing } (see DRAWING 9.5 at the
cos Y — cosY

end of this chapter);

that is, A equals either
cosy —siny cosy  sinty |
siny  cosvy o' |sin P —cosy|’

in either case, |detA| = 1, so by Corollary 9.9, multiplication by A preserves area. O

Remark 9.13. Some comments here about choosing a standard matrix (see Definition 9.3) for a
function will be helpful for the proof of Theorem 8.3. Note that

|:a11 a12:| |:1:| - |:a11:| |:a11 a12:| |:0:| B |:a12:|
= and = .
az1 ag| |0 as1 az1 ag| |1 a22

This tells us that, given a function f : R> — R?, a matrix A such that f = f4 must have its first
column equal to f((1,0)) and its second column equal to f((0,1)), where f((1,0)) and f((0,1)) are
arranged as columns.

9.14. Proof of Theorem 8.3: The preservation of length, angle measure, and area under trans-
lation may be found in Propositions APP1.3 and APP2.3(a); recall (Definitions 2.10) that angle
measure is a certain length

This means we may assume, for the remainder of the proof, that

(i) all circles involved in rotation (Definition 8.1(b)) are centered at the origin; and
(ii) all lines involved in reflection (Definition 8.1(c)) go thru the origin.

This allows us to represent Definitions 8.1(b), (¢), and (d) with matrices, as in Definition 9.3;
that is, each of (b), (c¢), and (d) will be written as f4, with standard matrix A chosen, following
Remark 9.13, in the following ways.

CLAIM 1. The motion in (b) is fa, for A = {COSQ s 9} )

sinf  cos6

, . . _ [cos(2¢)  sin(2¢) |
CLAIM 2. There’s a real number ¢ so that the motion in (c) is fa, for A = {sin(?gb) cos(26)|

< cos ¢, sin ¢ > is then a direction vector for the line £ in (c).

CLAIM 3. The motion in (d) is fa, with A=R [(1) (1)] .

Most of the proof of Theorem 8.3 involves proving these three claims about Definitions 8.1(b),
(c), and (d).
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Proof of CLAIM 1. Write an arbitrary point (z,y) in R?, via Definitions 6.1 or Definition 6.2,
in the vector equivalent of polar form (Definition 1.15; see Lemma 2.8 and Glib Equivalences 1.16)
(rcos By, rsinby), for some real Oy, with r = || < z,y > ||. Multiply

[COS 6 —sin 9] [r cos 90] _ |:T(COS 6 cos 6y — sin 6 sin 90)} _ [r cos(f + 90)}

sin@ cosf | |rsinfy 7(sin 6 cos Oy + cos 0 sin 6y) rsin(6 + 6p)

by Proposition 6.4(i) and (ii); this is (7 cosf,rsinfpy) rotated 6 radians counterclockwise (see the
complex form of Definitions 8.1(b)), as desired.

Proof of CLAIM 2. A “motion,” in the sense of Definitions 8.1, that does not preserve length or
area is the projection of Definition 4.6.

Our first step will be to describe reflection in terms of projection. Let ¢ be the line of Definitions
8.1(c), assumed (see beginning of proof of Theorem 8.3) to be going thru the origin.

Define P : R? — R? by, for any I in R?,
I" = P(I) = proj,(I)
(see Definition 4.6 and DRAWING 9.6 at the end of this chapter), the projection of I onto the line
L.
Comparing DRAWING 9.6 at the end of this chapter with DRAWING 8.3 at the end of Chapter
VIII, we see that
— —
R(I)-P(I)=I1I" =1"T = P(I) — I;
that is,
R—P=P-1d,
where Id is the identity map Id(I) = I, so that
R=2P—1Id (x).

Since Id has standard matrix {(1) (1)] , the standard matrix for P will lead to the standard matrix
for R.

Let ¥ be a direction vector for ¢ of norm one. By Lemma 2.8 and Definitions 6.1, this means
there is a real number ¢ so that
U =< cos¢,sing > .
By Corollary 4.12, for any real x,y,
P((z,9)) = (< z,y > - < cosp,sin¢ >) < cos ¢, sin ¢ >=< (cos )2z+(cos ¢ sin ¢)y, (cos ¢)(sin ¢p)z+(sin ¢)*y >
_ { (cos ¢)? (cos@)(sing)| (x|
= :

cos ¢)(sin ¢) (sin ¢)? y
that is,

[ (cos 6)? <cos¢><sm¢>]
(cosg)(sing)  (sing)?

is the standard matrix for P.

By (*) above, 6.3(v), and 6.4(i) and (ii), this implies that the standard matrix for R is

4= [<co(f¢?§<fi ¢) (Cofsﬁ%? ¢)] B F 0} - [22(2255;)(;;% 22(23:11%28 " Gﬂ

0 1
_ |:(COS $)? — (sing)?  2(cos ¢)(sin ¢) } _ [cos(qu) sin(2¢) }
2(cos ¢)(sing)  (sin¢)? — (cos ¢)? 2¢) —cos(2¢)

Proof of CLAIM 3. This is immediate:

wlo 3 G- (=]

S
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for any real x,y.
The proof of Theorem 8.3(a) now follows from Corollary 9.12 and Theorem 9.11, applied to
cosf —sind cos(2¢)  sin(2¢)
[sin@ cos 6 ] and [sin(ZqS) —cos(2¢)
while the proof of Theorem 8.3(b) follows from Theorem 9.8 (for area) and the fact that
< Ry, Ry; > - < Rxg, Ry >= R* (< 21,91 > - < T2, 92 >),
for any real z1,x2,y1,y2 (see 4.5(¢) and Theorem 6.9). O

Remark 9.15. The standard matrices for reflection and rotation are surprisingly similar. The
standard matrix for reflection is the same as the standard matrix for counterclockwise rotation by
2¢, except that the second column is multiplied by (—1).

As we mentioned in the proof of Corollary 9.12, if A is the standard matrix for a function from
R? to R? that preserves length and angle measure, then A equals, for some v, either

costy —siny
siny  cosy |’
representing counterclockwise rotation by v, or
cosy  siny
siny —cosvy|’
representing reflection thru the line thru the origin that makes an angle of measure %1/} with the x
axis.

It is surprising that such a trivial-appearing algebraic change (multiplying the second column
by (—1)) makes such a profound geometric change (rotation to reflection).
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CHAPTER X: Congruence and Similarity of Triangles.

We would like simple (meaning requiring as little information as possible) ways of determining
when two triangles are congruent or similar (Definitions 8.4). Theorem 10.1 is sufficient for our
applications in Chapters XI, XII, and XIII. Theorems 10.4 and 10.6 address natural questions that
arise from Theorem 10.1 (see 10.3 and 10.5), while Theorem 10.7 discusses information (two sides
and an angle not between the two sides) with more uncertain conclusions; in general, there might
be no such triangle, precisely one (up to congruence) or two (up to congruence) possible triangles
satisfying the information given.

Here (Theorem 10.1) are the traditional sufficient conditions for congruence, along with their
traditional acronyms (SAS, SSS, and AAS). Those acronyms imply the order of angles or sides:
SAS means the angle with specified measure is between the two sides whose lengths are specified,
while AAS means the side whose length is specified might not be between the angles whose lengths
are specified.

Theorem 10.1. Suppose 17 and Ty are triangles, 77 has sides S, 52, and S3, T» has sides Sy, S5,
and Sg, and, for j = 1,2,3,4,5,6, 0; is the measure of the angle opposite S;. See DRAWING 10.1
at the end of this chapter.

(a) Any one of the following conditions (SAS, SSS, AAS) implies that T} and T, are congruent.

SAS. |IS1]l = [|S4lls 1S2]] = ||S5]| and 83 = 6. See DRAWING 10.2 at the end of this chapter.
Informally, agreement on two sides and the angle between the two sides implies congruence.

SSS. ||S1]] = [|S4ll; IIS2ll = |S5]|, and [|S5|| = ||Ss]|- See DRAWING 10.3 at the end of this chapter.
Informally, agreement on all sides implies congruence.

AAS. ||S1|| = ||S4ll, 61 = 64, and 65 = 65. See DRAWING 10.4 at the end of this chapter.

Informally, agreement on two angles and a side implies congruence; note that AAS follows from
ASA, by Proposition 3.9.

(b) AAA or AA. 0; = 64,05 = 05, and 03 = 05 (the last equality follows automatically from the
first two, by Proposition 3.9) implies that T} and T5 are similar. See DRAWING 10.5 at the end of
this chapter.

Informally, agreement of all angles implies similarity.

Proof: SAS: Suppose two triangles 77 and T each have a side of length a and a side of length
b, with the measure of the angle between them equal to t; that is, ||S1]| = a = ||S4l],[|S2]] = b =
[IS51l, 05 = 6 = 1 in DRAWING 10.1 at the end of this chapter.

We claim that both triangles are congruent to the triangle, call it T3, with vertices (0, 0), (a,0),
and b(cos v, sin¢). We will describe this with T} ; the same argument applies to To. See DRAWINGS
10.6 at the end of this chapter.

If v is the measure of the clockwise angle from Ss to S7, then a translation and rotation makes
Ty congruent to T3. See DRAWINGS 10.7 at the end of this chapter.

If 4 is the measure of the counterclockwise angle from Sy to Si, then a reflection (e.g., through
the side S7) makes T7 congruent to the triangle at the beginning of DRAWINGS 10.7, which we
have already shown is congruent to T3, thus 77 is congruent to T5. See DRAWINGS 10.8 at the end
of this chapter.

Either way, this proves our claim. Since 77 and T5 are each congruent to T3, it follows that T
is congruent to 75, as desired. (Il
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SSS: Denoting ¢ = [|Ss||,a = ||S1]],b = [|S2||, by the Law of Cosines,
2 =a® + b? — 2abcos 03,
thus

22 _ 2
5 = cos ! {a—i_gabc] = B,

and we may apply SAS. O

A AS: Since the sum of the measures of the angles in each triangle is 7, we also have
O3 = bs,
thus, by the Law of Sines,
B
sin Gj
is constant, for j = 1,2,3,4,5,6, so that we may apply SSS.

AAA: Let R = Hgi”, and let T3 be T» magnified by R (see Definitions 8.1(d)) By AAS, T3 is

congruent to 77, thus by Theorem 8.3(b) and Definitions 8.4, T5 is similar to 7. O

Example 10.2. Here is a different proof of Theorem 7.10(d) — (a), (b), and (c). See DRAWINGS
10.9 at the end of this chapter, where the hypothesis of (d) implies the agreement on a side and two
angles of triangles PSR and SQR, so that AAS implies the congruence of triangles PSR and SQR,
which implies all of (a)—(d) in Theorem 7.10. O
Discussion 10.3. Another way to view SAS, SSS, and AAS is in terms of what information is
sufficient to uniquely determine a triangle, up to congruence. Most of the following is a restatement
of Theorem 10.1. We will put off until later (Theorem 10.7) the most interesting case, not mentioned
in Theorem 10.1, of specifying two sides and the measure of an angle not between the two sides.

Theorem 10.4. Each of the following sets of conditions (with no additional conditions) is sufficient
to uniquely specify a triangle (if it exists; see Theorem 10.6); that is, specify all measures of angles
and lengths of sides, up to congruence.

(a) SAS; that is, the lengths of two sides and the measure of the interior angle between them, is
specified.

(b) SSS; that is, the length of each side is specified.
(c) AAS; that is, the length of a side and the measures of two angles are specified.

(d) Specify numbers a, b, ¢ such that the triangle is formed by vectors @, b such that ||@|| = a, ||b]| = b
and @- b = ¢, as in DRAWING 2.8(a) at the end of Chapter IL.

(e) Specify vectors @, l;, such that the triangle is formed by @ and 5, as in DRAWING 2.8(a) at the
end of Chapter II.

Proof: The constructions for (a)—(c) are contained in the proof of Theorem 10.1(a).

(d) is equivalent to (a), by Theorem 6.9.

The specifications of (e) clearly imply those of (d), which we have already shown specifies a unique
triangle. ]

More Discussion 10.5. Another concern, that arguably should precede uniqueness of triangles as
in Discussion 10.3 and Theorem 10.4, is the existence of a triangle having specified sides and angles.

At first glance, there appear to be at least six numbers involved in describing a triangle: three
(measures of) angles and three (lengths of) sides. But Theorem 10.4 implies that these six numbers
cannot be chosen independently; in Theorem 10.4(a)—(d), choosing only three of those six numbers



240

uniquely determines the remaining numbers. In fact, even those three numbers in SAS, SSS, and
AAS cannot be chosen completely independently.

Theorem 10.6. Each of (a)—(e) below contains necessary and sufficient restrictions on the corre-
sponding specification in Theorem 10.4, so that the specified triangle exists.

(a) All specified lengths are positive and, denoting by 6 the specified measure of the specified angle,
0<0<m.

(b) All specified lengths are positive and each side has length less than the sum of the lengths of the
other sides.

(¢) The specified length and both specified angle measures are positive and the sum of the two
specified angle measures is less than .

(d) The fraction | 5| is less than 1 and both a and b are greater than zero.

(e) The vectors @ and b are not parallel.

Proof: (b) is certainly geometrically believable. To prove it is necessary and sufficient algebraically,
let s1, s, s3 be the lengths of the sides of the desired triangle, and for j = 1, 2, 3, let §; be the measure
of the angle opposite the side of length s;. Note that we get measures of angles from lengths via the
Law of Cosines; e.g., to get 61, use

57 = 53 + 55 — 28953 Cos 01,
so that, since |cos 6] < 1, 01 exists if and only if

55+ 55 — 51

-1< <1 <= —28983 < 57— (55+53) < 28983 <= (s23—83)% < 57 < (50+53)% <=

25983
[so — s3] <81 < (s2+83) < —s1 < 82— 53 <51 and s1 < s2+ 53 <
So < 81+ 83, S3 < 81+ S92 and s1 < So + S3;
that is, 0y exists if and only if each side has length less than the sum of the lengths of the other
sides. An identical argument shows that same result for 5 and 63.

For the sufficiency of (a), (c), (d), and (e), we will construct vectors @, b as in DRAWING 2.8(a)
at the end of Chapter II, with @ =< a,0 > on the positive x axis, b in the upper halfplane y > 0, so
that d, l_;, and (@ — g) will form the sides of our desired triangles; see DRAWINGS 10.10 at the end
of this chapter.

(¢) The vectors @,b and (@ — b) will enclose an area if and only if @ and b are not parallel (sce
DRAWING 2.8(a) at the end of Chapter II).

(d) and (a). Let

a=<a,0 >, b=b< cosf,sin 6 >,
where, for (a), lengths a and b and angle measure 6 are specified, and, for (d), 6 = cos™'(-5) (see
Theorem 6.9).

(c) Let s3 be the specified length of a side. Since the sum of measures of the angles in the triangle
is m, our condition guarantees that all measures of angles are specified; denote said measures by
0;,7 = 1,2,3, where 03 is the measure of the angle opposite the side of length s3. Worrying about
the Law of Sines tells us to define
S;
s; = (sinb;) (smdﬁg,> ,

In DRAWINGS 10.10 at the end of this chapter, let d =< s3,0 >,EE 89 < cosfq,sinfy >, as
in (d) and (a) with a = s3,6 = ;. The extra twist needed here is to show that

for j =1,2.

-,

(@—0b) = s1 <cos(f2),—sin(f2) > (%),
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so that we will have our specified angle measures; see DRAWINGS 10.11 at the end of this chapter,
where we have drawn in both the known angle measure ¢; and the as yet unknown angle measures

3 and a.

The calculation for (*) follows:
b+ sy < cos(fz), —sin(fy) >= sy < cos(fy),sin(fy) > + s1 < cos(fs), —sin(fz) >
= (sinfs) < > < cos(fy),sin(6) > + (sinbq) < .839 ) < cos(fz), —sin(fz) >
S U3
53 . . S3
= [< sin(62) cos(f1) + sin(61) cos(62),0 >] = —

sin(63) sin(6s)
by Proposition 6.4(ii); finally, since 6y + 0 + 03 = 7, we have

sin 93

< sin(Hg + 01),0 >,

b+ s < cos(f2), —sin(f2) >= s1rf(7303) < sin(m —03),0 >=< 53,0 >=d,

by 6.3(ii) and (iv), and (*) follows, as in DRAWINGS 10.11 at the end of this chapter.

Now we will use the dot product to determine the measure 13 of the angle opposite a :
—89 < cos(61),sin(fy) > - s1 < cos(fz), —sin(fz) > . .
€0s(¥s) = [T < cos(@y), sin(6r) > o1 < cos(Ba), —sim(dy) > |~ o) sin(O) > - < cos(B), =sin(6) >
= —[cos(61) cos(f2) — sin(6y) sin(f2)] = — cos(6y + 02),
by Proposition 6.4(i), so that, since 61 + 05 + 03 =,

cos(tp3) = — cos(m — 03) = cos(03),

by 6.3(i) and (iii).
This implies that 13 = 03, so that s = © — (3 + 61) = 2, and we have the desired triangle.
See DRAWINGS 10.11 at the end of this chapter.

The necessity of (a), (c), (d), and (e) is quickly addressed. The necessity of (e) was shown
simultaneously with the sufficiency. The necessity of (d) is the Cauchy inequality (HWVI.1). The
necessity of both (a) and (c) follow from the fact that the sum of measures of angles in a triangle is
. ]

Specifying two sides and an angle is much different when the angle is not between the two sides.

Theorem 10.7. (SSA) Suppose, for a potential triangle, the lengths of two sides and the measure
of an angle not between the two sides are specified. Denote by 6; the specified angle measure, with
0 < #; < m, by s1 the length of the side opposite 61, and by ss the other specified length. See
DRAWING 10.12 at the end of this chapter.

Then the following table gives the number of triangles (0,1, or 2), up to congruence, that have
the specified lengths and angle measures.

0 <3 th >3
s <ssing 0 0
s —ssnl R 0
s> ssing T 0
e S 0
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Proof: If the desired triangle exists, then sz, from DRAWING 10.12 at the end of this chapter,
must be positive and satisfy the Law of Cosines

57 = 53+ 55 — 28953 €08 Oy ;

this may be written as a quadratic equation in the variable ss:
52— (2s9c080;)s3 + (53 —57) =0 ().

Conversely, if there exists a positive real solution of (*), call it s3, then Theorem 10.6(a) implies the
existence of a triangle with sides of lengths s; and s3 and angle of measure 8, between the sides of
lengths so and s3; the remaining side would then have length s;, as in DRAWING 10.12 at the end
of this chapter, because the Law of Cosines above, that (*) is equivalent to, specifies s; as its unique
positive solution

s1 = \/sg + 5% — 25953 cos 0.

Thus a triangle with the specified lengths and angle measures corresponds to a solution, sz, of
(*) that is real and positive. Throughout the proof, we will refer to such solutions.

By the quadratic formula (Definitions 0.6), solutions of (*) have the form

1
s5=5 {232 cos 01 & \/(252 cosf1)? —4(s3 — s%)] = {52 cos 01 & \/(52 cosfq)? — (s3 — s%)}

= {52 cosf + 1/s? — (s2sin 91)2] .

Denote by si and s the two solutions
sy = {32 cos Oy + /52 — (s2 sin91)2] , 83 = [52 cosf — /82 — (52 sin@l)ﬂ :

We will find it convenient to begin with some preliminary factoids:

(1) s and s; are both not real if and only if at least one of s3 and s is not real if and only if
1 < Sosinfy.

(2) sé" = s3 if and only if s = spsin 6.

(3) |sgcos | < \/s? — (s2sinfy)? if and only if s; > so.

Proof of (1): (1) is equivalent to (s3 — (s2sinf)?) being negative, which is equivalent to
57 < (sgsinb)?;
since s1, S92, and sin @7 are positive, this is equivalent to s; < s5sinf;.

Proof of (2): (2) is equivalent to (s? — (s2sin6;)?) equalling zero; as in (1), this is equivalent to
$1 = Sosinf.

Proof of (3): |sacosbr] < v/s3 — (s2sin6q)? if and only if

s2cos?0) < 57 — s2sin?0; <= s? > s3(cos® f +sin? 0;);

by 6.3(v) and the positivity of s; and sg, this is equivalent to s1 > ss.

Now let’s investigate the entries (0, 1, or 2) in the table stated in the theorem via solutions of

(*)-
First, note that Factoid (1) gives us the first row of the desired table: s; < s3sin#; implies no
real solutions of (*).

For the remainder of the proof, assume s; > s9sin ;. Factoid (1) implies that we have a real,
positive solution of (*) if and only if s > 0, and that solution is unique if and only if, in addition,
either s; <0 or s3 = s4.
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First let’s address the remaining rows of the right column of the table we wish to prove: assume
01 > 5. This is equivalent to cosf < 0, so that we may now rewrite Factoid (3) as follows. Since
sacosby <0,|sgcosbi| = —sq cosby, thus

|sacosf| < \/s% — (s2sinf;)? < sycosby > —/s? — (s2sinb)?,

so that Factoid (3) is now

81> 89 <= sgcosfy > —1/s? — (sgsinb)?,

which is equivalent to s?f > 0. This explains all the zeroes in the right column of the table, when
51 < s9, and, since cosf; < 0 clearly implies s; < 0, explains the “1” in the bottom of the right
column.

For the remainder of the proof, assume ¢; < 7. This implies that sy cos; > 0, thus s;f > 0;
we are guaranteed at least one real, positive solution of (*). Factoid (2) implies that the solution is
unique when s; = sy sinfy, hence we get a “1” in that row of the table.

Again because sz cosf; > 0, Factoid (3) becomes

$1 > Sy <= sgcosfy < y/s7 — (s2sinb)? < s; <0.
Also

51 = 8§y —> \/s% — (sgsinf)? = \/s% —(s18in0)? <= \/s% — (sgsinf)? = \/s%(c0591)2

= 55 =0,

thus

51 > 83 = s3 <0.
Combining this with Factoid (2), we get two real, positive solutions of (*) when sy > s1 > sasinf,
and a unique solution when s; > ss. (]

Remark 10.8. The proof of Theorem 10.7 is purely algebraic. Thus it carries authority, but might
not provide intuition. See DRAWINGS 10.13 at the end of this chapter for some geometric intuitive
rationalization of the table in Theorem 10.7. Our perspective in DRAWINGS 10.13 is to begin with
s2 and 61, then try to visualize what values of s; will allow the side of length s3 to appear.

In DRAWINGS 10.13 at the end of this chapter, we denoted by € = /52 — (sqsin )2, so that
Ss3 = spcos6y t ¢

that is, in the terminology from the proof of Theorem 10.7,

s§:5200501+e and s3 = spcosf —e.

Also note that sosinf; is the shortest distance from where the sides of length s and s; meet to
the desired missing side of length sz (see the first picture in DRAWINGS 10.13 at the end of this
chapter).

Examples 10.9. Which of the following drawn triangles in DRAWINGS 10.14 at the end of this
chapter are possible? Which of them has more than one possibility (up to congruence)?

Solutions. Use Theorem 10.7, with s, = 10. For (a) thru (e), use the column in Theorem 10.7
labelled “6; < 27, so that sinf; = 1, giving us a possible unique triangle for (b), (d), and (e), two
possible triangles for (c), and no possible triangle for (a). For (f) and (g), use the column labelled
“01 > T, to conclude there is no triangle as in (f), a unique triangle in (g).

Examples 10.10. (a) In DRAWING 10.15 at the end of this chapter, find z, the length of the
lower horizontal line. Assume the two horizontal lines are parallel.



244

(b) Suppose that, when an eight foot tall Frankenstein monster is five feet from a lamppost, the
distance from the foot of the monster to the end of his shadow is four feet. How tall is the lamppost?
Assume that both the monster and the lamppost are perpendicular to the ground.

Solutions. (a) See DRAWING 10.16 at the end of this chapter. By Proposition 3.6, angle measures
01 and 6, are equal, thus, by Theorem 10.1(b) (AAA), triangles ACD and ABE are similar. This
implies, by Proposition 8.5, that

v _ 5 50 _2

= - —
10 5+7

126
(b) See DRAWING 10.17 at the end of this chapter, where x is the height of the lamppost. By
Theorem 10.1(b), triangles ACD and ABE are similar, thus, by Proposition 8.5,

T 8
= - = 18.
g 4—>ac 8
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HOMEWORK

HWX.1. In each part of DRAWINGS 10.18 at the end of this chapter, determine how many (up
to congruence) triangles have the given lengths of sides and measures of angles.

HWX.2.  Which of the pairs of triangles in DRAWINGS 10.19 at the end of this chapter are
guaranteed by Theorem 10.1, from the information given, to be congruent?

HWX.3. Use congruence (Theorems 10.1 and 10.7) to prove the other parts (see Example 10.2)
of Theorem 7.10.

HWX.4. Some children are equipped with graph paper, a protractor (for measuring angles on a
piece of paper), and an astrolabe (for measuring angles of elevation). The goal is to get the height
of a tree from measurements on the ground, without trigonometry.

(a) Fourteen paces from the tree, we measure the angle of elevation, call it 6, to the top of the
tree. On a piece of graph paper we construct that angle of elevation and the paces, with each pace
represented by a side of a square; see DRAWING 10.20 at the end of this chapter. Use similar
triangles to estimate the height of the tree.

(b) Same as (a), except there is poison ivy that you must avoid in a disc of radius seven paces with
the tree at the center, and we measure the angle of elevation both at the edge of the poison ivy and
nine paces further away from the tree than the poison ivy; see DRAWING 10.21 at the end of this
chapter.
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HOMEWORK ANSWERS

HWX.1. (a) one (Theorem 10.7) (b) none (Theorem 7.10) (c) none (Theorem 10.7) (d) one
(Theorem 10.7) (e) two (Theorem 10.7) (f)—(j) none (Theorem 10.7) (k) one (Theorem 10.7)
(¢) one (Theorems 10.4(a) and 10.6(a)) (m) one (Theorem 10.7 or Pythagorean theorem) (n)
none (Theorem 10.7 or Pythagorean theorem) (o) infinitely many (other side forming vertex of
angle measure sixty degrees could be anything) (p) none (Theorem 10.6(b)) (q) infinitely many
(could magnify triangle by any positive factor) (r) one (Theorems 10.4(b) and 10.6(b)).

HWX.2. (a), (d), (g).

HWX.3. See Examples 10.2 and DRAWINGS 10.9 at the end of this chapter, for the meaning of
the points P, Q, R, and S. The congruence of the triangles PSR and SQR imply all the assertions
(a)—(d) in Theorem 7.10.

See DRAWINGS 10.22 at the end of this chapter for (a) implying the desired congruence, hence
(b), (c), and (d); (b) implying the desired congruence, hence (a), (c), and (d); and (c) implying the
desired congruence, hence (a), (b), and (d).

HWX.4. Count squares; for (a), look at DRAWING 10.20 at the end of this chapter, for (b), look
at DRAWING 10.21 at the end of this chapter.

(a) 17 paces high.

(b) 20 paces high.
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CHAPTER XI: More Quadrilateral Results.

First we would like to address converses to some parallelogram results in Chapter III. Proposition
11.1 is a converse of Proposition 3.6, while Proposition 11.3 is a converse of Proposition 3.8, and
Proposition 11.3, which should be compared to Proposition 3.5, is a converse of Proposition 3.3.

Proposition 11.4 will characterize parallelograms whose diagonals bisect their interior angles.
Proposition 11.5 shows a surprising amount of information following from small conditions on a
quadrilateral, that will provide the key for most of our constructions in the next chapter.

Proposition 11.1. Suppose £1, {5, {3 are lines, with /3 intersecting both ¢; and /5. If, in DRAWING
11.1 at the end of this chapter, 84 = 05, then ¢ and {5 are parallel.

Proof: For j = 1,2,3, let €% be a unit direction vector, in complex form, for £;, oriented as in
DRAWING 11.1 at the end of this chapter. By Proposition 6.6 and Theorem 6.9, 8, = (63 — 6;)
and 05 = (03 — 05). If 8, = 65, then 6; = 65, so that ¢; and ¢3 have the same direction vector.
This is saying (Definitions 2.1) that ¢; and {2 are parallel. See DRAWING 11.2 at the end of this
chapter. O

Proposition 11.2. If a quadrilateral has nonadjacent interior angles of equal measure, as in
DRAWING 11.3 at the end of this chapter, then it is a parallelogram.

Proof: In DRAWING 11.3 at the end of this chapter, extend the left side of the quadrilateral (to
a line ¢3) and the top and bottom of the quadrilateral (to lines ¢; and ¢2), as in DRAWING 11.4 at
the end of this chapter.

By Corollary 3.10, 2r = 26, + 2605 (see DRAWING 11.3 at the end of this chapter), thus
(01 +02) = m = (02 + 03) (see DRAWING 11.4 at the end of this chapter). Thus 6; = 63 in
DRAWING 11.4 at the end of this chapter; Proposition 11.1 now implies that ¢; and ¢5, hence the
top and bottom of the quadrilateral, are parallel. An identical argument shows that the right and
left sides of the quadrilateral are parallel; this means we have a parallelogram. O

Proposition 11.3. If a quadrilateral has nonconsecutive sides of equal length, then it is a parallel-
ogram.

Proof: Add a diagonal to the quadrilateral, as in DRAWING 11.5 at the end of this chapter.

The two triangles formed are congruent, by SSS (Theorem 10.1(a)). Since sides must be mapped,
by the rigid motions defining congruence, to sides of equal length, the congruent angles are as drawn
in DRAWING 11.6 at the end of this chapter.

By Proposition 11.2, the result follows. O

Proposition 11.4. A diagonal in a parallelogram bisects opposite interior angles if and only if the
parallelogram is a rhombus (Definitions 5.4).

Proof: See DRAWING 11.7 at the end of this chapter, where we have drawn the picture of a
diagonal in a parallelogram guaranteed by HWIIIL.2, along with lengths of sides. Focusing on the
left triangle, Theorem 7.10(a) <= (c) tells us that s; = s9 <= 6, = 02, as desired. O

Recall that we had another characterization of a rhombus, in Proposition 5.5.

Proposition 11.5. Form a quadrilateral from the isosceles sides of two isosceles triangles, with
vertices P, Q, R, S, as in DRAWING 11.8 at the end of this chapter.
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Add on line segments 67)9 and PR between opposite vertices, as in DRAWING 11.9 at the end
of this chapter.

Then CTS’ is the perpendicular bisector of P—I% and bisects the angle at the vertex @, as in
DRAWING 11.10 at the end of this chapter.

Proof: See DRAWINGS 11.11 at the end of this chapter for the following chain of reasoning.

By SSS (Theorem 10.1(a)), triangle SPQ is congruent to triangle SRQ. This implies that 67}9
bisects the angle at ). The remaining results follow from Theorem 7.10, focusing on the isosceles
triangle RPQ, or SAS (Theorem 10.1(a)) applied to the pair of triangles in the second-to-last drawing
in DRAWINGS 11.11 at the end of this chapter. ([l

Examples 11.6. For each of the parallelograms in DRAWINGS 11.12 at the end of this chapter,
fill in side lengths and angle measurements, where possible.

Solutions. See DRAWINGS 11.13 at the end of this chapter.

(a) Propositions 3.3 and 3.8.

(b) Propositions 3.3, 3.8, and 11.4.

(¢) Proposition 3.3 and HWIIL.2 or Proposition 3.6.

(d) Propositions 3.8, 3.9, and 11.4.

(e) Propositions 3.8, 5.5, and 11.4.

(f) Propositions 3.8, 3.13, and 5.6.

(g) Propositions 3.13, 5.6, and 11.4, and the Pythagorean theorem.

Examples 11.7. Find z in each of the drawings of parallelograms in DRAWINGS 11.14 at the end
of this chapter.

Solutions. (a) By HWIII.2 or Proposition 3.6, z = (22 — %), so x = %.

(b) By Proposition 11.4, (3z — ) = (z + 7), so z = 2Z.
(c) By Proposition 3.8, (x —7) + 2z —7) =7, so x = 7.
(d) By Proposition 3.8, (3z + ) = (2z + 4F), so z = .
(e) By Propositions 5.6 and 3.13, 2(x + 5) = 2(2x), so z = 5.
(f) By Proposition 3.13, 3z — 14) =z, so x = 7.

(

g) By Proposition 5.5, (22 + 9) = (x + 20), so x = 11.
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HOMEWORK

HWXI.1. For each of the parallelograms in DRAWINGS 11.15 at the end of this chapter, fill in
side lengths and angle measurements, where possible.

HWXI.2. Find z in each of the drawings of parallelograms in DRAWINGS 11.16 at the end of this
chapter.
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HOMEWORK ANSWERS

HWXI.1. See DRAWINGS 11.17 at the end of this chapter.
HWXI.2. (a) 2 (b) 3¥ (c)3 (d) 70 degrees (e) T (f)
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CHAPTER XII: Area and Volume.

In this chapter, we will first derive comfortable formulas for areas of triangles, parallelograms,
trapezoids (Definitions 12.2) and closed sectors of discs (Definitions 2.18). We will assume nothing
from the Appendices nor the results of Chapter IX for our area formulas. Theorem 8.3 will be
assumed.

We will also define volume and give formulas for volumes of spheres, (generalized) cylinders,
and (generalized) cones. Our presentation of volume will be less rigorous than we have done for
length, area, and angle measure, and our formulas will require calculus, as in Appendix One, for
their derivations.

Proposition 12.1. The area of either triangle formed by drawing a diagonal in a parallelogram, as
in DRAWING 12.1 at the end of this chapter, is half the area of the parallelogram.

Proof: Label the vertices of the parallelogram P, @, R, S, as in DRAWING 12.1 at the end of this
chapter.

By SSS, triangle PQR is congruent to triangle PRS, thus they have equal area (Theorem 8.3).
Since the area of the parallelogram is the sum of the areas of the two triangles, the result follows. [

Definitions 12.2. A trapezoid is a quadrilateral with (at least) one pair of opposite sides parallel.
The height of a trapezoid is the distance between two parallel opposite sides (visualize the trapezoid
with parallel sides horizontal), that is, the distance between any point on one of the parallel opposite
sides to the line containing the opposite side; see Definition 5.1 and Theorem 5.2.

Theorem 12.3. The area of a trapezoid equals the height times the average of the lengths of the
two parallel sides; that is,

1

§h<b1 + ba),
where h is the distance between the parallel sides of lengths b, and by, as in DRAWING 12.2 at the
end of this chapter.

Proof: Label the vertices of the trapezoid P,Q, R, S, as in DRAWING 12.3 at the end of this
chapter.

By translating, reflecting, rotating and relabeling the parallel sides if necessary (by Theorem 8.3
this will not change area), assume the parallel side of length by is on the positive x axis, with the

vertex R at the origin and the x coordinate of () nonnegative.
Still in DRAWING 12.3, let

T =projzz(Q), U = projzz(P),
and label lengths
— — — —
h = ||QT|| = (by Corollary 5.3)||PU||, ¢ = ||RT|, cs=|SU|,
co = the remaining horizontal distance on the base of the trapezoid in DRAWING 12.3 at the end of this chapter.

There are three relevant areas to manipulate:
A; = area of the triangle with vertices Q, R, T,
Ay = area of the quadrilateral with verticesP, Q, T, U,

and
As = area of the triangle with vertices P, S, U.
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Since Cﬁ: and YTS)‘ are orthogonal, while Theorem 5.2 implies that ﬁ = P—(} , the quadrilateral
with vertices P,@,T,U is a rectangle, thus we may use Definitions 2.4(ii) and Proposition 12.1 for
all three areas, to get

1 1
A1 = iclh, A2 = hbl and A3 = §Cgh.

We now need three cases, the case depending on the relationship, in DRAWING 12.3 at the end
of this chapter, between S and U.

CASE 1: S to right of U (see DRAWING 12.4 at the end of this chapter).

area of trapezoid = A; + Ay + Aj
1 1 1 1 1
= 561h + hbl + 563}1 = ih(01 + 2b1 + 63) = §h(b1 + (61 + bl + Cg)) = ih(bl + bg),

as desired.

CASE 2: S to left of U (see DRAWING 12.5 at the end of this chapter).

area of trapezoid = Ay + Ay — Az
1 1 1 1 1
= gclh + hbl — 503}1 = ih(cl + 2b1 — 63) = §h(b1 + (Cl + b1 — 03)) = ih(bl + bg),

as desired.

CASE 3: S equals U (see DRAWING 12.6 at the end of this chapter).

area of trapezoid = Ay + Ao
1

1 1 1
= 501h —+ hbl = ih(cl —+ le) = ih(bl —+ (Cl + bl)) = ih(bl —+ 62)7

as desired. O

Notice, in our formula for trapezoid in Theorem 12.3, we get a formula for area of a triangle by
setting by = 0, which in turn, by Proposition 12.1, gives us a formula for area of a parallelogram
(see DRAWINGS 12.7 at the end of this chapter and HW XIIL.1).

See Definitions 2.18 for the definitions of arc of a circle and sector of a disc.

Theorem 12.4. If 0 < ¥ < 27 and a closed sector of a disc of radius R is determined by an arc of
length R, then the sector has area %RQw. See DRAWING 12.8 at the end of this chapter.

Proof: By Theorem 8.3, we may assume that R = 1 and the disc is centered at the origin, so that
our closed disc is
{(z,9) |22+ 9> <1} ={re?|0< ¢ <2m, 0<r <1}
Again by Theorem 8.3 we may assume that the arc is counterclockwise from (1, 0); that is, our arc
is
{e?10< ¢ <o}
denote by Sy the closed sector determined by this arc.

Let 0 = % By Theorem 8.3 yet again, since our closed sector is the union of four closed sectors
of equal area overlapping only on curves (for each sector, rotate by 6 the closed sector determined by
an arc of length ), the area of our closed sector is four times the area of the closed sector determined
by the arc

{e"]0 < ¢ <6}
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Let Sy be the closed sector determined by the arc of length € just described. See DRAWING 12.9
at the end of this chapter.

By Proposition APP1.9, the area of Sy is g, thus the area of Sy is 4 (%) = %w, as desired. [0

Examples 12.5. In each of the figures in DRAWINGS 12.10 at the end of this chapter, get the
area. All quadrilaterals are trapezoids; all curves that are not line segments are arcs of a circle.

Solutions. (a) By Proposition 12.1 the area of the unshaded triangle is 11 and the area of the
parallelogram is 22.
(b) By Theorem 12.3, the area of the trapezoid is 1 x 10 x (12 + 15) = 135.

(c) By Theorem 12.4, the area is 1527 = 23T,

2 2
(d) By Theorem 12.4, the area is 3(10 feet)?Z = 237 feet squared.

(e) Here R4 = 40m, so the radius R is 30, thus by Theorem 12.4 the area is 1(30)24F = 18307 —
6007.

Definitions 12.6. To discuss volume, we must consider, very analogously to Definition 0.1, R3
(reads “R three”), the set of all ordered triples of real numbers

{(a,b,c)]|a,b,c are real numbers}.

As with R?, the number a is the x coordinate of (a,b,c), b is the y coordinate; now, in
addition, ¢ is the z coordinate.

The x-axis is now the line {(x,0,0) |z is real}, the y-axis is now the line {(0,y,0) |y is real},
and we additionally get the z-axis {(0,0, z) | z is real}.

The xy plane = {(a,b,0) | a,b are real numbers}. Compare this to the definition of R? (Defini-
tions 0.1).

When we think of R? or the xy plane as the surface of a flat, infinite earth, R> becomes space,
with the z coordinate measuring how far above the earth we are. Negative values of z place you
below the surface of the earth. See DRAWING 12.11 at the end of this chapter.

Very analogously to area (Definitions 2.4(ii)), the volume of the set

[a1,b1] X [az,b2] X [ag,b3] = {(x,y,2) a1 <@ < b1,a2 <y <bg,a3 <z <bs} (b > ar,k=1,2,3)
is defined to be (b1 — a1)(ba — a2)(bs — as).

When (by — a1) = (b2 — az) = (b3 — a3), then [a1,b1] X [az,b2] X [as,b3] is a cube. In general,

[a1,b1] X [ag, b2] X [as,bs] is a three-dimensional analogue of a rectangle, sometimes called a box.
See DRAWING 12.12 at the end of this chapter.

See Definitions APP1.10 for calculating more general volume.
Definitions 12.7. Here are the subsets of R? of interest. Throughout, H and r are positive real
numbers.

(a) A cylinder, of height H and radius r, is
{(2,9,2) |0 <2 < H, a? +y* <%}
See DRAWING 12.13 at the end of this chapter.
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This is like the soup inside a metal can of soup that you might buy at a grocery store. The
geometric property of interest is that, if you freeze the soup, then cut the can parallel to the base, you
will always get the same cross section of frozen soup staring at you; in this case, the disc 22 +y2? < r.

The cylinder is formed by putting many identical discs of infinitesimal thickness on top of each
other.

We might want a more exotic cross section repeating itself.

(b) Suppose 2 is a subset of R? and H > 0. Then
{(z,9,2) [ (z,y) s in Q, 0 <z < H}
is a generalized cylinder of height H with base (2.

We visualize here copies of {2 stacked up to a height of H. See DRAWING 12.14 at the end of
this chapter.

(c) A conme, of height H and radius r, is

{(x’ y’ ) ‘ <— z <_ ) X - y2 < ( Z) r2}.
S DRAWING 12.15 at the end of this C]lap(er_

As with (a), every cross section parallel to the xy plane is a disc, but the radii shrink linearly
as z increases: the radius of the cross section at z is (Hh_,z) 7.

The top of this cone is the point (0,0, H), the base is the disc 72 + y? < r? in the xy plane, as
with a cylinder, and the rest of the cone is formed by throwing in all line segments from the top to

the base.

Note that we could equivalently define a cone of height H and radius r as

H - H -
(7)o (U ) watos s st ayp <02y

The base of this cone is the disc {(z,y) |2? + y? < r?}.

As with a cylinder, we might want to vary the base of our cone. Note the similarity to the
generalized cylinder in the following definition.

(d) Suppose € is a subset of R? and H > 0. Then

{((HI;Z>$(HI;Z> v, 2) | (2,y) s in Q, 0 < = < H}

is a generalized cone of height H with base (2.

Here the base is 2 in the xy plane, and, as z increases from 0 to H, the cross sections are crushed
by the factor (£=2) (what we called a magnification in Definitions 8.1(d)), up to the top (0,0, H).

As with (c¢), we can form our generalized cone by including all line segments from the top to the
base.

When Q is a polygon (Definitions 2.3), the generalized cone is called a pyramid. When (2 is a
triangle, the generalized cone is called a tetrahedron.

(e) A ball of radius r, centered at a point (a, b, ¢), is

{(@,y,2) [ (z = a)* + (y = b)* + (2 — ) < 1?}.

The following theorem refers to Definitions 12.7. Notice that passing from (generalized) cylinder
to (generalized) cone always multiplies the volume by %



302

Theorem 12.8. As in Definitions 12.7, H > 0,r > 0, and 2 is a subset of R2.

(a) The volume of the cylinder of height H and radius r is 72 H.

(b) The volume of the generalized cylinder of height H and base Q is (area of Q) H.
(¢) The volume of the cone of height H and radius r is Zr2H.

(d) The volume of the generalized cone of height H and base § is % (area of Q)H.

( 4.3

e) The volume of a ball of radius 7 is 5777,

Proof: APP1.11. O

Examples 12.9. Get the volumes of each of the following.
a) A ball of radius 6.

b) A cylinder of height 10 and radius 5.

c

) A generalized cylinder with height 8 and base the triangle with vertices (—1,0,0), (1, 3,0), and

(
(
(
(4,0,0).

(d) A tetrahedron with vertices (—1,0,0), (1,3,0),(4,0,0), and (0,0, 8).

Solutions. (a) 3m6% = 288.
(b) 7(5%)(10) = 2507.

(c) Since the triangle has height 3 and base 5 (see DRAWING 12.16 at the end of this chapter), its

area is 3(3)(5) = %, thus the desired volume is (12)(8) = 60.

(d) This is the generalized cone for the same height and base as the generalized cylinder of (¢), thus
the volume of the generalized cone is (3)(60) = 20.



303

HOMEWORK

HWXII.1. Use Theorem 12.3 to prove the following, as drawn in DRAWINGS 12.7 at the end of
this chapter.

(a) The area of a triangle is one-half the base times the height.
(b) The area of a parallelogram is the base times the height.

HWXII.2. Get the shaded areas in DRAWING 2.21 and DRAWING 2.25, both at the end of
Chapter II.

HWXII.3. Get the area of the trapezoid (a), the area of the parallelogram (b), and the area of the
shaded triangle in (b), all in DRAWINGS 12.17 at the end of this chapter.

HWXII.4. Get the volumes of each of the following.

(a) A cylinder of height 12 meters and radius 3 meters.

(b) A generalized cylinder with height 10 and base the parallelogram formed by < 1,2 > and
< 3,4 > . Use Proposition 9.7.

(¢) A tetrahedron with height 10 and base the parallelogram formed by < 1,2 > and < 3,4 > .
(d) A ball of radius 10 feet.

(e) A ball such that the area of the disc, whose boundary is the equator, is 100 meters squared. (By
equator we mean that if, after translation, the ball is {(z,y, 2) | 22 + y? + 2% < R?}, then the equator
is {(z,y,0) | 2% + y?> = R?}, the boundary of the disc {(z,y,0)|z? +y* < R?}.)
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HOMEWORK ANSWERS
HWXII.1. (b) follows from Theorem 12.3, with by = bs = b. (a) now follows from Corollary
APP1.6 or Proposition 12.1.

HWXIL.2. The shaded area in DRAWING 2.21 is § x 10% x 240(1%;) = 2%=. The shaded arca in
DRAWING 2.25 is § x (8 ft )? x LT = 887 ft squared .

HWXIL.3. (a) % x 6 x (16 + 11) = 81.
(b) 6 x 13 = T78.
(c) 3 x 78 =39.

HWXIIL.4. (a) 7 x (12 meters) x (3 meters)? = 108 meters cubed.

(b) The area of the base is (see Proposition 9.7) | det B i] | =2, so our volume is 20.
20

(c) 3 -

(d) 47(10 feet)® = %07 feet cubed.

(e) Let R be the radius of the ball. We have 100 = mR?, so R = % meters, thus our volume is

L
% ( ) meters cubed = é,\o/o%) meters cubed.
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CHAPTER XIII: Construction with Straight-Edge and Compass.

A straight-edge is a ruler without the markings. A compass is a device with two ends, one of
which can be held at a fixed point (traditionally, a sharp end jabbed into paper), while the other
end makes a mark or marks a fixed distance away from the original point.

The straight-edge is used to draw lines or line segments. In particular, given two points P and
@, the straight-edge can be used to draw the line segment between P and Q.

The “fixed distance” of the compass setting can be adjusted. A compass can draw a circle; the
fixed point is the center of the circle, the fixed distance is the radius of the circle, and the compass
will then draw the circle by marking all points that fixed distance away from the center.

The compass can reproduce distances. More precisely, given two points P and @, the compass
can be set so that one end is at P, the other end at Q. Given any third point, call it R, the compass
can then n;a)ke a mark at a point S whose distance to R equals the distance between P and Q:
RS = PRIl

Throughout this chapter, constructing, drawing, or bisecting, means using only a straight-
edge and compass.

The classical Greeks were very interested in drawing or constructing figures or angles. This
section will present some of these constructions. In all constructions, the reader is encouraged to
try original ideas before looking at ours.

One very natural figure that we’d like to construct is a regular polygon, meaning a polygon
with sides of equal length and interior angles of equal measure. It is interesting that not all regular
polygons are constructible, that is, able to be constructed. A regular polygon of three sides (called
an equilateral triangle), of four sides (called a square), of five sides (a regular pentagon), of
six sides (a regular hexagon), or of eight sides (a regular octagon) is constructible, but a regular
polygon of seven sides (a regular septagon) is not. We do not wish to explain why; explanation
requires knowledge of the branch of mathematics known as abstract algebra.

We would like to describe our constructions primarily with drawings, thus we need to begin with
a brief dictionary of drawings.

Using the straight-edge to draw the line segment between two given points will be drawn as in
DRAWINGS 13.1 at the end of this chapter.

Given two points P and @, making the fixed distance of the compass setting equal to ||P_Q)|| will
be drawn as in DRAWINGS 13.2 at the end of this chapter; notice that the arc drawn at @ is a

piece of a circle of radius ||P—C,>2|| centered at P; P is where the sharp end of the compass is placed,
the other end makes an arc that includes the point Q.

If, in addition to DRAWINGS 13.2, we want to make an arc of points that same fixed distance
away from a third point R, it will be drawn as in DRAWINGS 13.3 at the end of this chapter, with
—
the sharp end of the compass at R, the other end describing an arc, with the same radius || PQ]|.

Construction 13.1. Draw an equilateral triangle (see HWVIL5) with sides of a specified length.
See DRAWINGS 13.4 at the end of this chapter.

Construction 13.2. Bisect an angle. See DRAWINGS 13.5 at the end of this chapter.
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Construction 13.3. Bisect a line segment. See DRAWINGS 13.6 at the end of this chapter.

Construction 13.4. Given a point on a line, draw a line thru that point perpendicular to the
original line.

This is a special case of Construction 13.2, for the angle of measure 7. See DRAWING 13.7 at
the end of this chapter.

Construction 13.5. Given a line and a point not on that line, draw a line thru that point
perpendicular to the original line.

Recall that we have an algebraic construction in Theorem 4.11. See DRAWINGS 13.8 at the
end of this chapter.

Construction 13.6. Given a line and a point not on that line, draw a line thru that point parallel
to the original line.

This begins with Construction 13.5, then apply Construction 13.4 to the original point. See
DRAWINGS 13.9 at the end of this chapter.

Construction 13.7. Draw a square, with sides of a specified length.
This will primarily be Construction 13.4, while using the compass to reproduce the specified
length. See DRAWINGS 13.10 at the end of this chapter.

Remarks 13.8. (a) For n = 3,4,5,..., constructing a regular n-gon is equivalent to constructing
an angle of measure 27”, which in turn is equivalent to constructing an isosceles triangle, with angle
between two sides of equal length measuring 2Z.

To believe these equivalences, we need a fact that we do not wish to prove: inside any regular
polygon is a unique point, called the center of the polygon, that is equidistant from each vertex.

The assertion of faith in the previous paragraph implies that any regular polygon may be in-
scribed (see DRAWINGS 13.11(a) at the end of this chapter) in a circle centered at the polygon’s
center with radius equal to that common distance from center to vertex. By drawing all lines from
center to vertices, we obtain n (the number of vertices of the polygon) congruent (by SAS) isosceles
triangles as described in the first line of this Remark.

Conversely, given n such congruent isosceles triangles, they may be pasted together to form a
regular n-gon. See DRAWINGS 13.11(a) at the end of this chapter.

For example, we could have drawn a square by drawing a circle, then a diameter of the circle,
then another diameter perpendicular to the first diameter (use Construction 13.4). The points where
the diameters hit the circle become the vertices of a square, drawn in red in DRAWINGS 13.11(b)
at the end of this chapter; notice that we have simultaneously drawn four congruent isosceles right

triangles; more precisely, we have angles of measure 3 = %T’T at the center, between sides of equal
length.
(b) For n = 3,4,5,..., angles of measure 27” appear elsewhere in a regular n-gon and suggest a

possible general method for constructing a regular n-gon.
Corollary 3.10 asserts that the sum of the measures of the interior angles in an n-gon is (n—2)m.

It then follows that each interior angle in a regular n-gon measures (("W;Q)> m, thus each exterior

w<<”‘2>)7r2”.

See DRAWINGS 13.11(c) at the end of this chapter, of each vertex in a regular n-gon.

angle (see Definitions 2.16) measures
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If angles of measure (@) 7 can be constructed (equivalent to angles of measure 27” being

constructible), then this suggests the following strategy for constructing a regular n-gon, with sides
of a specified length, call it c.

Begin with a line segment of length ¢, labeled Q1Q2 in DRAWINGS 13.11(d) at the end of this
chapter. At the point @2, draw a line segment of length ¢, call it Q2Q3, that makes an angle of
measure (@) 7 with the original line segment (01 Q2. Continue adding on line segments of length

c that make an angle of (@) 7 with the previous line segment, until your string of line segments

meets at Q1. See DRAWINGS 13.11(d) at the end of this chapter.

For this construction to work, we must verify that the n line segments constructed in the
previous paragraph will terminate at the original point @);. This is equivalent to the vectors between
consecutive vertices, as in Definitions 2.3, adding up to the zero vector 0. That is, in DRAWINGS
13.11(e) at the end of this chapter, we need

— = = — —
(So+51+52+-~-+5n_1) =0. (%

We will now find it very convenient to think of vectors as complex numbers, as in 1.16. From
. . . . 2mi 2
Theorem 2.13, for arbitrary complex z representing a vector, multiplying by e™»" rotates z by <
counterclockwise; that is, produces an exterior angle of measure 27”, as in DRAWINGS 13.11(f) at
the end of this chapter.

In DRAWINGS 13.11(e) at the end of this chapter, representing §0> by the complex (real) number

¢, we thus have
e d i o i o Q2mi —_ i
S = en ¢, S = 2% ¢, S3 = 3% CyoroySp_1 = e(m=1%

C’
so that (see (*) above and in DRAWINGS 13.11(e) at the end of this chapter), by HWL5,
27

(So+ 8148+ +8u1) = (c+ et et ot ot eDHe)
2mi 2\ 2 2\ 3 2qi\ (n—1) 1_(622i) 1 — 2™
:C<1+€" +(en>+(en) +(en) ):c P =C 2
1—(6 771”) 1—(6 ;”)
1-1
= C :07

proving (*), as needed for our construction.

For example, we could construct a square by careening around making right-angle turns; see
DRAWINGS 13.11(g) at the end of this chapter.

Since _ _ _
(c+ etice?Tic 4 e?’%zc) =(c+ci—c—ci)=0,

the line segments fit together to make a square.

Similar cancellations can be calculated directly for applying this construction to a regular
hexagon (n = 6) and a regular octagon (n = 8). For variety, and to avoid constructing the same
angle many times, we will use different constructions for the regular hexagon and octagon.

Finally, we should reiterate that the construction of a regular n-gon in Remarks 13.8(b) presup-
poses that the angle of measure 2% is constructible.
Construction 13.9. Draw a regular hexagon, with sides of a specified length.

Begin by drawing a circle whose radius is that specified length. Starting at any point on that
circle, use the compass, as in Construction 13.1, to construct a sequence of contiguous equilateral
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triangles sharing a vertex at the center of the circle, each with sides whose lengths are equal to the
specified length. See DRAWINGS 13.12 at the end of this chapter.

Notice that we have simultaneously shown that the angle of measure 7 = 2% is constructible;
see Remarks 13.8(a).

Construction 13.10. Draw a regular octagon.

As with Construction 13.9, begin with a circle. Draw a line segment thru a diameter of the
circle. Bisect angles (Construction 13.2) twice, to get a sequence of points on your circle; make
those points the vertices of your octagon. See DRAWINGS 13.13(a) at the end of this chapter.

To get a regular octagon with sides of a specified length, we need to specify the radius of the
circle that our regular octagon construction begins with.

Begin with a line segment of the specified length. By Constructions 13.2 and 13.4, we may
draw rays beginning at the endpoints of the original line segment, each making an angle of measure
%T” with said line segment. Use Construction 13.2 to bisect those %Tﬂ angles. Extend those lines
performing the last bisection until they intersect; each of those line segments just constructed will

have length equal to the desired radius. See DRAWINGS 13.13(b) at the end of this chapter.

Although it does not facilitate our construction, we can’t help mentioning that the Law of
Cosines implies that, if ¢ is the length of a side and r is the radius of the circle drawn to get our

octagon, then
1
r= 1+ — c.
((5)

See the second-to-last page of DRAWINGS 13.13(b) at the end of this chapter.

Construction 13.11. Draw an isosceles right triangle, with legs of a specified length.

If we had drawn a square, as in Construction 13.7, we could get the desired right triangle twice,
by drawing a diagonal of the square.

But if we don’t have a square at hand, here’s a simpler construction of the right triangle.

Use the compass to draw one leg, of the specified length. Use Construction 13.4 to draw a line
perpendicular to that leg, at one end of the leg; use the compass to make that perpendicular line
the specified length. That constructs both legs of the triangle; the hypotenuse follows inevitably
by connecting the two unshared endpoints of the legs. See DRAWINGS 13.14 at the end of this
chapter.

Construction 13.12. Draw a right triangle with interior angles measuring & and %, and shorter
leg of a specified length.

Begin by using the compass to draw an equilateral triangle whose sides have length equal to
twice the specified length. Use Construction 13.5 to draw a perpendicular line from a vertex to the
opposite side (or, keep the mark for the length of the original side, which will be half the length
of the side of the equilateral triangle). Either side of that perpendicular line will be the desired
triangle. See DRAWINGS 13.15 at the end of this chapter.

Construction 13.13. Given three points in the plane that are not on a line, draw the circle through
those points and draw the center of said circle.

Call the points Py, P, and P;. Use Construction 13.3 to draw the perpendicular bisector of the
line segment P P», call it ¢, then the perpendicular bisector of the line segment P Ps, call it /5.
Let C be the intersection of ¢; and ¢5. C is equidistant from Pj, P, and Ps, thus, by setting our
compass at the distance from C' to P;, we may draw a circle of that radius centered at C, that will
go through P, P», and Ps.

See DRAWINGS 13.16 at the end of this chapter.
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REASONS WHY THE CONSTRUCTIONS WORK

Construction 13.1. By Theorem 7.10 or HWVIL5, it is sufficient to draw a triangle whose sides
are of equal length; the equality of the measures of the interior angles follows automatically.

Constructions 13.2—5. Proposition 11.5.

Construction 13.6. In the second page of DRAWINGS 13.9 at the end of this chapter, denote by
/1 the line perpendicular to both ¢’ and ¢. By Corollary 5.3, with fo = 1,43 = ', 44 = £, it follows
that ¢’ is parallel to £.

Construction 13.7. See the second page of DRAWINGS 13.10 at the end of this chapter By
Corollary 5.3, with ¢ = ¢, = PQ ly = RP ly = SQ, or Proposition 4.18, we have RP and SQ

parallel. By Proposition 3.5, RSQP is a parallelogram; by Proposition 3.3, ||RSH = HPQH By
Corollary 5.3 again, the interior angles at R and S are right angles.

Construction 13.9. As with Construction 13.1, the triangles we constructed with sides of equal
specified lengths also have equal measures, namely 5. Since 27 = 6(% ), we may paste together six of
those congruent equilateral triangles to form the desired hexagon, as in the last page of DRAWINGS
13.12 at the end of this chapter.

Construction 13.10. Now we have eight congruent (by SAS) isosceles triangles, each with an
angle of measure 7 between sides of equal length. Since 8(F) = 27, we may paste those triangles
together to form a regular octagon, as in the last page of DRAWINGS 13.13(a) at the end of this
chapter.

Construction 13.11. This is prior constructions.

Construction 13.12. Prior constructions take us to the top of the last page of DRAWINGS

13.15 at the end of this chapter. The orthogonality of S—Q), in the last drawing of the last page of
DRAWINGS 13.15 at the end of this chapter follows from Theorem 5.10.

Construction 13.13. Construction 13.3, especially the last page of DRAWINGS 13.6 at the end
of this chapter, tell us how to draw ¢; and ¢5. The Pythagorean theorem tells us that every point on
¢y is equidistant from P; and P, while every point on {5 is equidistant from P; and P;. Thus the
point C is equidistant from P, P,, and P, so that a circle centered at C' goes through those three
points.
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HOMEWORK
In all problems, “construct” means “construct with straight edge and compass.” Assume, for
all problems, that we are given a line segment of length one.
HWXIII.1. Construct a line segment of length v/2.

HWXIII.2. Construct an arc of length 7.

HWXIII.3. Construct a line segment of length @
HWXIII.4. Construct a trapezoid of area 2.5.
HWXIIIL.5. Construct a triangle of area %
HWXIII.6. Construct a right triangle of area 4.5.
HWXIIL.7. Construct a sector of a disc of area .
HWXIII.8. Construct a disc of area 9.

HWXIIIL.9. We have already mentioned that a polygon is constructible if it can be constructed.
Similarly, a length is called constructible if a line segment of that length can be constructed; an
angle measure is called constructible if an angle of that measure can be constructed.

Throughout this problem, you may assume the following without proof:
The sum of two constructible lengths or measures is constructible;
The positive difference of two constructible lengths or measures is constructible;
The product of two constructible lengths or measures is constructible;
The quotient of two constructible lengths or measures is constructible;
The square root of a constructible length or measure is constructible.
A regular septagon (seven-sided regular polygon) is not constructible.

Use these facts, Remarks 13.8(a), and Constructions 13.1-7 and 13.9-13 to answer the following.
Assume we are given a line segment of length one.

(a) Show that an angle of positive measure § < § is constructible if and only if a line segment of
length cos 6 is constructible.

(b) Find a positive § < 7 such that an angle of measure ¢ is not constructible.

(c) Find a positive s for which a line segment of length s is not constructible.
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HOMEWORK ANSWERS

Throughout, we use Constructions 13.1 through 13.13.
HWXIII.1. See DRAWINGS 13.17 at the end of this chapter.
HWXIIIL.2. See DRAWINGS 13.18 at the end of this chapter.
HWXIII.3. See DRAWINGS 13.19 at the end of this chapter.
HWXIII.4. See DRAWINGS 13.20 at the end of this chapter.
HWXIIIL.5. See DRAWINGS 13.21 at the end of this chapter.
HWXIIIL.6. See DRAWINGS 13.22 at the end of this chapter.
HWXIII.7. See DRAWINGS 13.23 at the end of this chapter.
HWXIII.8. See DRAWINGS 13.24 at the end of this chapter.
HWXIIIL.9.

(a) See DRAWINGS 13.25 at the end of this chapter.

(b) & = 2% is not constructible, by Remarks 13.8(a) and the fact that a regular septagon is not

constructible.
on
7

(c) s = cos(%F) is not a constructible length, by (a) and (b).



o e

D
o

DRAWINGS (3.1

DRAWINGS 13.2

e

De

oe
o9

327




32%

DRAWINGS 13.3

Ty




329
DRAWINGS 13.4

Guven: ¢ =lIPQIl specified

¢ ¢ > (compass
5 o > 3 se{:tfa
P Q ¢ %Q C = IIP_Z';?)
AR
£ N
Xl ) (lootk Ares have cadius
4 5 ¢ =[P3l:
/ N PRI = PRI = QRN =)
A »: AW
P Q
~
—




330

DRAWINGS 3.5
Given:
\.,/
p
— R (WPQIl = IPRIl)
P
— (IQ51 = |RBU,
mégkt nat‘ecbua( { Pé“)
S
—_ S_?) : o
Q R (be.twgesnejc%é m\n %ﬁ)




33
DRAWINGS (3.6

Given: o .

Re N (PRI = 11QR;

d b lP3Su = 11Q5I,
; s P.\% 7Q Mmight not e«bua( l“?“)
\ \ /
\ /
W
S
R
(ﬁ% is {ke_L bisector
SO of PR
P R PRN=UTRN, PTLTR)




332

Given:

DRAWINGS 13.7
(special case of DRAWINGS 13.5)

%
e B 1QPIl =11 PR)
/X‘\S Compass setting
/% V\ SamQPEor two arcs:
y N 13N =IIR3Il
%
Q31 = 1IR3,
IQPY = PR

——?)CS_l_‘bO Q—ﬁ




333

DRAWINGS 3.9

o P
Given: Y
LN
SR
B _cok #R 1
P
. (/\/\/RL
A X
\\ /
X
P
— Q R {

Sam_e_ compass
sett tnayon both
AreS :

ISP =1IPR)

Sa,nu c,ompass
settina on lxitlr\ 2
arcs_passing through S:
|lc7§’i7=lls n;
||Q§H miaht not
ecbual HRPI

‘5§ is L +o X
and WQTI =Rl :

[5_§ (s _L bisector
of OB




334
DRAWINGS 13.9

o P

Given:
J 4

— ... (Construction 13.5, DRAWINGS I3-8)

TP

o

— .., (Construction 13.4, DRAWINGS 13.7)




335

DRAWINGS 13.10
Given’ p® ‘a
—_ ?o } Q (cOmPasS sctténgl/@“)
—,..(Construc-
tion I3,
DRAWING
13.1)
—
20 1
—> (using
c ¥ o
compdss T
of I PG|
 « B 41
R'J" o s
— RSQP s
b ,r @ square
-
%




336

DRAWINGS [3.11(a)

V\




337

b)
A1¢
G5 13

IN

W

RA

D

d.
e
wn.r
n

W

Qa

de

LS

e L

a

q u

>4




33%

DRAWINGS 13.11 (c)
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DRAWINGS 13.11(f)
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DRAWINGS 13.13 (b) (continued)
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CHAPTER XIV: More Geometry and Trigonometry Problems.

Examples 14.1-14.18 will be preceded by a listing of relevant geometry and trigonometry results,
with their original numbering, and will be followed by solutions.

Corollary 2.14. (b) Suppose d@ and gpoint in opposite directions. Then 7 equals the measure
of both the clockwise and counterclockwise angles from @ to b. See DRAWINGS 2.17 at the end of
Chapter II.

Proposition 2.19. Consider an arc and sector as in Definitions 2.18.

(a) The measure of the angle between the two lines in the boundary of the sector is (6 — 67).
(b) The length of the arc is R(f2 — 61).

(c) The perimeter of the sector is 2R + R(f2 — 61).

Proposition 3.3. In a parallelogram, opposite sides have equal length.

Proposition 3.6. Suppose ¢1,/5, and 3 are lines, with ¢; and ¢y parallel, /3 intersecting both ¢,
and {2 and angles of measure 6,7 = 1,2,...,8 as drawn in DRAWING 3.4 at the end of Chapter
I11.

Then 61 + 05 = 7,01 = 03 = 05 = 07, and 0y = 04 = 05 = 5.

Proposition 3.8. In a parallelogram, opposite interior angles are of equal measure and the measures
of adjacent interior angles add up to .

Corollary 3.10. For n = 3,4,5,..., the sum of the measures of the interior angles in an n-gon is
(n —2)7.

Proposition 3.13. The diagonals of a parallelogram bisect each other.

HWIII.2. Prove that, in the drawing of a diagonal of a parallelogram in DRAWING 3.21 (see end
of Chapter III), 6; = 0, and 63 = 05.

Proposition 4.15. Suppose d and b are two nontrivial vectors. Then the following are equivalent.
(a) @ and b are orthogonal.

(b) (Pythagorean theorem) ||@ + b||2 = ||@||? + ||b]|2.
(c) ||@+ sb|| > ||@| for all real s.
(

d) The measure of the angle between @ and b is 5

Corollary 5.3. Suppose ¢1,/05,03,¢, are lines, ¢; and ¢y are parallel, and both ¢35 and ¢, are
perpendicular to 3 (see DRAWING 5.4(a) at the end of Chapter V). Then both ¢3 and ¢4 are
perpendicular to £, /3 is parallel to {4, the line segments from #; to /5 are of equal length, and the
line segments from ¢3 to ¢4 are of equal length. See DRAWING 5.4(b) at the end of Chapter V.

Proposition 5.5. In any parallelogram, the diagonals are perpendicular if and only if the parallel-
ogram is a rhombus.

Proposition 5.6. In a parallelogram, the diagonals are of equal length if and only if the parallelo-
gram is a rectangle.
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Proposition 5.7. In a parallelogram, the sum of the squares of the lengths of the sides equals the
sum of the squares of the lengths of the diagonals.

Some Properties 6.3. From staring at the picture of (cos,sin @) in DRAWING 6.1 at the end of
Chapter VI and using the symmetry of the unit circle, the following properties seem believable, for
any real 6 (see DRAWING 6.3 at the end of Chapter VI). Euler’s formula provides straightforward
proofs.

(i) cos(—0) = cos 8.

(ii) sin(—6) = —sin 6.

(iil) cos(f 4+ w) = — cosb.

(iv) sin(f + 7) = —sin .

(v) (cosf)® + (sinf)? = 1.

(vi) |sinf| <1 and |cosf] < 1.

(vii) cos(§ +0) = —sinf = —cos(§ —6) and sin(§ +0) = cosf = sin(5 —0).
(

viii) cos(0 + 2km) = cosf, sin(@+ 2kw) = siné, for any real 6, integer k (this is called periodicity
of sine and cosine).

Proposition 6.4. Let 0,1 be arbitrary real numbers.

(i) cos(f + ¢) = cos O cos ) — sin O sinp.
(ii) sin(f 4 ¢) = sin O cos ) + sinp cos 6.
(iii) (cos ) (cos ) = 3(cos(0 + 1) + cos(f — 1)).
(iv) (sin@)(siny)) = 1(cos(d — ¢) — cos(0 + 1)).
(v) (sin@)(costp) = L(sin(f + 1) + sin(6 — ¥)).
(vi) (cos6)? = 3(1 + cos(26)).
(vii) (sin6)? = 1(1 — cos(20)).
(viii) cos6 = £ (e® + =),
(ix) sin@ = L (" — =),
Theorem 7.1: Law of Cosines. If a,b,c are the lengths of the sides of a triangle and 6 is the
angle measure opposite the side of length ¢, then
& =a® +b* — 2abcosb.
See DRAWING 7.1 at the end of Chapter VII.

Theorem 7.5. For any right triangle, denote by ¢ the length of the hypotenuse, by a and b the
lengths of the legs, and by 6 the measure of the angle between the hypotenuse and the side of length
a.

Then

cos = — (“adjacent over hypotenuse”)  sinf = — (“opposite over hypotenuse”)

ole

b
C

and

b
tanf = — (“opposite over adjacent”).
a

See DRAWING 7.5 at the end of Chapter VII.
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Theorem 7.7: Law of Sines. If a triangle has sides of length ¢, g, c3, and, for j = 1,2,3,0; is
the measure of the angle opposite the side of length c;, then
C1 (6] C3

sin 0 ~ sin 0, ~ sin 03
Theorem 7.10. Let P, @, R be the three vertices of a triangle (see DRAWINGS 7.10 at the end of
Chapter VII). Then the following are equivalent.
— —

(a) PR = [[QR]|.

— —
b) The orthogonal projection of the vertex R onto the opposite side PQ) is the midpoint of PQ).
(c) The measure of the interior angle at P equals the measure of the interior angle at Q.

(d) The line segment between R and its orthogonal projection onto P—Q) bisects the interior angle at
R.

Examples 7.11(e)

Theorem 7.14. Given any pair of points () and R on a circle, the central angle formed by them
measures twice the measure of the inscribed angle formed by them with a third point P on the circle;
that is, 6 = 2¢, in DRAWING 7.14 at the end of Chapter VII.

Theorem 7.15. Suppose the circles in DRAWINGS 7.19 and 7.20 at the end of Chapter VII are
both of radius r.

(a) In DRAWING 7.19, 0 = (¢ + ¢).

(b) In DRAWING 7.20, 6 = (¢ — ¥).

Proposition 8.5. If two triangles are similar, then ratios of corresponding lengths of sides are

equal. That is, suppose T; and T, are triangles and f is a composition of (a)—(d) in Definitions 8.1,
with Ty = f(T}). Further suppose that S; and Ss are two sides of T}. Then

IS:ll _ 1Sl
1Sl ~ 1Sl

Proposition 9.6. If [ is a point and @ and b are vectors, then the area of the triangle with vertices
LT+a1+0bis |det [a 5} .

Theorem 10.1. Suppose 77 and 75 are triangles, 77 has sides 51,52, and Ss3, T has sides Sy, S5,
and Sg, and, for j = 1,2,3,4,5,6, 0; is the measure of the angle opposite S;. See DRAWING 10.1
at the end of Chapter X.

(a) Any one of the following conditions (SAS, SSS, AAS) implies that 77 and T» are congruent.
SAS. ||S1]| = [|Sall, [|S2]| = |S5]| and 63 = 6s. See DRAWING 10.2 at the end of Chapter X.
Informally, agreement on two sides and the angle between the two sides implies congruence.

SSS. ||S1]| = IS4l [IS2ll = IS5, and [|S5]| = ||Ss]|- See DRAWING 10.3 at the end of Chapter X.



370

Informally, agreement on all sides implies congruence.
AAS. ||Si|| = [|S4]|, 01 = b4, and 03 = 5. See DRAWING 10.4 at the end of Chapter X.
Informally, agreement on two angles and a side implies congruence.

(b) AAA or AA. 0; = 04,0, = 05, and 03 = g (the last equality follows automatically from the
first two, by Proposition 3.8) implies that T} and T% are similar. See DRAWING 10.5 at the end of
Chapter X.

Informally, agreement of all angles implies similarity.

Proposition 11.4. A diagonal in a parallelogram bisects opposite interior angles if and only if the
parallelogram is a rhombus (Definitions 5.4).

Proposition 12.1. The area of either triangle formed by drawing a diagonal in a parallelogram, as
in DRAWING 12.1 at the end of Chapter XII, is half the area of the parallelogram.

Theorem 12.3. The area of a trapezoid equals the height times the average of the lengths of the
two parallel sides; that is,

1
—h(b b
) (1+ 2)7

where h is the distance between the parallel sides of lengths by and by, as in DRAWING 12.2 at the
end of Chapter XII.

Theorem 12.4. If 0 < ¢ < 27 and a closed sector of a disc of radius R is determined by an arc of
length R, then the sector has area %RZ’L/). See DRAWING 12.8 at the end of Chapter XII.

Theorem 12.8. As in Definitions 12.7, H > 0,r > 0, and 2 is a subset of R2.
a) The volume of the cylinder of height H and radius r is 7r2H.
b) The volume of the generalized cylinder of height H and base 2 is (area of Q)H.

d) The volume of the generalized cone of height H and base € is £ (area of Q)H.

e) The volume of a ball of radius 7 is 2773,

(

(

(¢) The volume of the cone of height H and radius r is Zr*H.
(

( 3
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PROBLEMS

Make decimal approximations with a calculator when necessary to avoid trig or inverse trig
functions in your answer.

Examples 14.1. In each of the circles in DRAWINGS 14.1 at the end of this chapter, find the
measure of the angle 6. C will always be the center of the circle.

Examples 14.2. Get exact expressions (no calculator or other decimal expansions) for the following.

(a) sin(%).

(b) sin(3).
(c) cos(—7%).

Example 14.3. Find interior angles, where possible, in DRAWINGS 14.2 at the end of this chapter.
Do not assume the sides AE and BD are parallel.

Example 14.4. SAME as in Example 14.3, except assume AE and BD are parallel.

Example 14.5. Find z in DRAWING 14.3 at the end of this chapter. The quadrilateral is a
parallelogram.

Examples 14.6. Find the volumes of each of the following.
(a) A cylinder whose base has radius 10, height is 6.
(b) A cone whose base has radius 10, height is 6.

(¢) A pyramid with a square base (as in Egypt) whose side lengths are 700 feet and height is 600
feet.

(d) A generalized cylinder whose base has area 100 meters squared, with a height of 20 meters.
(e) A ball of radius 18 inches.

Example 14.7. Get the area of a disc whose circumference is 127.

Example 14.8. Suppose all the interior angles of a six-sided polygon (called a hezagon) have equal
measure. Find the measure of each interior angle.

Example 14.9. Find x in DRAWING 14.4 at the end of this chapter.

Example 14.10. In DRAWING 14.5 at the end of this chapter, C is the center of a circle and ¢ is
a tangent to the circle at P. Get the radius of the circle.

Example 14.11. In DRAWING 14.6 at the end of this chapter, ¢; and ¢y are parallel. Find all
angle measures in DRAWING 14.6.

Examples 14.12. In each of the following drawings of parallelograms, fill in lengths of sides and
measures of angles where possible.

a) DRAWING 14.7 at the end of this chapter.

b) DRAWING 14.8 at the end of this chapter.

(

(

(c) DRAWING 14.9 at the end of this chapter.
(d) DRAWING 14.10 at the end of this chapter.
(

e) DRAWING 14.11 at the end of this chapter.
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(f) DRAWING 14.12 at the end of this chapter.
(¢) DRAWING 14.13 at the end of this chapter.
(h) DRAWING 14.14 at the end of this chapter.
(i) DRAWING 14.15 at the end of this chapter.
(j) DRAWING 14.16 at the end of this chapter.
Example 14.13. When I am five feet away from a ten-foot tall lamppost, my shadow extends

four feet further away from the lamppost. How tall am I? Assume I and the lamppost are both
perpendicular to the ground.

Example 14.14. In DRAWING 14.17 at the end of this chapter, the two horizontal lines are
parallel. Find z in DRAWING 14.17.

Examples 14.15. In each of the following, get the area and perimeter. Any curve that is not a
line is an arc of a circle. Any point that appears to be the center of a circle is the center of a circle.

(a) DRAWING 14.18 at the end of this chapter.

(b) DRAWING 14.19 at the end of this chapter.

(¢) DRAWING 14.20 (parallelogram) at the end of this chapter.
(d) DRAWING 14.21 (trapezoid) at the end of this chapter.
Examples 14.16. Fill in lengths of sides and measures of angles, where possible.
(a) DRAWING 14.22 at the end of this chapter.

(b) DRAWING 14.23 at the end of this chapter.

(c) DRAWING 14.24 at the end of this chapter.

(d) DRAWING 14.25 at the end of this chapter.

(e) DRAWING 14.26 at the end of this chapter.

(f) DRAWING 14.27 at the end of this chapter.

(¢) DRAWING 14.28 at the end of this chapter.

(h) DRAWING 14.29 at the end of this chapter.

Examples 14.17. In DRAWING 14.30 at the end of this chapter, get cos 6, sin 0, tan 6, cos(20), sin(26), cos(%Q), sin(%t
and a decimal approximation of 6. Also get the area and perimeter of the triangle.

Example 14.18. Fill in lengths of sides and measures of angles, where possible, in DRAWING
14.31 at the end of this chapter, where the lines ¢; and ¢y are parallel.

Example 14.19. In DRAWING 14.66 at the end of this chapter, prove that (a)-(e) below are
equivalent.

IDE| _ |DC]
(a) A==l — A=l
IDA| — DB
—_ i
(by UDEL _ 1DC|
IEAI — ICB|

(¢c) The triangles DEC and DAB are similar.



373

(d) EC is parallel to AB.

(e) LECI _ IDE| _ IDCI,
IABI DAl DB
Note that HWIIIL.4 is a special case of (a) — [(d) and (e)], with % =1= %.

We recommend the vector methods of Chapter III, as in HWIIIL.4, for (a) — [(d) and (e)].
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SOLUTIONS

Examples 14.1. (a) This is 2.19. % = 3?” radians.
(b) This is 7.14. & (2%) = 3% radians.
(c) This is 7.15(a).

(6”+2”) = 27 radians.
(d) This is 7.15(b).

— 5
(%) = ¢ radians.
Examples 14.2. This is 7.11(e), 6.3 and 6.4. See DRAWINGS 14.32 at the end of this chapter.
(a) sin(3%) =sin(F + £) = sin(%) cos(%) + sin(F) cos(%) = (%) (@) +(3) (%)

OR we could calculate

n(2) = /20 —cos Ty = [T+ eos(Dy =y S0+ LD

— L) =sin(2Z) = ... SAME answer as (a).

Example 14.3. This is 2.14 and 3.10. Let 6 be the measure of the angle CDB. Then the measure

of AED is (m— (34 %)) = 75, the measure at EDB is (7 — ), the measure of DBC is (1 — (0 + %)) =

(3F — 6), and the measure at DBA is (7 — (3F — 0)) = (¥ + 0) See DRAWINGS 14.33 at the end of
this chapter.

Example 14.4. This is 2.14 and 3.10, as in Example 14.3, and, in addition, 3 6, which forces 6, from

Example 14.3 and DRAWING 14.33, to be Zg, so that, replacing 6 Wlth 5 throughout Example

14.3, we get DRAWING 14.34 at the end of this chapter.

Example 14.5. This is Propositions 3.3, 3.13, and 5.7. See DRAWING 14.35 at the end of this
chapter, then calculate

1
32462432462 =(20)2 48 -z = éi

Examples 14.6. This is Theorem 12.8.

(a) (7102)6 = 6007

(b) £(6007) = 2007

(c) £(700 feet)?(600 feet) = 98,000, 000 feet cubed.
(d) (100m?)(20m) = 2,000 meters cubed.

(e) 3m(18 inches)® = 7,776 inches cubed.

Example 14.7. This is 2.19 and 12.4. Let r be the radius of the disc. Since 27r = 127, r = 6, thus

the area is 3(62)(27) = 36m.

Example 14.8. This is 3.10, with n = 6. The sum of the measures of the interior angles is

(6 — 2)m = 4, so the measure of each angle is 4* radians, or (4%)(18%) = 120 degrees.

Example 14.9. By 3.10, 7 = x + 2z + 3z = 6z, s0 © = F.

Example 14.10. By 4.15 and the definition of a tangent line,
(84712 =r>+12> 564+ 16r +r° =r>+ 144 — r =5.
See DRAWING 14.36 at the end of this chapter.
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Example 14.11. This is 2.14 and 3.6. See DRAWING 14.37 at the end of this chapter for the
solution.

Examples 14.12. (a) This is 3.3 and 3.8. See DRAWING 14.38 at the end of this chapter for the
solution.

(b) This is 3.3, 4.15 or 5.7, 5.5, 7.5, and 7.11(e). See DRAWING 14.39 at the end of this chapter
for the solution.

(¢c) Same solution as (b).

(d) This is 3.3, 3.13, 4.15, 5.5, 5.6 and 7.10. See DRAWING 14.40 at the end of this chapter for the
solution.

(e) This is 3.3 and 5.5. See DRAWING 14.41 at the end of this chapter for the solution.

(f) This is 3.3, 3.13, 4.15, and 5.6. See DRAWING 14.42 at the end of this chapter for the solution.
Notice that we have a rectangle, composed of two right triangles, each with hypotenuse 6 and leg 5,

hence the other leg is v/62 — 52 = /11.
(g) This is 3.3 and HWIIIL.2 or 3.6. See DRAWING 14.43 at <ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>